07+25								 			 PR	¢ IL	RTE 336		 110 - RIE 136 - US f 140 - RTE 336 - IL F 67 - US 950 - RTE
- A 5(·		IL RTE 336 SB		
- S						 510+00	I	 			 - — — — — — — 		515+00		
H LINE	===== 	=====	=====	======	=====			 	====	==== 	 		IL RTE 336 NE	====== }	 =========
MATCH								 			 				

PAVEMENT MARKING LEGEND

- MODIFIED URETHANE PM LETTERS AND SYMBOLS (SOLID WHITE)
 MODIFIED URETHANE PM LINE 4" (SOLID YELLOW)
 MODIFIED URETHANE PM LINE 4" (SOLID WHITE)
 MODIFIED URETHANE PM LINE 4" (30' SKIP-10' DASH, YELLOW)
 MODIFIED URETHANE PM LINE 8" (9' SKIP-3' DASH, WHITE)
 MODIFIED URETHANE PM LINE 6" (30' SKIP-10' DASH, WHITE)
 MODIFIED URETHANE PM LINE 6" (30' SKIP-10' DASH, WHITE)
 MODIFIED URETHANE PM LINE 6" (30' SKIP-10' DASH, WHITE)
 MODIFIED URETHANE PM LINE 6" (SOLID WHITE)
 MODIFIED URETHANE PM LINE 12" (SOLID WHITE)
 MODIFIED URETHANE PM LINE 12" (SOLID WHITE)
 MODIFIED URETHANE PM LINE 12" (SOLID WHITE)
 MODIFIED URETHANE PM LINE 24" (SOLID WHITE)
 MODIFIED URETHANE PM LINE 24" (SOLID WHITE)
 RAISED REFLECTIVE PM (ONE-WAY CRYSTAL)
 RAISED REFLECTIVE PM (ONE-WAY AMBER)
- RAISED REFLECTIVE PM (TWO-WAY AMBER)
 PRISMATIC CURB REFLECTOR (ONE-WAY CRYSTAL)
 PRISMATIC CURB REFLECTOR (ONE-WAY AMBER)
 MODIFIED URETHANE PM LINE 4" (DOUBLE YELLOW)
 GROOVING FOR RECESSED PAVEMENT MARKING 5"
 GROOVING FOR RECESSED PAVEMENT MARKING 7"
 RAISED REFLECTIVE PM BRIDGE (ONE-WAY AMBER)
 RAISED REFLECTIVE PM BRIDGE (TWO-WAY AMBER)
 DELINEATORS (SEE HWY STD 635001 FOR PLACEMENT)
 MODIFIED URETHANE PM LINE 8" (6' SKIP-2' DASH,

WHITE)

														/ PF	¢IL	RTE 336	ò						
521+50								 			 			 				 				 	
- STA	==	====		===	===	====	===		===		 ===== 525+00	====				==== بر		 	 j 530+0	0			
LINE			: = = : :	=== 	=== 		:=== - :===	=== 	:=== :===	;	 	 	==== 	 		===== 		 		==== 	IL_RTE	===== 336 N	= = : B = : :
MATCH														STA. EXISTING SIG	ESSWAY NDS 528+00 GNS TO RE PLACE	MAIN				Wes	tern IIIi niversi NEXT EXI 336-BS-03	inois ty T	

USER NAME = Lin21 PLOT SCALE = 1:100	DESIGNED - RC DRAWN - RC CHECKED - ST	REVISED - REVISED - REVISED -	STATE OF ILLINOIS DEPARTMENT OF TRANSPORTATION		FAP 407 (IL 336/I PAVEMENT MARKING AND
PLOT DATE = 1/22/2015	DATE - 1/2015	REVISED -		SCALE: 1''=50'	SHEET NO. 3 OF 25 SHEETS







'LE NAME = v1006\Plan Shev











FILE NAME =













USER NAME = Lin21	DESIGNED - RC	REVISED -			EAD 407 (11 336
	DRAWN - RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION		PAVEMENT MARKING AND
PLOT DATE = 1/22/2015	DATE - 1/2015	REVISED -		SCALE: 1''=50'	SHEET NO. 16 OF 25 SHEETS



LE NAME = \1006\Plan Shee



USER NAME = Lin21	DESIGNED - RC	REVISED -			RAMP K & US RO
	DRAWN - RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION		PAVEMENT MARKING AND
PLOT DATE = 1/22/2015	DATE - 1/2015	REVISED -		SCALE: 1''=50'	SHEET NO. 18 OF 25 SHEETS



USER NAME = Lin21	DESIGNED - RC DRAWN - RC	REVISED - REVISED -	STATE OF ILLINOIS	_	950 E (EMOR
PLOT SCALE = 1:100	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION	F	PAVEMENT MARKING AN
PLOT DATE = 1/22/2015	DATE - 1/2015	REVISED -		SCALE: 1"=50"	SHEET NO. 19 OF 25 SHEETS



E	R RD)		F.A.P. RTE.	SECTION	COUNTY	TOTAL SHEETS	SHEET NO.
n		ANG	407	55[3(PV,HB(2-6);B,B-1,B-2)]	MCDONOUGH	874	318
	SIGNING FL	ANJ			CONTRACT I	VO. 68E	44
	STA.	TO STA.	FED. RO	AD DIST. NO. 4 ILLINOIS			



.E NAME = 1006\Plan Sheets\D4







PAVEMENT MARKING LEGEND

- (1) MODIFIED URETHANE PM LETTERS AND SYMBOLS (SOLID WHITE)
- (2) MODIFIED URETHANE PM LINE 4" (SOLID YELLOW)
- (3) MODIFIED URETHANE PM LINE 4" (SOLID WHITE)
- (4) MODIFIED URETHANE PM LINE 4" (30' SKIP-10' DASH, YELLOW)
- (5) MODIFIED URETHANE PM LINE 8" (9' SKIP-3' DASH, WHITE)
- (6) MODIFIED URETHANE PM LINE 6" (30' SKIP-10' DASH, WHITE)
- (7) MODIFIED URETHANE PM LINE 8" (SOLID WHITE)
- 8 MODIFIED URETHANE PM LINE 12" (SOLID YELLOW)
- (9) MODIFIED URETHANE PM LINE 12" (SOLID WHITE)
- (1) MODIFIED URETHANE PM LINE 24" (SOLID WHITE)
- (1) RAISED REFLECTIVE PM (ONE-WAY CRYSTAL)
- (12) RAISED REFLECTIVE PM (ONE-WAY AMBER)

- (3) RAISED REFLECTIVE PM (TWO-WAY AMBER)
 (4) PRISMATIC CURB REFLECTOR (ONE-WAY CRYST<u>AL)</u>
- (5) PRISMATIC CURB REFLECTOR (ONE-WAY AMBER)
- (16) MODIFIED URETHANE PM LINE 4" (DOUBLE YELLOW)
- $(\overline{17})$ grooving for recessed pavement marking 5"
- (18) GROOVING FOR RECESSED PAVEMENT MARKING 7"
- (19) RAISED REFLECTIVE PM BRIDGE (ONE-WAY AMBER)
- () RAISED REFLECTIVE PM BRIDGE (TWO-WAY AMBER)
- (21) DELINEATORS (SEE HWY STD 635001 FOR PLACEMENT)
- 2 MODIFIED URETHANE PM LINE 8" (6' SKIP-2' DASH,
 - WHITE)

USER NAME = Lin21	DESIGNED - RC DRAWN - RC		REVISED - REVISED -	STATE OF ILLINOIS		FAP ROUTE 3
PLOT SCALE = 1:100	CHECKED - ST		REVISED -	DEPARTMENT OF TRANSPORTATION		PAVEMENT MARKING A
PLOT DATE = 1/22/2015	DATE - 1/20	015	REVISED -		SCALE: 1"=50'	SHEET NO. 24 OF 25 SHEET





EX	т 20,,		11 1	inois 102		illin 11				inois 36		3′- ILLIN 33	9" 1015 36	6	7	6	0″ 7 , ⁰⁰ , m
E5	-1		M1-	-1100		M1-I	100		M1-	-1100		M1-I	100	M1	-4	M1	- 4
NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION
336-WP-06	550+03	67-WP-42	457+15	136-WP-12	500+72	336-WP-42	579+30	67-WP-27	446+75	136-WP-05	521+41	336-WP-09	579+30	67-WP-20	442+85	336-WP-28	825+00
RL-WP-04	56+65	67-WP-54	446+75	136-WP-16	521+41	336-WP-46	869+72	67-WP-30	450+75	136-WP-08	523+99	336-WP-38	869+72	67-WP-40	457+15	RDC-WP-11	214+00
RDC-WP-04	206+65	67-WP-57	450+75	136-WP-20	523+99	RDC-WP-13	214+00	67-WP-34	454+29							RDC-WP-16	216+00
		67-WP-61	454+29	136-WP-24	526+26	RDC-WP-19	216+00	67-WP-37	455+84							RDC-WP-22	216+00
		67-WP-70	459+12				213103	67-WP-50	455+12							RDC-WP-36	219+09
		67-WP-74	461+11					136-WP-02	500+72								213103
M1-	9" 6 °°. m						2777				0// ST			SO M			•" ST
			CTATION						CTATION				CTATION				
NAME	190+27	NAME 67-WP-26	446+75	336-WP-01	490+27	67-WP-39	457+15	NAME 336-WP-08	579+30		STATION 69±10	67-WP-19	242+85	NAME 336-WP-37	869+72	RI -WP-17	69+10
336-WP-16	622+40	67-WP-49	461+11	336-WP-15	622+40	136-WP-01	500+72	RDC-WP-15	216+00	RL-WP-32	72+00	67-WP-29	450+75	RDC-WP-21	216+00	RL-WP-29	72+00
RL-WP-16	67+00			336-WP-27	825+00	136-WP-04	521+41	RDC-WP-29	219+09			67-WP-33	454+29	RDC-WP-35	219+09		
RL-WP-18	69+10			RL-WP-15	67+00	136-WP-07	523+99					67-WP-36	455+84				
RL-WP-21	69+10			RDC-WP-10	214+00							67-WP-45	459+12				
RL-WP-30	72+00																
	3" """""""""""""""""""""""""""""""""""		5″ • • • • • •		9‴ • •	2'	5°		9″ "°C-, I	2'-	-6" ,6 , ,6 ,1		9″	2'	-6″	ST	OP ³⁹⁻⁷
M5-	-1L	M5-	-1L	M5	-1R	M5	-1R	M6	-1L	M6	-1L	M6	-1R	ME	5-1R	R	1-1
NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION
ត្ 67-₩P-31	450+75	RL-WP-19	69+10	136-WP-03	500+72	RL-WP-22	69+10	67-WP-35	454+29	RL-WP-31	72+00	67-WP-38	455+84	RL-WP-34	72+00	67-WP-52	461+28
67-WP-59	450+75	RDC-WP-17	216+00	136-WP-14	500+72	RDC-WP-23	216+00	67-WP-63	454+29	RDC-WP-31	219+09	67-WP-68	455+84	RDC-WP-37	219+09	140-WP-01	10+50
136-WP-10	526+26	RDC-WP-20	216+00	67-WP-72	459+12 750±10			136-WP-09	523+99	RUC-WP-34	219+09	136-WP-06	521+41			CZU-WP-U2 FRT-WP-01	10977_00
100-ML-70	974976			01-WF-12	409+12			130-WF-22	252+33			130-WF-18	521+41			110-WP-02	6006+50
046841																110-WP-04	6007+86
E:\1006.V1an Sheersat	USER PLOT PLOT	NAME = Lin21 SCALE = 1:6.19084 DATE = 1/22/2015	DESIGNE DRAWN CHECKEE DATE	D - RC - RC - ST - 1/2015	REVISED - REVISED - REVISED - REVISED -		DEPA	STATE OF I	LLINOIS ANSPORTATI	ON SCAL	LE: NONE SHE	SIGNING SIGNING ET NO. 1 OF 16 SHEE	DETAILS PLANS ITS STA.	TO STA.	F.A.P RTE. 407 55[3(PV,HB(CCTION COU 2-6);B,B-1,B-2)] MCDOI CONTE 4 ILLINOIS	NTY TOTAL SHEET SHEETS NO. NOUGH 874 324 ACT NO. 68B44

STO		ST(SPE LIM 5	ED		3/-0/		30/		-0" -0" -0" -0" -0" -0" -0" -0"		0″ 2'-0',	DO ENT	0" NOT :0-: m	d'-(Do I Ent	NOT
R1-1	1	R1-	1	R2-	- 1	R3	- 1	R3-	-2	R4-	- 7	R4-	7	R5	-1	R5	-1
NAME 67-WP-03 67-WP-06 67-WP-10 67-WP-12 RDC-WP-41 RDC-WP-45	STATION 434+17 434+56 435+00 435+31 219+75 219+95	NAME RL-WP-38 RL-WP-42	STATION 73+00 73+18	NAME 336-WP-12 336-WP-17 336-WP-18 336-WP-30 336-WP-75	STATION 590+50 715+00 715+00 858+00 537+00	NAME 67-WP-24	STATION 445+89	NAME 67-WP-23 67-TS-25 67-WP-32	STATION 444+71 446+74 451+55	NAME 67-WP-01 67-WP-13	STATION 434+23 435+32	NAME RL-WP-35 RK-WP-15	STATION 73+08 100+60	NAME RDC-WP-42 RDC-WP-46 RDC-WP-49	STATION 219+75 219+95 219+96	NAME RL-WP-39 RL-WP-43 RL-WP-44 RK-WP-16 RK-TS-19	STATION 73+12 73+18 72+84 100+64 100+48
WROI WAY	5″ NG Y			۱٬-6″ NE WAY				<u>*-6"</u>				RO EN	AD DS JS	200	3.0.	2.6	
R5-1	R5-1a R6-1L						Re	5-1R		R	6-3	R11-	1100	W1-	2R	W1-	4L
NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION
RL-WP-26	<u> </u>	67-WP-02	434+11	RDC-WP-43	219+95	67-WP-05	434+56	RDC-WP-44	219+95	67-WP-U7	434+56	336-WP-40	886+56	RDC-WP-02	206+00	140-WP-02	27+20
RDC-WP-14	216+00	67-WP-08	435+00		213+30	67-WP-48	461+01		213130		133.00						
RDC-WP-27	216+00	67-WP-14	435+60			67-WP-51	461+28										
		RL-WP-36	73+00			RL-WP-37	73+00										
		RL-WP-40	73+18			RL-WP-41	73+18										
		<u>-1'-</u>	6″, , , ,			- ^{3'-0}	4'-0''			 -	-6'''				_3	-0	
NAME	STATION	W1·	-8L	NAME	STATION	W1-	BL STATION	NAME	STATION	W1	-8R	NAME	STATION	NAME	W1	-8R	STATION
5 140-WP-05	12+62	140-WP-22	19+18	140-WP-36	24+78	336-TS-67	571+23	140-WP-04	12+62	140-WP-21	19+18	140-WP-35	24+78	336-TS-61	557+40	RL-WP-06	60+92
140-WP-08	13+42	140-WP-24	19+98	140-WP-38	25+58	336-TS-68	572+83	140-WP-07	13+42	140-WP-23	19+98	140-WP-37	25+58	336-SP-62	559+00	RL-WP-07	61+73
140-WP-10	14+22	140-WP-26	20+78			336-TS-69	868+94	140-WP-09	14+22	140-WP-25	20+78			336-SP-63	560+60	RL-WP-08	62+53
140-WP-12	15+02	140-WP-28	21+58			336-TS-70	870+54	140-WP-11	15+02	140-WP-27	21+58			336-SP-64	562+20	RL-WP-09	63+33
± 140-₩P-16	15+82	140-WP-30	22+38			336-TS-71	872+14	140-WP-15	15+82	140-WP-29	22+38			336-SP-65	563+80	RL-WP-10	64+13
¥ 140-WP-18	17+58	140-WP-32	23+18			336-TS-72	873+74	140-WP-17	17+58	140-WP-31	23+18		-	336-TS-73	878+38	RL-WP-11	64+93
140-WP-20	18+38	140-WP-34	23+98					140-WP-19	18+38	140-WP-33	23+98			336-TS-74	879+98	RL-WP-13	65+73
FILE NAME =	USER NAME = Lin21 DESIGNED - RC REVISED - DRAWN - RC REVISED - PLOT SCALE = 1:6.19884 CHECKED - ST REVISED - PLOT DATE = 1/22/2015 DATE - 1/2015 REVISED -						DEPA	STATE OF II RTMENT OF TR	LLINOIS ANSPORTATI	ON	LE: NONE SHEE	SIGNING I SIGNING ET NO. 2 OF 16 SHEE	DETAILS PLANS TS STA.	TO STA.	F.A.F. S 407 55[3(PV,HB	ECTION COUN 12-6);B,B-1,B-2)] MCDON CONTR. 4 ILLINOIS	ITY SHEETS NO. OUGH 874 325 ACT NO. 68B44

			0, -4 , 0, -1 , 0, -1,					2.56		200		2.5	B	21.55			
		W1-8R (CONT.)			W1-	11	W	2-1	1	W2-2L	W2	-2R	W	3-1	WE	3-1
NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION
RK-WP-02	109+20	RK-WP-08	114+00	RDC-WP-07	211+20	RL-WP-02	01+00	67-WF-16	440+51	950-WF-04	4 3013+34	320-MF-01	2331+21	140-WP-06 110-WP-01	6003+26	RDC-WP-09	214+00
RK-WP-03	110+00	RK-WP-10	115+60											110-WP-07	6011+10		
RK-WP-04	110+80	RK-WP-11	116+40														
RK-WP-05	111+60	RK-WP-12	117+20														
RK-WP-06 RK-WP-07	112+40	RK-WP-13	209+60														
A CONTRACTOR	P.0.		P.O.		P.O.	CROSS T DOES NO	RAFFIC T STOP			A.S.				LE	EFT NE IDS	3	6" 0 PH
W4	-1	W4-	2L	W4-	2R	W 4 -	4P	We	5-1		W6-2	We	5-3	W9	-1L	W13	-1P
NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION
336-WP-05	119+17	336-WP-50	551+00	336-WP-60	874+72	110-WP-03	6006+50	336-WP-53	579+50	336-WP-52	2 576+00	336-WP-54	587+00	336-WP-48	539+00	140-WP-03	10+61
	113 + 11	226-ML-21	551-00	JJ0-WF-00	014+12	110-wp-05	6001+66					220-ME-22	009+11	556-WF-49	333+00	140-WP-13	21+20
-2'-0 30 MP	^{6″} • • • • • • • • • • • • • • • • • • •	= ^{2'-6} 5(MP	2,-9,-,-	- ^{3'-} E) 3 M.F	0″ - ⁴ ,-0,-	EX 5 M.	-0'' КІТ О,-,- Р.Н.		^{/-0//} АМР ВО 		3'-0'' RAMP 50 м.р.н.		,0−,£ v	9-0 SSING 4-0''	1	150 FE	-6″ 00 ET
W13-	-1P	W13-	-1P	W13	3-2	W1.	3-2	W	.3-3		W13-3		٧	V14-3		W16	-2P
	STATION	NAME	STATION	NAME	STATION		STATION	NAME	STATION	NAME	STATION	NAME	STATION		STATION	NAME	STATION
ตุ KL-WP-03	53+16	RUC-WP-03	206+00	KL-WP-01	52+17	KUC-WP-01	203+01	RL-WP-05	103400	RRA-WP-0	5 208+00 1 323+50	336-WP-55	590+50 796+75	950-WP-03	6028+39 3002+46	336-WP-32	862+82
5 s s s s s s s s s s s s s s s s s s s									103+00			336-WP-57	810+25	950-WP-06	3021+51		
												336-WP-58	849+72				
3418 - sh												C20-WP-01	5000+80				
15\D46{												C20-WP-03	5020+55				
Shee	USER	R NAME = Lin21	DESIGNE	D - RC	REVISED -	<u> </u>						110-WP-06	6009+23		F.A.P		NTY TOTAL SHEET
AME = 6/Plar			DRAWN	- RC	REVISED -			STATE OF		0.11		SIGNING	PLANS		407 55[3(PV,HB	2-6);B,B-1,B-2)] MCDO	NOUGH 874 326
	I PLUI	JUNEL - 1:0.17004	I UHEUKEL	اد - ر	INEVISED -				SANSPIRIAL						1		2ACT NO 68844

 N 1400	OTH RD	N 150	OTH RD	EXPRE EN	SSWAY DS	ALL T MUST	RAFFIC EXIT		2'-	-0''		3'	-0''				
W16-	-8P	W16-	-8P	W19	9-4	W1	9-5		M4-	-1110		M4-	-1110				
NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION	NAME	STATION				
950-WP-05	3013+54	01 111	440151	556 WI 51	002102	336-WP-36	867+82	67-WP-55	446+75	136-WP-13	521+41	336-WP-47	869+72				
								67-WP-58	450+75	136-WP-21	523+99	RDC-WP-50	214+00				
								67-WP-62	454+29	136-WP-25	526+26	RDC-WP-51	216+00				
								67-WP-67	455+84			RDC-WP-52	219+09				
								67-WP-71	459+12								
6																	
004.d																	
a tails _ s																	
\$\D468418																	
EVID06/Plan Sheet	USER PLOT PLOT	NAME = Lin21 SCALE = 1:6.19084 DATE = 1/22/2015	DESIGNED DRAWN CHECKED DATE	 RC RC ST 1/2015 	REVISED - REVISED - REVISED - REVISED - REVISED -		DEPAI	STATE OF II RTMENT OF TR	LLINOIS ANSPORTATIO	DN sc	ALE: NONE SHEE	SIGNING SIGNING T NO. 4 OF 16 SHE	DETAILS PLANS ETS STA.	TO STA.	F.A.P RTE. SE 407 55[3(PV,HB) FED. ROAD DIST. NO.	CTION CC 2-6);B,B-1,B-2)] MCC CON 4 ILLINOIS	DUNTY TOTAL SHEET SHEETS NO. DONOUGH 874 327 TRACT NO. 68B44



FILE NAME = E:\1006\Plan

SCALE: NONE SHEET NO. 5 OF 16 SHEETS

SIGN NUMBER	336–BS–03, 336–BS–13
WIDTH X HGHT.	14'6" x 6'6"
BORDER WIDTH	2"
CORNER RADIUS	9.75"
MOUNTING	Ground
BACKGROUND	TYPE: AP Sheeting
	COLOR: Brown
LEGEND/BORDER	TYPE: AP Sheeting
	COLOR: White/White

SYMBOL	ROT	Х	Y	WID	HT

LENGTH	H SERIES/SIZE	
	EM 2000	
150.1	12⁄9	
	EM 2000	
99.9	12/9	
	EM 2000	
77.7	10	
]	
	1	

TAILS LANS		F.A.P RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.	
		407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	328	
					CONTRACT	NO. 68E	344	
	STA.	TO STA.	FED. RC	DAD DIST. NO. 4	ILLINOIS			



FILE NAME = E:\1006\Plan

SIGN NUMBER	336-BS-04, 336-BS-07
WIDTH X HGHT.	11'-6" x 12'-0"
BORDER WIDTH	2"
CORNER RADIUS	12"
MOUNTING	Ground
BACKGROUND	TYPE: ZZ Sheeting
	COLOR: Green
LEGEND/BORDER	TYPE: ZZ Sheeting
	COLOR: White/White

SYMBOL	ROT	Х	Y	WID	HT
M1_4	0	46.5	94.4	45	36
AR_Type A	45	55.4	13.6	22.3	35.6

			LENGTH		SERIES/SIZE
				EM	2000
			111.6	13.3	10
				EM	2000
			82.2	13.3	10
	 		I		

TAILS		F.A.P RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.	
		407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	329	
.,	ANS					CONTRACT	NO. 68E	344
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS			

SIGN DETAIL 1:75 6'–0" La Moine River ρ ò BORDER 8.3" 55.4" 8.3" R = 4.5"TH=1.25" Panel Style: Guide_sign.ssi M.U.T.C.D.: 2009 Edition Panel Style: Guide_sign.ssi Dimensions are in inches.tenths Letter locations are panel edge to lower left corner LETTER POSITIONS (X) L М 0 i n е а 8.3 15.2 28.5 38 45.9 50.7 58.4 R е r i | V 20 28.6 32.5 40.3 48 USER NAME = Lin21 DESIGNED - RC REVISED SIGNING DET STATE OF ILLINOIS DRAWN - RC REVISED SIGNING PL
 CHECKED
 ST

 DATE
 1/2015
 DEPARTMENT OF TRANSPORTATION PLOT SCALE = 1:6.87841 REVISED

REVISED

PLOT DATE = 1/22/2015

SCALE: NONE SHEET NO. 7 OF 16 SHEETS

SIGN NUMBER	336WP-10, 336WP11
WIDTH X HGHT.	6'0" x 3'0"
BORDER WIDTH	1.25"
CORNER RADIUS	4.5"
MOUNTING	Ground
BACKGROUND	TYPE: AP Sheeting
	COLOR: Green
LEGEND/BORDER	TYPE: AP Sheeting
	COLOR: White/White

SYMBOL	ROT	Х	Y	WID	HT

			LENGTH		SERIES/SIZE
				EM	2000
			55.4	8⁄6	
				EM	2000
			32.1	8⁄6	
		1			J

TAILS LANS		F.A.P RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.	
		407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	330	
					CONTRACT I	NO. 68E	344	
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS			



REVISED

PLOT DATE = 1/22/2015

SIGN NUMBER	336–WP–14				
WIDTH X HGHT.	13'6" x 6'0"				
BORDER WIDTH	1.5"				
CORNER RADIUS	4.5"				
MOUNTING	Ground				
BACKGROUND	TYPE: ZZ Sheeting				
	COLOR: Green				
LEGEND/BORDER	TYPE: ZZ Sheeting				
	COLOR: White/White				

SYMBOL	ROT	Х	Y	WID	HT

			LENGTH		SERIES/SIZE
				EM	2000
			74.2	12⁄9	
				EM	2000
			9.7	12	
				EM	2000
			55.8	12	
				EM	2000
			9.7	12	
				EM	2000
			97.1	12⁄9	
				EM	2000
			22.4	12	

	SIGN	ING DET	AILS		F.A.P RTE.	SECTION	COUNTY	TOTAL SHEETS	SHEET NO.
	212		NNC		407	55[3(PV,HB(2-6);B,B-1,B-2)]	MCDONOUGH	874	331
	510		1110				CONTRACT 1	VO. 68B	44
SCALE: NONE	SHEET NO. 8 OF 1	6 SHEETS	STA.	TO STA.	FED. RC	AD DIST. NO. 4 ILLINOIS			



REVISED

PLOT DATE = 1/22/2015

SCALE: NONE SHEET NO. 9 OF 16 SHEETS

SIGN NUMBER	336BS39				
WIDTH X HGHT.	11'-0" x 12'-0"				
BORDER WIDTH	2"				
CORNER RADIUS	12"				
MOUNTING	Ground				
BACKGROUND	TYPE: ZZ Sheeting				
	COLOR: Green				
LEGEND/BORDER	TYPE: ZZ Sheeting				
	COLOR: White/White				

SYMBOL	ROT	Х	Y	WID	HT
M1_4	0	48	95.9	36	36
AR_Type A	45	52.4	12.1	22.3	35.6

			LENGTH	I SERIES/SIZE
				EM 2000
			107.6	13.3⁄10
				EM 2000
			82.2	13.3⁄10

TAILS		F.A.P RTE.	SECTION	COUNTY	TOTAL SHEETS	SHEET NO.	
		407	55[3(PV,HB(2-6);B,B-1,B-2	1 MCDONOUGH	874	332	
.,	4143		_		CONTRACT	NO. 68E	344
	STA.	TO STA.	FED. RO	DAD DIST. NO. 4 ILLINOIS			



USER NAME = Lin21	DESIGNED - RC DRAWN - RC	REVISED - REVISED -	STATE OF ILLINOIS		SIGNING DETA
PLOT SCALE = 1:6.87841	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION	l	SIGNING PLA
PLOT DATE = 1/22/2015	DATE - 1/2015	REVISED -		SCALE: NONE	SHEET NO. 10 OF 16 SHEETS

SIGN NUMBER	RDCWP28				
WIDTH X HGHT.	10'6" x 4'6"				
BORDER WIDTH	1.25"				
CORNER RADIUS	3.75"				
MOUNTING	Ground				
BACKGROUND	TYPE: ZZ Sheeting				
	COLOR: Green				
LEGEND/BORDER	TYPE: ZZ Sheeting				
	COLOR: White/White				

SYMBOL	ROT	Х	Y	WID	ΗT
AR_Type D	90	10	35.2	10	15
AR_Type D	270	86.8	8.7	10	15

			LENGTH		SERIES/SIZE
				EM	2000
			80.9	10⁄7.	5
				EM	2000
			61.8	10⁄7.	5
 1					

т	AILS		F.A.P RTE.	SEC	TION	COUNTY	SHEET NO.			
1	ANG		407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874 333			
						CONTRACT I	NO. 68E	44		
	STA.	TO STA.	FED. RC	DAD DIST. NO. 4	ILLINOIS					



USER NAME = Lin21	DESIGNED - RC	REVISED -			SIGNING DETA
	DRAWN - RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:6.87841	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PLAN
PLOT DATE = 1/22/2015	DATE - 1/2015	REVISED -		SCALE: NONE	SHEET NO. 11 OF 16 SHEETS

SIGN NUMBER	67–WP–28
WIDTH X HGHT.	10'6" x 4'6"
BORDER WIDTH	1.25"
CORNER RADIUS	3.75"
MOUNTING	Ground
BACKGROUND	TYPE: ZZ Sheeting
	COLOR: Green
LEGEND/BORDER	TYPE: ZZ Sheeting
	COLOR: White/White

SYMBOL	ROT	Х	Y	WID	HT
AR_Type D	0	12.5	32.8	10	15
AR_Type D	90	10	8.8	10	15

			LENGTH		SERIES/SIZE
				EM	2000
			80.9	10⁄7.	5
				EM	2000
			71.1	10⁄7.	5
1					

Т	AILS		F.A.P RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
ANS				55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	334
LANG						CONTRACT	NO. 68E	344
	STA.	TO STA.	FED. RO	DAD DIST. NO. 4	ILLINOIS			



FILE NAME = E:\1006\Plan

-	USER NAME = Lin21	DESIGNED - DRAWN -	RC RC	REVISED - REVISED -	STATE OF ILLINOIS		SIGNING DET
	PLOT SCALE = 1:6.87841	CHECKED -	ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PL
	PLOT DATE = 1/22/2015	DATE -	1/2015	REVISED -		SCALE: NONE	SHEET NO. 12 OF 16 SHEETS

SIGN NUMBER	67–WP–44
WIDTH X HGHT.	13'6" x 4'6"
BORDER WIDTH	1.25"
CORNER RADIUS	3.75"
MOUNTING	Ground
BACKGROUND	TYPE: ZZ Sheeting
	COLOR: Green
LEGEND/BORDER	TYPE: ZZ Sheeting
	COLOR: White/White

SYMBOL	ROT	Х	Y	WID	HT

Image: state in the state				LENGTH		SERIES/SIZE
Image: Constraint of the second state of the second sta					EM	2000
Image: Constraint of the second state of the second sta				96.8	12⁄9	
Image: state in the state					EM	2000
Image:				11.2	12	
Image: state stat					EM	2000
Image:				97.1	12⁄9	
12 12 112 112 112 111 <td></td> <td></td> <td></td> <td></td> <td>EM</td> <td>2000</td>					EM	2000
				22.2	12	
Image: state stat						
Image: select						
Image: state of the state						
Image: state of the state o						

Т	AILS		F.A.P RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
	NNC		407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	335
LANS						CONTRACT I	NO. 68E	344
	STA.	TO STA.	FED. RO	DAD DIST. NO. 4	ILLINOIS			





Panel Style: Guide_sign.ssi Dimensions are in inches.tenths

Letter locations are paneledge to lower left corner

	LETTER POSITIONS (X)													ENGTH	SERIES/SIZE										
М	а	с	0	m	b																			E	M 2000
29	40.8	50.5	59.3	69.2	84.2																			61.8 10	<i>y</i> 7.5
С	а	r	t	h	а	g	е																	E	M 2000
9	19	29.6	36	44.4	54.1	63.8	73.5																	71.1 10	<i>y</i> 7.5
																						-			
L	1	1	1			<u> </u>		1	<u> </u>		<u>ı I</u>		<u>ı </u>	<u> </u>	 I	<u> </u>	I	 <u>ı 1</u>	I	I		1	<u> </u>		

gn13.dgn	
-details_sig	
)468418-sht	
Sheets	
VI006\Plan	

PLOT SCALE = 166.87841 CHECKED - ST REVISED - DEPARTMENT OF TRANSPORTATION SIGN	NG PLA
PLOT DATE = 1/22/2015 DATE - 1/2015 REVISED - SCALE: NONE SHEET NO. 13 OF 16	SHEETS

SIGN NUMBER	67–WP–43			
WIDTH X HGHT.	10'0" x 4'6"			
BORDER WIDTH	1.25"			
CORNER RADIUS	3.75"			
MOUNTING	Ground			
BACKGROUND	TYPE: ZZ Sheeting			
	COLOR: Green			
LEGEND/BORDER	TYPE: ZZ Sheeting			
	COLOR: White/White			

SYMBOL	ROT	Х	Y	WID	HT
AR_Type D	0	9	31.5	10	15
AR_Type D	270	90	7.5	10	15

TAILS LANS		F.A.P RTE.	SECTION		COUNTY	TOTAL SHEETS	SHEET NO.	
		407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	336	
					CONTRACT	NO. 68E	344	
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS			


Sheets/D468 FILE NAME = E:VI006\Plan (

USER NAME = Lin21	DESIGNED - RC	REVISED -			
	DRAWN - RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:6.87841	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PLA
PLOT DATE = 1/22/2015	DATE - 1/2015	REVISED -		SCALE: NONE	SHEET NO. 14 OF 16 SHEETS

SIGN NUMBER	336WP29
WIDTH X HGHT.	12'6" x 4'6"
BORDER WIDTH	1.25"
CORNER RADIUS	3.75"
MOUNTING	Ground
BACKGROUND	TYPE: ZZ Sheeting
	COLOR: Green
LEGEND/BORDER	TYPE: ZZ Sheeting
	COLOR: White/White

SYMBOL	ROT	Х	Y	WID	HT

			LENGTH		SERIES/SIZE
				EM	2000
			62.2	12	
				EM	2000
			9.7	12	
				EM	2000
			85.3	12⁄9	
				EM	2000
			22	12	

Т	AILS		F.A.P RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
	NNG		407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	337
_	4113					CONTRACT	NO. 68E	344
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS			





Panel Style: Guide_sign.ssi Dimensions are in inches.tenths

Letter locations are paneledge to lower left corner

													LET	TER	POSITIONS	(X)						l	ENGTH SERIES/SIZE
С	0	1	с	h	е	s	t	е	r														EM 2000
36.6	46.6	56.5	61.6	71.3	81	89.6	98.3	105.8	115.5														83.9 10/7.5
М	а	с	0	m	b																		EM 2000
11.6	23.4	33.1	41.9	51.8	66.8																		61.8 10/7.5
											<u> </u>												

Sheets\D468418-sht-details.sign15.dc	
FILE NAME = E:\1006\Plan (

USER NAME = Lin21	DESIGNED - DRAWN -	RC RC	REVISED - REVISED -	STATE OF ILLINOIS		SIGNING DETA
PLOT SCALE = 1:6.87841	CHECKED -	ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PLA
PLOT DATE = 1/22/2015	DATE -	1/2015	REVISED -		SCALE: NONE	SHEET NO. 15 OF 16 SHEETS
					·	

SIGN NUMBER	RL-WP-28
WIDTH X HGHT.	11'-0" x 4'-6"
BORDER WIDTH	1.25"
CORNER RADIUS	3.75"
MOUNTING	Ground
BACKGROUND	TYPE: ZZ Sheeting
	COLOR: Green
LEGEND/BORDER	TYPE: ZZ Sheeting
	COLOR: White/White

SYMBOL	ROT	Х	Y	WID	ΗT
AR_Type D	90	11.6	35.2	10	15
AR_Type D	270	88.4	8.7	10	15

т	AILS		F.A.P RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
1	ANG		407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	338
	-110					CONTRACT I	NO. 68E	44
	STA.	TO STA.	FED. RO	DAD DIST. NO. 4	ILLINOIS			



SIGN NUMBER	336–BM–44
WIDTH X HGHT.	11'0" x 9'0"
BORDER WIDTH	2"
CORNER RADIUS	12"
MOUNTING	Overhead
BACKGROUND	TYPE: ZZ Sheeting
	COLOR: Green
LEGEND/BORDER	TYPE: ZZ Sheeting
	COLOR: White/White

SYMBOL	ROT	Х	Y	WID	HT
M1-1100	0	10.6	60.9	49.1	36
ARDOWN	0	55.6	11.1	24	16.5

LENGTH SERIES/SIZE	
EM 2000	-
49.7 12,10	
EM 2000	_
72.9 13.310	

Т	AILS		F.A.P RTE.	SECTION	COUNTY	TOTAL SHEETS	SHEET NO.
ANS				55[3(PV,HB(2-6);B,B-1,B-2)]	MCDONOUGH	874	339
.,	4110		_		CONTRACT	NO. 68E	344
	STA.	TO STA.	FED. RO	DAD DIST. NO. 4 ILLINOIS			

							72000100	72000200	72000300	7280	0100	7300	0100	73100100				72
							72000100	72000200	72000300			/300					STRUCTU	2
		SIG	IN SCHEDULE											DASE FUR			SIRUCIUM	.AI
							SIGN PANEL	SIGN PANEL	SIGN PANEL	SIGN SI		SUP			STEEL POST	SIUBPOSI	SUPPORT	- 8
					SIGN	AREA	ITPE 1	ITPE 2	ITPE 3	POSTI	POSTZ	POSTI	POSIZ	SIGN SUPPORT	SIZE	LENGTH	POSTI	-
SIGN NO.	STATION	OFFSEI	ALIGNMENT	LEGEND/DESCRIPTION	WIDTH (FT)	HEIGHT (FT)	(SQ FI)	(SQFI)	(SQFI)	(FOOT)	(FOOT)	(FOOI)	(FOOT)	(EACH)		(FOOT)	(FOOT)	+
110-WP-01	6003+26	RI	CO. ROAD 1100	W3-1	2.50	2.50	6.25					17.00					 	_
110-WP-02	6006+50	RT	CO. ROAD 1100	R1-1	2.50	2.50	6.25					16.00					<u> </u>	-
110-WP-03				W4-4P	2.00	1.00	2.00										<u> </u>	+
110-WP-04	6007+86	LT	CO. ROAD 1100	RI-1	2.50	2.50	6.25					16.00					<u> </u>	-
110-WP-05	6000.22	17	CO. NO A D 1100	VV4-4P	2.00	1.00	2.00					16.50					<u> </u>	-
110-WP-06	6009+23		CO. ROAD 1100	VV14-3	4.00	3.00	6.00					10.50					<u> </u>	+
110-WP-07	6011+10		CO. ROAD 1100	W3-1	2.50	2.50	6.25					17.00					<u> </u>	-
110-WP-08	6028+39	КІ	CO. ROAD 1100	W14-3	4.00	3.00	6.00					15.50					<u> </u>	-
136-WP-01	-			IVI3-1	2.00	1.00	2.00					-					<u> </u>	+
136-WP-02	-			M1-100	2.50	2.00	5.00					-					<u> </u>	-
136-WP-03	500+72	RT	US 136	IVI5-1R	1.75	1.25	2.19					20.00					<u> </u>	-
136-WP-12	-			M1-1100	2.50	2.00	5.00					-					<u> </u>	-
136-WP-13	-			1014-1100	2.00	1.00	2.00					-					<u> </u>	+
136-WP-14				IVI5-1R	1.75	1.25	2.19										<u> </u>	-
136-WP-04	-			IVI3-1	2.00	1.00	2.00					-						-
130-VVP-05	-			IVI1-1100	2.50	2.00	3.00					-					<u>├───</u>	-
136-WP-06	521+41	RT	US 136	IVID-1R	1.75	1.25	2.19					20.00						+
136-WP-16	-			N11-1100	2.50	2.00	5.00					-					<u> </u>	+
136-WP-17	-			1014-1100	2.00	1.00	2.00					1					├ ───	+
136-WP-18				IVID-1R	1.75	1.25	2.19										<u> </u>	+
136-WP-07	-			N11 1100	2.00	1.00	2.00					-					<u> </u>	+
136-WP-08	-			NAC 11	2.30	2.00	3.00					-					<u> </u>	-
136-WP-09	523+99	LT	US 136	NI0-1L	2.50	2.00	5.00					20.00					<u> </u>	-
136-WP-20	-			M4 1100	2.50	2.00	3.00					-					<u> </u>	-
136-WP-21	-			M6 11	1.75	1.00	2.00					-					<u> </u>	+
130-WF-22				ME 1	1.75	1.25	2.19										<u> </u>	+
136 WP 24	-			M1 1100	2.50	2.00	5.00										<u> </u>	+
136 W/P 25	526+26	LT	US 136	M1-1100	2.30	2.00	3.00										<u> </u>	+
136 WP 26	-			M5 11	1.75	1.00	2.00										<u> </u>	+
140-WP-01	10+30	IT	CO ROAD 1/00	R1-1	2.50	2.50	6.25					16.00					<u> </u>	+
140-WP-02	10+30		CO. NOAD 1400	W/1-1	2.50	2.50	6.25					10.00						+
140-WF-02	10+61	RT	CO. ROAD 1400	W/13_1P	1.50	1.50	2.25					17.50					<u> </u>	+
140-WP-03				W/1_8R	1.50	2.00	3.00										<u> </u>	+
140-WP-05	12+62	RT	CO. ROAD 1400	W/1_8I	1.50	2.00	3.00					14.50					<u> </u>	+
140-WP-05	13+75	IT		W/3-1	2.50	2.00	6.25					17.00						+
140-WF-00	10+10		CO. NOAD 1400	W/1_QQ	1 50	2.50	3.00					17.00						+
140-WF-07	13+42	RT	CO. ROAD 1400	W/1_8I	1.50	2.00	3.00					14.50					<u> </u>	+
1/0_W/P_00				W/1-8R	1.50	2.00	3.00										<u> </u>	+
140-WP 10	14+22	RT	CO. ROAD 1400	\\/1 8I	1.50	2.00	3.00					14.50					<u> </u>	+
140-008-10	1			VV 1-ÖL	1.20	2.00	5.00							1			1	

USER NAME = Lin21	DESIGNED - RC	REVISED -			SIGNING SCHE
	DRAWN - RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PLA
PLOT DATE = 1/29/2015	DATE - 1/2015	REVISED -		SCALE: NONE	SHEET NO. 1 OF 10 SHEETS

00100			73400100	X7330064
STEEL SIGN		STRUCT STEEL		
EAKAWAY	WEIGHT	SIGN SUPPORT	CONCRETE	SIGN SUPPORT
POST 2	PER FOOT	BREAKAWAY	FOUNDATIONS	SPECIAL
(FOOT)	(POUND)	(POUND)	(CU YD)	(EACH)

IE	DULE		F.A.P RTE.	SEC	TION		COUNTY	TOTAL SHEETS	SHEET NO.
ANS			407	55[3(PV,HB(2-	6);B,B-1,B-2	2)]	MCDONOUGH	874	340
LANS							CONTRACT I	NO. 68E	344
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS				

							72000100	72000200	72000300	7280	0100	7300	0100	73100100			7:
							72000100	72000200	72000300	TELESCOP	ING STEEL	wool		BASE FOR			
		SIG	GN SCHEDULE						SIGN PANEL			SUD		TELESCOPING STEEL			
					SIGN	AREA	TVPE 1	TVPE 2	TVDE 2	POST 1	POST 2	POST 1			SITE	IENGTH	POST 1
	STATION	OFFEET						(SO ET)	(SOET)	(FOOT)	(FOOT)	(FOOT)	(EOOT)		JIZE	(FOOT)	(FOOT)
140 M/D 11	JIAHON	OFFSET	ALIGINIVIENT	W/1 SD	1.50	2.00	3.00	(30(11)	(30(1))	(1001)	(1001)	(1001)	(1001)	(LACH)		(1001)	
140-WP-11	15+02	RT	CO. ROAD 1400	W1-0N W/1-8I	1.50	2.00	3.00					14.50					
140-WP-12				W1-8L W1-8R	1.50	2.00	3.00										
140-WP-15	15+82	RT	CO. ROAD 1400	W1-8K	1.50	2.00	3.00					14.50					+
140-WP-10				W1-8L W1-8R	1.50	2.00	3.00										
140-WP-18	17+58	LT	CO. ROAD 1400	W1-8K	1.50	2.00	3.00					14.50					
140-WP-19				W1-8E	1.50	2.00	3.00										
140-WP-20	18+38	LT	CO. ROAD 1400	W1-8K	1.50	2.00	3.00					14.50					
140-WP-21				W1-8L	1.50	2.00	3.00										
140 WP-22	19+18	LT	CO. ROAD 1400	W1-81	1.50	2.00	3.00					14.50					
140-WP-23				W1-8E	1.50	2.00	3.00										
140-WP-24	19+98	LT	CO. ROAD 1400	W1-81	1.50	2.00	3.00					14.50					
140-WP-25				W1-8E	1.50	2.00	3.00										
140-WP-26	20+78	LT	CO. ROAD 1400	W1-81	1.50	2.00	3.00					14.50					
140-WP-27				W1-8R	1.50	2.00	3.00										
140-WP-28	21+58	LT	CO. ROAD 1400	W1-8L	1.50	2.00	3.00					14.50					
140-WP-29				W1-8R	1.50	2.00	3.00										
140-WP-30	22+38	LT	CO. ROAD 1400	W1-8L	1.50	2.00	3.00					14.50					
140-WP-31				W1-8R	1.50	2.00	3.00										
140-WP-32	23+18	LI	CO. ROAD 1400	W1-8L	1.50	2.00	3.00					14.50					
140-WP-33	00.00			W1-8R	1.50	2.00	3.00					44.50					
140-WP-34	23+98		CO. ROAD 1400	W1-8L	1.50	2.00	3.00					14.50					
140-WP-35	24.70	1.7	CO. DOAD 1400	W1-8R	1.50	2.00	3.00					14.50					
140-WP-36	7 24+78		CO. ROAD 1400	W1-8L	1.50	2.00	3.00					14.50					
140-WP-37	25.50	1.7	CO. BOAD 1400	W1-8R	1.50	2.00	3.00					14.50					
140-WP-38	25+58		CO. ROAD 1400	W1-8L	1.50	2.00	3.00					14.50					
140-WP-13	27.20	1.7	CO. BOAD 1400	W13-1P	1.50	1.50	2.25					17.50					
140-WP-14	7 27+20		CO. ROAD 1400	W1-2L	2.50	2.50	6.25					17.50					
336-WP-01	490+27	RT	IL 336	M2-1	2.50	1.75	4.38					10.00					
336-WP-02	490+27	RT	IL 336	M1-4	3.75	3.00		11.25				10.00					
336-BS-03	530+04	RT	IL 336	W. ILLINOIS UNIV.	14.50	6.50			94.25						W6 X 15	2.5	13.1
336-WP-75	537+00	RT	IL 336	R2-1	4.00	5.00		20.00				16.00					
336-WP-48	539+00	RT	IL 336	W9-1L	4.00	4.00		16.00				17.00					
336-WP-49	539+00	RT	IL 336	W9-1L	4.00	4.00		16.00				17.00					
336-BS-04	543+45	RT	IL 336	COL/MACOMB EXIT	11.50	12.00			138.00						W12 X 26	3.0	21.9
336-WP-05	546+62	LT	IL 336	W4-1	4.00	4.00		16.00				17.50					
336-WP-50	547+50	RT	IL 336	W4-2L	4.00	4.00		16.00				17.00					
336-WP-51	547+50	RT	IL 336	W4-2L	4.00	4.00		16.00				17.00					
336-WP-06	550+03	RT	IL 336	E5-1	6.00	5.00			30.00			18.00					

USER NAME = Lin21	DESIGNED - RC	REVISED -			
	DRAWN - RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PLA
PLOT DATE = 1/29/2015	DATE - 1/2015	REVISED -		SCALE: NONE	SHEET NO. 2 OF 10 SHEETS

00100			73400100	X7330064
STEEL SIGN		STRUCT STEEL		
EAKAWAY	WEIGHT	SIGN SUPPORT	CONCRETE	SIGN SUPPORT
POST 2	PER FOOT	BREAKAWAY	FOUNDATIONS	SPECIAL
(FOOT)	(POUND)	(POUND)	(CU YD)	(EACH)
12.9	15.0	465.0	1.40	
23.6	26.0	1339.0	2.82	

E	DULE		F.A.P RTE.	SECT	FION		COUNTY	TOTAL SHEETS	SHEET NO.
ANS			407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	341
							CONTRACT I	NO. 68E	344
	STA.	TO STA.	FED. RO	AD DIST. NO. 4	ILLINOIS				

						72000100	72000200	72000300	7280	00100	7300	0100	73100100			72	2700100			73400100	X7330064	
							72000100	72000200	72000300	TELESCOR	DING STEEL	woor		BASE FOR				I STEEL SIGN		STRUCT STEEL	73400100	77550004
		SIG	SN SCHEDULE				SIGN PANEL	SIGN PANEL	SIGN PANEL	SIGN S	LIPPORT	SUP	PORT	TELESCOPING STEEL	STEEL POST			REAKAWAY	WEIGHT		CONCRETE	SIGN SUPPORT
					SIGN		TYPE 1	TYPE 2	TYPE 3	POST 1	POST 2	POST 1	POST 2	SIGN SUPPORT	SIZE	IFNGTH	POST 1	POST 2	PER FOOT	BREAKAWAY	FOUNDATIONS	SPECIAL
SIGN NO.	STATION	OFFSET	ALIGNMENT	LEGEND/DESCRIPTION	WIDTH (FT)	HEIGHT (FT)	(SO FT)	(SO FT)	(SO FT)	(FOOT)	(FOOT)	(FOOT)	(FOOT)	(EACH)	UILL	(FOOT)	(FOOT)	(FOOT)	(POUND)	(POUND)	(CU YD)	(EACH)
336-TS-61	557+40	RT	IL 336	W1-8R	3.00	4.00	(12.00	(- 1.1)	16.0		()	(,	(,		(((,	(((,	(=,
336-SP-62	559+00	RT	IL 336	W1-8R	3.00	4.00		12.00														1
336-SP-63	560+60	RT	IL 336	W1-8R	3.00	4.00		12.00														1
336-SP-64	562+20	RT	IL 336	W1-8R	3.00	4.00		12.00														1
336-SP-65	563+80	RT	IL 336	W1-8R	3.00	4.00		12.00														1
336-BM-44	569+60	LT	IL 336	WEST SOUTH QUINCY	11.00	9.00			99.00													
336-BS-07	570+03	LT	IL 336	COL/MACOMB EXIT	11.50	12.00			138.00						W12 X 26	3.0	20.9	22.1	26.0	1274.0	2.82	
336-TS-67	571+23	LT	IL 336	W1-8L	3.00	4.00		12.00		14.0												
336-TS-68	572+83	LT	IL 336	W1-8L	3.00	4.00		12.00		14.0												
336-WP-52	576+00	RT	IL 336	W6-2	4.00	4.00		16.00				17.50										
336-WP-08				M3-1	3.00	1.50	4.50															
336-WP-09				M1-I100	3.75	3.00		11.25														
336-WP-10	579+30	RT	IL 336	I-3	6.00	3.00		18.00				23.50										
336-WP-42				M1-I100	3.75	3.00		11.25														
336-WP-43				M4-I100	3.00	1.50	4.50															
336-WP-54	579+30	RT	IL 336	W6-3	4.00	4.00		16.00				17.50										
336-WP-53	579+50	RT	IL 336	W6-1	4.00	4.00		16.00				17.50										
336-WP-11	587+20	RT	IL 336	I-3	6.00	3.00		18.00				15.50										
336-WP-12	500,50	рт	11.226	R2-1	4.00	5.00		20.00				10 50										
336-WP-55	590+50	KI	IL 330	W14-3	4.00	3.00	6.00					18.50										
336-BS-13	595+44	LT	IL 336	W. ILLINOIS UNIV.	14.50	6.50			94.25						W8 X 18	2.5	16.1	14.8	18.0	646.2	1.40	
336-WP-14	600+50	RT	IL 336	D2-1	13.50	6.00			81.00			21.00	21.00									
336-WP-15	622+40	LT	IL 336	M2-1	2.50	1.75	4.38					16.00										
336-WP-16	622+40	LT	IL 336	M1-4	3.75	3.00		11.25				10.00										
336-WP-17	715+00	RT	IL 336	R2-1	4.00	5.00		20.00				18.50										
336-WP-18	715+00	RT	IL 336	R2-1	4.00	5.00		20.00				18.50										
336-WP-56	796+75	RT	IL 336	W14-3	4.00	3.00	6.00					17.50										
336-WP-57	810+25	RT	IL 336	W14-3	4.00	3.00	6.00					17.50										
336-WP-27	825+00	RT	IL 336	M2-1	2.50	1.75	4.38					16.00										
336-WP-28	825+00	RT	IL 336	M1-4	3.00	3.00	9.00					10.00										
336-WP-29	849+72	RT	11 336	D2-2	12.50	4.50			56.25			19 50	19 50									
336-WP-58	045172		12 550	W14-3	4.00	3.00	6.00					15.50	15.50									
336-WP-30	858+00	RT	IL 336	R2-1	4.00	5.00		20.00				18.50										
336-WP-59	859+71	RT	IL 336	W6-3	4.00	4.00		16.00				18.00										
336-WP-31	862+82	RT	11 336	W19-4	4.00	4.00		16.00				19.00										
336-WP-32	002102		12 3 3 0	W16-2P	2.50	2.00	5.00					13.00										
336-WP-35	867+82	RT	IL 336	W19-5	7.50	4.00			30.00			18.00	18.50									
336-WP-36	867+82	RT	IL 336	W19-5	7.50	4.00			30.00			17.50	18.00									
336-TS-69	868+94	LT	IL 336	W1-8L	3.00	4.00		12.00		14.0												

USER NAME = Lin21	DESIGNED -	RC	REVISED -			SIGNING SCI
	DRAWN -	RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED -	ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING P
PLOT DATE = 1/29/2015	DATE -	1/2015	REVISED -		SCALE: NONE	SHEET NO. 3 OF 10 SHEETS

EDULE			F.A.P RTE.	SEC	FION		COUNTY	TOTAL SHEETS	SHEET NO.
			407	55[3(PV,HB(2-	6);B,B-1,B	-2)]	MCDONOUGH	874	342
-ANS						CONTRACT	NO. 68E	344	
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS				

							72000100	72000200	72000300	728(00100	7300	0100	73100100				727
							72000100	72000200	72000300	TELESCOR	NG STEEL	woo		BASE FOR				
		SIG	N SCHEDULE						SIGN PANEL			SUD		TELESCOPING STEEL			SUPPORT.	
					SIGN		TVDE 1	TVDE 2	TVDE 2			DOST 1			SIZE	IENGTU	POST 1	T
	STATION	OFFSET	ALIGNMENT	LEGEND/DESCRIPTION	WIDTH (FT)	HEIGHT (FT)	(SO ET)	(SO ET)	(SO FT)	(FOOT)	(FOOT)	(FOOT)	(FOOT)	(FACH)	JIZE	(FOOT)	(FOOT)	+
336-WP-37		OTTOLT	ALIGHNIEN	M3-3	3.00	1 50	4 50	(50(1))	(5011)	(1001)	(1001)	(1001)	(1001)			(1001)	(1001)	+
336-WP-38	-			M1-I100	3.75	3.00		11.25										+
336-WP-46	869+72	LT	IL 336	M1-I100	3.75	3.00		11.25				20.00						+
336-WP-47	1			M4-I100	3.00	1.50	4.50										<u> </u>	+
336-TS-70	870+54	LT	IL 336	W1-8L	3.00	4.00		12.00		14.0								+
336-TS-71	872+14	LT	IL 336	W1-8L	3.00	4.00		12.00		14.0								1
336-TS-72	873+74	LT	IL 336	W1-8L	3.00	4.00		12.00		14.0								T
336-WP-60	874+72	LT	IL 336	W4-2R	4.00	4.00		16.00				18.00						
336-WP-66	874+72	LT	IL 336	W4-2R	4.00	4.00		16.00				18.00						Τ
336-BS-39	877+83	RT	IL 336	MON/MACOMB EXIT	11.00	12.00			132.00						W12 X 26	3.0	21.2	
336-TS-73	878+38	RT	IL 336	W1-8R	3.00	4.00		12.00		14.0								
336-TS-74	879+98	RT	IL 336	W1-8R	3.00	4.00		12.00		14.0								
336-WP-40	886+56	RT	IL 336	R11-I100	3.00	2.50	7.50					14.50	14.50					
67-WP-01	434+23	CL	US 67	R4-7	2.00	2.50	5.00					14.50						
67-WP-02	434+11	RT	US 67	R6-1L	4.50	1.50	6.75					16.00						
67-WP-03	434+17	LT	US 67	R1-1	3.00	3.00	9.00					17.00						
67-WP-04				R6-1L	4.50	1.50	6.75										L	\perp
67-WP-05	434+56	ит Г	US 67	R6-1R	4.50	1.50	6.75					18.50						\perp
67-WP-06			0007	R1-1	3.00	3.00	9.00					10.000					L	\downarrow
67-WP-07				R6-3	2.50	2.00	5.00											\perp
67-WP-08	_			R6-1L	4.50	1.50	6.75										L	\downarrow
67-WP-09	435+00	RT	US 67	R6-1R	4.50	1.50	6.75					18.50					L	\downarrow
67-WP-10				R1-1	3.00	3.00	9.00										L	\downarrow
67-WP-11				R6-3	2.50	2.00	5.00										L	\downarrow
67-WP-12	435+31	RT	US 67	R1-1	3.00	3.00	9.00					16.50					L	\downarrow
67-WP-13	435+32	CL	US 67	R4-7	2.00	2.50	5.00					14.50					L	\downarrow
67-WP-14	435+60	LT	US 67	R6-1L	4.50	1.50	6.75					16.50					<u> </u>	+
67-WP-15	439+50	LT	US 67	D7-2								16.50	16.00				<u> </u>	+
67-WP-16	440+51	LT	US 67	W2-1	2.50	2.50	6.25					18.00					<u> </u>	+
67-WP-17				W16-8P	2.00	0.67	1.33										<u> </u>	+
67-WP-19	442+85	LT	US 67	M3-3	2.00	1.00	2.00					17.00					───	+
67-WP-20				M1-4	2.00	2.00	4.00										 	+
67-WP-23	444+/1		US 67	R3-2	3.00	3.00	9.00					16.50					<u> </u>	+
67-WP-24	445+89		US 67	K3-1	3.00	3.00	9.00			10.00		17.00		4			<u> </u>	+
67-15-25	446+74		US 67	K3-2	3.00	3.00	9.00			10.00				1			<u> </u>	+
67-WP-26	-			IVIZ-1	1.75	1.25	2.19										<u> </u>	+
67-WP-2/	446+75	RT	US 67	IVI1-1100	2.50	2.00	5.00					18.00					<u> </u>	+
67-WP-54	-			IVI1-1100	2.50	2.00	5.00										<u> </u>	+
67-WP-55				IVI4-1100	2.00	1.00	2.00			1							<u> </u>	\square

USER NAME = Lin21	DESIGNED -	RC	REVISED -			SIGNING SCH
	DRAWN -	RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED -	ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PL
PLOT DATE = 1/29/2015	DATE -	1/2015	REVISED -		SCALE: NONE	SHEET NO. 4 OF 10 SHEETS

00100			73400100	X7330064
STEEL SIGN		STRUCT STEEL		
EAKAWAY	WEIGHT	SIGN SUPPORT	CONCRETE	SIGN SUPPORT
POST 2	PER FOOT	BREAKAWAY	FOUNDATIONS	SPECIAL
(FOOT)	(POUND)	(POUND)	(CU YD)	(EACH)
22.3	26.0	1287.0	2.82	

IEDULE LANS		F.A.P RTE	SEC	TION		COUNTY	TOTAL SHEETS	SHEET NO.	
		407	55[3(PV,HB(2-	6);B,B-1,B-	-2)]	MCDONOUGH	874	343	
						CONTRACT	NO. 68E	344	
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS				

							72000100	72000200	72000300	728(00100	7300	0100	73100100			72
							72000100	72000200	72000300	TELESCOR		woo		BASE FOR			
		SIG	IN SCHEDULE									SUD		TELESCODING STEEL			
					SIGN		TVDE 1	TYPE 2	TVDE 2			DOST 1			SIZE	IENGTU	POST 1
	STATION	OFFSET	ALIGNMENT	LEGEND/DESCRIPTION	WIDTH (FT)		(SO ET)	(SO ET)	(SO ET)	(FOOT)	(FOOT)	(FOOT)	(FOOT)	(FACH)	5120	(FOOT)	(FOOT)
67-W/P-28	1/18±25	RT		D1-2	10.50	4.50	(30(1))	(30(1))	47.25			18.00	18 50	(LACH)		(1001)	(1001)
67-WP-29	440125	N1	03.07	M3-3	2 00	1.00	2.00		47.25			10.00	10.50				J
67-WP-30	-			M1-I100	2.50	2.00	5.00										I
67-WP-31	-			M5-11	1 75	1 25	2 19										lł
67-WP-57	450+75	RT	US 67	M1-1100	2.50	2.00	5.00					18.50					
67-WP-58	-			M4-1100	2.00	1.00	2.00										
67-WP-59	-			M5-1L	1.75	1.25	2.19										
67-WP-32	451+55	LT	US 67	R3-2	3.00	3.00	9.00					16.50					1
67-WP-33				M3-3	2.00	1.00	2.00										1
67-WP-34	1			M1-I100	2.50	2.00	5.00										1
67-WP-35	454.00	DT	110.07	M6-1L	1.75	1.25	2.19					17.00					1
67-WP-61	454+29	KI	05.67	M1-I100	2.50	2.00	5.00					17.00					1
67-WP-62	1			M4-I100	2.00	1.00	2.00										1
67-WP-63	7			M6-1L	1.75	1.25	2.19										1
67-WP-36				M3-3	2.00	1.00	2.00										
67-WP-37				M1-I100	2.50	2.00	5.00										
67-WP-38	455+84	ит 🛛	115 67	M6-1R	1.75	1.25	2.19					18 50					
67-WP-66	433+64		0307	M1-I100	2.50	2.00	5.00					18.50					
67-WP-67				M4-I100	2.00	1.00	2.00										
67-WP-68				M6-1R	1.75	1.25	2.19										
67-WP-39				M3-1	2.00	1.00	2.00										
67-WP-40	/157+15	RT	115 67	M1-4	2.00	2.00	4.00					17.00					
67-WP-42	457115		0307	M1-I100	2.50	2.00	5.00					17.00					ļ!
67-WP-64				M4-I100	2.00	1.00	2.00										'
67-WP-43	457+63	LT	US 67	D1-2	10.00	4.50			45.00			18.50	18.50				ļ!
67-WP-44	458+15	RT	US 67	D2-2	13.50	4.50			60.75			18.00	19.00				'
67-WP-45				M3-3	2.00	1.00	2.00										
67-WP-46				M1-I100	2.50	2.00	5.00										ļ!
67-WP-47	459+12	і т	LIS 67	M5-1R	1.75	1.25	2.19					18.00					ļ!
67-WP-70			0007	M1-I100	2.50	2.00	5.00					10.00					ļ'
67-WP-71				M4-I100	2.00	1.00	2.00										ļ'
67-WP-72				M5-1R	1.75	1.25	2.19										ļ'
67-WP-48	461+01	RT	US 67	R6-1R	4.50	1.50	6.75					15.50					ļ'
67-WP-49	4			M2-1	1.75	1.25	2.19										ا ــــــــــــــــــــــــــــــــــــ
67-WP-50	461+11		US 67	M1-I100	2.50	2.00	5.00					17.00					ا ــــــــــــــــــــــــــــــــــــ
67-WP-74	_			M1-I100	2.50	2.00	5.00										ا ــــــــــــــــــــــــــــــــــــ
67-WP-75				M4-I100	2.00	1.00	2.00										<mark>ا</mark> ا
67-WP-51	461+28	RT	US 67	R6-1R	4.50	1.50	6.75					18.00					
67-WP-52				R1-1	2.50	2.50	6.25										<u> </u>

USER NAME = Lin21	DESIGNED -	RC	REVISED -			SIGNING SCHI
	DRAWN -	RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED -	ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PL
PLOT DATE = 1/29/2015	DATE -	1/2015	REVISED -		SCALE: NONE	SHEET NO. 5 OF 10 SHEETS

00100			73400100	X7330064
STEEL SIGN		STRUCT STEEL		
EAKAWAY	WEIGHT	SIGN SUPPORT	CONCRETE	SIGN SUPPORT
POST 2	PER FOOT	BREAKAWAY	FOUNDATIONS	SPECIAL
(FOOT)	(POUND)	(POUND)	(CU YD)	(EACH)

EDULE			F.A.P RTE.	SEC	TION		COUNTY	TOTAL SHEETS	SHEET NO.
1	NNG		407	55[3(PV,HB(2-6);B,B-1,B-2)]		3-2)]	MCDONOUGH	874	344
-4115						CONTRACT	NO. 68E	344	
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS				

							72000100	72000200	72000300	7280	00100	7300	00100	73100100			72
										TELESCOP	ING STEEL	woo	DSIGN	BASE FOR			STRUCTURA
		SIG	IN SCHEDULE				SIGN PANEL	SIGN PANEL	SIGN PANEL	SIGN SI	UPPORT	SUP	PORT	TELESCOPING STEEL	STEEL POST	STUB POST	SUPPORT - B
					SIGN	AREA	TYPE 1	TYPE 2	TYPE 3	POST 1	POST 2	POST 1	POST 2	SIGN SUPPORT	SIZE	LENGTH	POST 1
SIGN NO.	STATION	OFFSET	ALIGNMENT	LEGEND/DESCRIPTION	WIDTH (FT)	HEIGHT (FT)	(SQ FT)	(SQ FT)	(SQ FT)	(FOOT)	(FOOT)	(FOOT)	(FOOT)	(EACH)		(FOOT)	(FOOT)
950-WP-01	2007.21	рт		W2-2R	2.50	2.50	6.25					12 50					1
950-WP-02	2997+21	RI	CO. ROAD. 950	W16-8P	2.00	0.67	1.33					13.50					
950-WP-03	3002+46	LT	CO. ROAD. 950	W14-3	4.00	3.00	6.00					13.50					
950-WP-04	3013+54	ит 🗌		W2-2L	2.50	2.50	6.25					13 50					
950-WP-05	5015154		CO. NOAD. 550	W16-8P	2.00	0.67	1.33					15.50					
950-WP-06	3021+51	RT	CO. ROAD. 950	W14-3	4.00	3.00	6.00					13.50					
C20-WP-01	5000+80	LT	CO. HWY. 20	W14-3	4.00	3.00	6.00					14.50					l
C20-WP-02	5001+01	LT	CO. HWY. 20	R1-1	2.50	2.50	6.25					14.00					
C20-WP-03	5020+55	RT	CO. HWY. 20	W14-3	4.00	3.00	6.00					16.50					
FRT-WP-01	10837+99	LT	FRONTAGE RD.	R1-1	2.50	2.50	6.25					15.50					
RBA-WP-01	323+50	RT	RAMP A	W13-3	3.00	4.00		12.00				17.50			-		I
RDC-WP-01	203+01	RT	RAMP D	W13-2	3.00	4.00		12.00				17.50					
RDC-WP-02	206+00	RT	RAMP D	W1-2R	3.00	3.00	9.00					19.00					
RDC-WP-03	205.55	1.7		W13-1P	2.50	2.50	6.25		20.00			10.00					
RDC-WP-04	206+65		RAMP D	E5-1	6.00	5.00		12.00	30.00			19.00					
RDC-WP-05	208+00			VV13-3	3.00	4.00		12.00				17.50					
RDC-WP-06	209+60			VV1-8R	3.00	4.00		12.00				14.50					
RDC-WP-07	211+20			VV1-0N	3.00	4.00		12.00				14.50					
RDC-WP-08	212+00			W1-0N	3.00	4.00		12.00				17.50					
RDC-WP-10	214100			M2-1	2.50	1.00	4 38	10.00				17.50					[]
RDC-WP-11	-			M1-4	3.00	3.00	9.00										[
RDC-WP-13	214+00	RT	RAMP D	M1-I100	3.75	3.00	5.00	11.25				19.50					[
RDC-WP-50	1			M4-I100	3.00	1.50	4.50										
RDC-WP-14	216+00	LT	RAMP D	R5-1a	3.50	2.50	8.75					16.50					
RDC-WP-15				M3-1	3.00	1.50	4.50										
RDC-WP-16	1			M1-4	3.00	3.00	9.00										
RDC-WP-17	1 216.00			M5-1L	2.50	1.75	4.38					20 50					
RDC-WP-19	210+00	KI	KAIVIP D	M1-I100	3.75	3.00		11.25				20.50					
RDC-WP-20				M5-1L	2.50	1.75	4.38										
RDC-WP-51				M4-I100	3.00	1.50	4.50										
RDC-WP-21				M3-3	3.00	1.50	4.50										
RDC-WP-22	216+00	RT	RAMP D	M1-4	3.00	3.00	9.00					20.50					
RDC-WP-23				M5-1R	2.50	1.75	4.38					20.00					
RDC-WP-27				R5-1a	3.50	2.50	8.75										ļ
RDC-WP-28	218+00	RT	RAMP D	D1-2	10.50	4.50			47.25			18.00	18.50				l
RDC-WP-29	-			M3-1	3.00	1.50	4.50										
RDC-WP-30	-			M1-4	3.00	3.00	9.00										
RDC-WP-31	219+09	RT	RAMP D	M6-1L	2.50	1.75	4.38					21.00					
RDC-WP-33	-			M1-I100	3.75	3.00	4.20	11.25									
KDC-WP-34	-			IVI6-1L	2.50	1.75	4.38										
RDC-WP-52				M4-1100	3.00	1.50	4.50										1

USER NAME = Lin21 DESIGNED - RC REVISED SIGNING SCHE STATE OF ILLINOIS DRAWN - RC REVISED SIGNING PL
 CHECKED
 ST

 DATE
 1/2015
 PLOT SCALE = 1:100 REVISED DEPARTMENT OF TRANSPORTATION PLOT DATE = 1/29/2015 REVISED SCALE: NONE SHEET NO. 6 OF 10 SHEETS

00100			73400100	X7330064
STEEL SIGN		STRUCT STEEL		
EAKAWAY	WEIGHT	SIGN SUPPORT	CONCRETE	SIGN SUPPORT
POST 2	PER FOOT	BREAKAWAY	FOUNDATIONS	SPECIAL
(FOOT)	(POUND)	(POUND)	(CU YD)	(EACH)

EDULE		F.A.P RTE.	SECT	FION		COUNTY	TOTAL SHEETS	SHEET NO.	
1	ANG		407	55[3(PV,HB(2-	6);B,B-1,B-2	2)]	MCDONOUGH	874	345
	1110						CONTRACT I	NO. 68E	344
	STA.	TO STA.	FED. RO	AD DIST. NO. 4	ILLINOIS				

							72000100	72000200	72000300	7280	0100	7300	0100	73100100			7	12
							,2000100	/2000200	12000000	TELESCOP	ING STEEL	wool		BASE FOR				Δ
		SIG	SN SCHEDULE				SIGN PANEL	SIGN PANEL	SIGN PANEL		IPPORT	SUP	PORT	TELESCOPING STEEL	STEEL POST		SUPPORT -	B
					SIGN	AREA	TVPE 1	TYPE 2	TYPE 3	POST 1		POST 1			SIZE	LENGTH	POST 1	٦
	STATION	OFFSET	AUGNMENT	LEGEND/DESCRIPTION	WIDTH (FT)		(SO ET)	(SO ET)	(SO ET)	(FOOT)	(FOOT)	(FOOT)	(FOOT)	(FACH)	JIZE	(FOOT)	(FOOT)	-
BDC-WP-35	JIANON	UNUE		M3-3	3.00	1 50	4 50	(5211)	(5211)	(1001)	(1001)	(1001)	(1001)			(1001)	(1001)	-
RDC-WP-36	219+09	RT	RAMP D	M1-4	3.00	3.00	9.00					20.50					-	-
RDC-WP-37	-			M6-1R	2.50	1.75	4.38											-
RDC-WP-41				R1-1	3.00	3.00	9.00											-
RDC-WP-42	219+75	RT	RAMP D	R5-1	3.00	3.00	9.00					16.50						1
RDC-WP-43				R6-1L	4.50	1.50	6.75											-
RDC-WP-44				R6-1R	4.50	1.50	6.75					1						1
RDC-WP-45	219+95	RI	RAIMP D	R1-1	3.00	3.00	9.00					16.50						
RDC-WP-46	1			R5-1	3.00	3.00	9.00											
RDC-WP-47				R6-1L	4.50	1.50	6.75											
RDC-WP-48	219+96	LT	RAMP D	R6-1R	4.50	1.50	6.75					18.50						
RDC-WP-49				R5-1	3.00	3.00	9.00]						
RK-WP-19	100+48	LT	RAMP K	R5-1	4.00	4.00		16.00										
RK-WP-15	100+60	LT	RAMP K	R4-7	4.00	5.00		20.00				18.00						
RK-WP-16	100+64	LT	RAMP K	R5-1	4.00	4.00		16.00				17.00						
RK-WP-17	100+95	IT		R6-1L	4.50	1.50	6.75											
RK-WP-18	100+03		NAME K	R6-1R	4.50	1.50	6.75											
RK-WP-01	103+00	RT	RAMP K	W13-3	3.00	4.00		12.00				17.50						
RK-WP-02	109+20	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50						
RK-WP-03	110+00	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	
RK-WP-04	110+80	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	_
RK-WP-05	111+60	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	
RK-WP-06	112+40	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	_
RK-WP-07	113+20	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	_
RK-WP-08	114+00	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	_
RK-WP-09	114+80	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	_
RK-WP-10	115+60	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	_
RK-WP-11	116+40	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	_
RK-WP-12	117+20	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50					L	_
RK-WP-13	118+00	LT	RAMP K	W1-8R	3.00	4.00		12.00				14.50						_
RK-WP-14	119+17	LT	RAMP K	W4-1	4.00	4.00		16.00				16.00						_
RL-WP-01	52+17	RT	RAMP L	W13-2	3.00	4.00		12.00				17.50						_
RL-WP-02	53+16	RT	RAMP L	W1-11	4.00	4.00		16.00				20.00					<u> </u>	_
RL-WP-03				W13-1P	2.50	2.50	6.25										<u> </u>	_
RL-WP-04	56+65	LT	RAMP L	E5-1	6.00	5.00			30.00			18.50					<u> </u>	
RL-WP-05	56+66	RT	RAMP L	W13-3	3.00	4.00		12.00				17.50					<u> </u>	_
RL-WP-06	60+92	LT	RAMP L	W1-8R	3.00	4.00		12.00				14.50					<u> </u>	_
RL-WP-07	61+73	LT	RAMP L	W1-8R	3.00	4.00		12.00				14.50					 	_
RL-WP-08	62+53	LT	RAMP L	W1-8R	3.00	4.00		12.00				14.50						

USER NAME = Lin21	DESIGNED - RC	REVISED -			
	DRAWN - RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION		
PLOT DATE = 1/29/2015	DATE - 1/2015	REVISED -		SCALE: NONE	SHEET NO. 7

00100			73400100	X7330064
STEEL SIGN		STRUCT STEEL		
EAKAWAY	WEIGHT	SIGN SUPPORT	CONCRETE	SIGN SUPPORT
POST 2	PER FOOT	BREAKAWAY	FOUNDATIONS	SPECIAL
(FOOT)	(POUND)	(POUND)	(CU YD)	(EACH)

	SIG	NIN	G SCHI	DULE		F.A.P RTE.	SECT	FION	COUNTY	TOTAL SHEETS	SHEET NO.
				407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	346		
	5								CONTRACT	NO. 68E	344
7	0F	10	SHEETS	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS			

							72000100	72000200	72000200	7200	0100	720	20100	72400400	1			700100			73400400	X7220054
							72000100	72000200	72000300	7280		/300		73100100	t r				[/3400100	X7330064
		SIG	GN SCHEDULE							TELESCOP		woo		BASE FOR			STRUCTURA	L STEEL SIGN	WEIGHT		CONCRETE	
							SIGN PANEL	SIGN PANEL	SIGN PANEL			SUP DOCT 1			STEEL POST	IUB POST	SUPPORT - E	BREAKAWAY	WEIGHI	SIGN SUPPORT	CONCRETE	SIGN SUPPORT
	CTATION	OFFEFT	ALICANATAIT				ITTPE I		ITPE 3	POST1	POST Z	(FOOT)	POST Z		SIZE	LENGTH	POST 1	POST 2		BREAKAWAY	FOUNDATIONS	SPECIAL (FACU)
SIGN NO.	STATION	OFFSEI	ALIGNIVIENT	LEGEND/DESCRIPTION	WIDTH (FT)	HEIGHT (FT)	(SQ FI)	(SQFI)	(SQFI)	(FOOT)	(FOOT)	(FOOT)	(FOOT)	(EACH)		(FOOT)	(FOOT)	(FOOT)	(POUND)	(POUND)		(EACH)
RL-WP-09	63+33		RAIMP L	W1-8R	3.00	4.00		12.00				14.50									<u> </u>	
RL-WP-10	64+13		RAMP L	W1-8R	3.00	4.00		12.00				14.50									<u> </u>	
RL-WP-11	64+93		RAMP L	W1-8R	3.00	4.00		12.00				14.50									<u> </u>	+
RL-WP-12	65+00	KI LT	RAMP L	W3-1	4.00	4.00		16.00				18.00									<u> </u>	
RL-WP-13	65+73		RAMP L	W1-8R	3.00	4.00		12.00				14.00									<u> </u>	
RL-WP-14	66+53	LI	RAIVIP L	W1-8R	3.00	4.00	4.30	12.00				14.50									<u> </u>	
RL-WP-15	67+00	RT	RAMP L	M2-1	2.50	1.75	4.38	44.25				18.50									<u> </u>	-
RL-WP-16				M1-4	3.75	3.00	4.50	11.25													<u> </u>	+
RL-WP-17	_			M3-4	3.00	1.50	4.50	44.25				-									<u> </u>	
RL-WP-18	_			M1-4	3.75	3.00	4.30	11.25				-									<u> </u>	
RL-WP-19		пт	DAMP	M5-1L	2.50	1.75	4.38					20.00									<u> </u>	-
RL-WP-20	- 69+10	кі	KAIVIP L	IVI3-2	3.00	1.50	4.50	44.25				20.00									<u> </u>	
RL-WP-21	_			IVI1-4	3.75	3.00	4.30	11.25				-									<u> </u>	
RL-WP-22	_			M5-1R	2.50	1.75	4.38					-									<u> </u>	
RL-WP-26	CO: 10	17	DAMO	R5-1a	3.50	2.50	8.75					16.50									<u> </u>	
RL-WP-27	59+10		RAIVIP L	K5-1a	3.50	2.50	8.75		40.50			16.50	10.50								<u> </u>	+
RL-WP-28	/1+00	KI	RAIVIP L	D1-2	11.00	4.50	4.50		49.50			18.00	18.50								<u> </u>	+
RL-WP-29	_			IVI3-4	3.00	1.50	4.50	11.25				-									<u> </u>	+
RL-WP-SU	_			NAC 11	3.75	3.00	4 29	11.25				-									<u> </u>	+
RL-WP-SI	72+00	RT	RAMP L	IVIO-1L	2.30	1.75	4.50					20.00									<u> </u>	+
RL-WP-32	-			N13-2	3.00	1.50	4.50	11.25				-									<u> </u>	
RL-WP-33	_			M6 1D	3.75	1.75	1 20	11.25				-									<u> </u>	+
					2.50	1.73	4.30														<u> </u>	+
	73±00	рт	PAMD I	P6 10	4.50	1.50	6.75					18.00									<u> </u>	+
	/3+00	N1		D1 1	4.50	1.50	0.75	16.00				10.00									<u> </u>	+
	72+09	рт	PAMD I	P4 7	4.00	4.00 F 00		20.00				16.00									<u> </u>	+
	73+00	DT		P5 1	4.00	1.00		16.00				16.50									<u> </u>	+
	73+12	NI		P6 11	4.00	1.50	6 75	10.00				10.50									<u> </u>	
RL-WF-40	-			R6-1R	4.50	1.50	6.75					4	<u> </u>								<u> </u>	+
RL-WF-41 PL W/D 42	73+18	CL	RAMP L	D1 1	4.30	1.50	0.75	16.00				17.50									<u> </u>	
PL_W/P_42	-			P5-1	4.00	4.00		16.00				1									<u> </u>	+
RL-WF-45	72+8/	IT	RAMD I	R5-1	4.00	4.00		16.00				16.00									<u> </u>	+
NL=VVF=44	/2+04	L1			4.00	4.00	958.00	1205 50	1232 50	120	I	10.00	86.00	1			1		I	5011 20	11.26	1
			10				556.00	1 1203.30	1232.30	1 130	5.00	1 2/3	0.00	1 1	1					1 3011.20	11.20	4

USER NAME = Lin21	DESIGNED - RC	REVISED -			SIGNING SCHEF
	DRAWN - RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PLA
PLOT DATE = 1/29/2015	DATE - 1/2015	REVISED -		SCALE: NONE	SHEET NO. 8 OF 10 SHEETS

EDULE			F.A.P RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
			407	55[3(PV,HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	347
-	1110					CONTRACT	NO. 68E	344
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS			

				72400100	72400200	72400310	72400320
	SIG		IIIE	REMOVE SIGN PANEL	REMOVE SIGN PANEL	REMOVE SIGN PANEL -	RELOCATE SIGN PANEL -
	510	IN REINOVAE SCRED	OLL		ASSEMBLY - TYPE B	TVPF 1	TYPE 2
STATION	OFFSET	ALIGNMENT	LEGEND/DESCRIPTION	(FACH)	(FACH)	(SO ET)	(SO FT)
5001+07			R1-1	1	(LACH)	(30(11)	(30(1))
5001+18	RT	CO HW/X 20	D3-1 D3-1	1			
5012+45	RT	CO HWY 20	W14-3	1			
5027+68	1T	CO HW/X 20	W14-3	1			
6006+50	RT	CO ROAD 1100	R1_1	1			
6007+86		CO. ROAD 1100	P1 1	1			
533+00	DT DT	U 336	W/Q 11	1			
533+00	PT	11 226	W9-1L	1			
527:00		IL 330	W/4 2P	1			
537+00		IL 330	W4-2K	1			
557+00		IL 330	004-2N	1			
540+50		IL 330	R11-1100	1	1		
579+65		IL 336	R11-1100/01/4-3		1		
579+65	KI	IL 336	R11-1100/01/4-3		1		
587+12		IL 336	R11-1100/01/4-3		1		
587+12	KI DT	IL 336	R11-I100/OIM4-3		1		
633+38	KI LT	IL 336	R11-I100/OIM4-3		1		
633+56		IL 336	R11-I100/OIM4-3		1		
634+70	RT	IL 336	R11-I100/OM4-3		1		
634+87	LT	IL 336	R11-I100/OM4-3		1		
679+85	LT	IL 336	R11-I100/OM4-3		1		
680+32	RT	IL 336	R11-I100/OM4-3		1		
682+09	LT	IL 336	R11-I100/OM4-3		1		
682+62	RT	IL 336	R11-I100/OM4-3		1		
702+05	LT	IL 336	R11-I100/OM4-3		1		
702+05	RT	IL 336	R11-I100/OM4-3		1		
703+38	LT	IL 336	R11-I100/OM4-3		1		
703+38	RT	IL 336	R11-I100/OM4-3		1		
728+74	RT	IL 336	R11-I100/OM4-3		1		
729+22	LT	IL 336	R11-I100/OM4-3		1		
734+31	LT	IL 336	R11-I100/OM4-3		1		
734+31	RT	IL 336	R11-I100/OM4-3		1		
778+74	RT	IL 336	R11-I100/OM4-3		1		
779+24	LT	IL 336	R11-I100/OM4-3		1		
780+26	RT	IL 336	R11-I100/OM4-3		1		
780+76	LT	IL 336	R11-I100/OM4-3		1		
801+24	LT	IL 336	R11-I100/OM4-3		1		
802+18	RT	IL 336	R11-I100/OM4-3		1		
803+79	LT	IL 336	R11-I100/OM4-3		1		
804+83	RT	IL 336	R11-I100/OM4-3		1		
840+24	LT	IL 336	R11-I100/OM4-3		1		
840+24	RT	IL 336	R11-I100/OM4-3		1		
841+76	LT	IL 336	R11-I100/OM4-3		1		
841+76	RT	IL 336	R11-I100/OM4-3		1		
894+49	LT	IL 336	R11-I100/OM4-3		1		
894+49	RT	IL 336	R11-I100/OM4-3		1		
3012+30	LT	950E	W1-7	1			
3012+48	RT	950E	R1-1	1			

	SIG	N REMOVAL SCHED	ULE	72400100 REMOVE SIGN PANEL ASSEMBLY - TYPE A	72400200 REMOVE SIGN PANEL ASSEMBLY - TYPE B	72400310 REMOVE SIGN PANEL - TYPE 1	72400320 RELOCATE SIGN PANEL - TYPE 2
STATION	OFFSET	ALIGNMENT	LEGEND/DESCRIPTION	(EACH)	(EACH)	(SQ FT)	(SQ FT)
323+00	LT	RAMP A	R11-I100/OM4-3		1		
218+50	LT	RAMP D	R11-I100/OM4-3		1		
101+44	CL	RAMP K	OM4-1	1			
101+44	CL	RAMP K	OM4-1	1			
503+00	RT	US 136	OM4-1	1			
503+00	RT	US 136	OM4-1	1			
521+00	RT	US 136	R3-1	1			
524+00	LT	US 136	R3-2	1			
526+26	LT	US 136	M5-1L			2.19	
433+77	CL	US 67	R5-1	1			
433+79	RT	US 67	R6-1L,R5-1	1			
434+15	LT	US 67	R1-1	1			
434+54	LT	US 67	R6-1L,R6-1R,R1-1,R6-3		1		
434+98	RT	US 67	R6-1L,R6-1R,R1-1,R6-3		1		
435+28	RT	US 67	R1-1	1			
435+77	LT	US 67	R6-1L,R5-1	1			
435+79	CL	US 67	R5-1	1			
439+50	LT	US 67	D7-2		1		13.75
442+18	LT	US 67	W2-1,W16-8P	1			
452+02	RT	US 67	R6-1L,R5-1	1			
452+03	CL	US 67	R5-1	1			
453+19	RT	US 67	R6-1L,R6-1R,R1-1,R6-3		1		
453+92	CL	US 67	R5-1	1			
453+93	LT	US 67	R6-1L,R5-1	1			
		TOTAL		30	40	2.19	13.75

c,	
heets\D468418-sht-details_sign25.dg	
E-VIØØ6/Plan	

USER NAME = Lin21	DESIGNED - RC	REVISED -			SIGNING SCHE
	DRAWN - RC	REVISED -	STATE OF ILLINOIS		
PLOT SCALE = 1:100	CHECKED - ST	REVISED -	DEPARTMENT OF TRANSPORTATION		SIGNING PLA
PLOT DATE = 1/29/2015	DATE - 1/2015	REVISED -		SCALE: NONE	SHEET NO. 9 OF 10 SHEETS

EDULE				SECTION	COUNTY	TOTAL SHEETS	SHEET NO.			
ANC			407	55[3(PV,HB(2-6);B,B-1,B-2)]	MCDONOUGH	874	348			
					CONTRACT	NO. 68E	44			
	STA.	TO STA.	FED. RO	FED. ROAD DIST. NO. 4 ILLINOIS						

NUMBER	STAJION		A	B	C *	D * *
336-BS-03	530+04	RT	14.5	6.5	5	41.0
336-BS-04	543+45	RT	13.0	13.0	5	50.0
336-BS-07	570+03	LT	13.0	13.0	5	35.0
336-BS-13	595+44	LT	14.5	6.5	5	35.0
336-BS-39	877+83	RT	14.0	13.5	5	48.5

- C * (A) For signs less than 30'(9.1m) from edge of pavement, the bottom edge of Elevation at edge of pavement.
 - elevation at edge of pavement.
 - vehicle to reach the post.
- or more off the edge of pavement.

cost savings.

_	D
С	C = 5′ (1.5m) min for D <u>></u> 30′ (9.1m) C = 7′ (2.1m) min for D < 30′ (9.1m)

L₁ is always the post nearest to the edge of pavement. (See Sign Structures Manual)

7' (2.1m) min. between top of stud post & fuse plate. May be reduced to 5' (1.5m) when D = 30' (9.1m) & the slope is 1:2 or steeper or where it would be unlikely for an out of control vehicle to reach the post.

All post sizes and support lengths shown on plans shall be verified in field prior to construction.

All post sizes will be verified by the I.D.O.T. Shoulder Mounted Sign Post Stress Analysis (See Special Provisions).

Sign shall be set level at an elevation of at least 7'(2.1m) above grade

(B) For signs 30'(9.1m) and greater from edge of pavement, the bottom edge of sign shall be set level at an elevation of at least 5'(1.5m) above grade

(C) For signs on rising embankmentslopes, the bottom edge of the sign shall be set so as to obtain at least 7'(2.1 m) between the top of the stub post and the slot at the fuse plate on the far post. This may be reduced to 5'(1.5m)when the distance from the edge of pavement is 30'(9.1m) or greater and the slope is 1:2 or steeper or where it would be unlikely for an out of control

D ** All signs will be placed 35'(10.7m) or more off of main line wherever possible, except when placed behind guardrail. Signs on ramps will be placed 18'(5.5m)

In general, the location of shoulder mounted signs may vary in order to take advantage of flatter cross sections which can result in considerable



All slope ratios are expressed as units of vertical displacement to units of horizonal displacement (V:H).

All dimensions are in inches (millimeters) unless otherwise noted.

EDULE				SECTION	COUNTY	TOTAL SHEETS	SHEET NO.				
ANC			407	55[3(PV,HB(2-6);B,B-1,B-2)]	MCDONOUGH	874	349				
	ANS				CONTRACT I	NO. 68E	344				
	STA.	TO STA.	FED. RC	FED. ROAD DIST. NO. 4 ILLINOIS							



USER NAME = Lin21 DESIGNED REVISED BREAK-AWAY WI STATE OF ILLINOIS DRAWN REVISED STEEL SIGN POS PLOT SCALE = 1:2 CHECKED REVISED **DEPARTMENT OF TRANSPORTATION** SCALE: NONE SHEET NO. 1 OF 2 SHEETS PLOT DATE = 1/22/2015 DATE - 1/2015 REVISED

	2)						
D	E FLANGE		F.A.P RTE	SECTION	COUNTY	TOTAL SHEETS	SHEET NO.
				55[3(PV,HB(2-6);B,B-1,B-2)]	MCDONOUGH	874	350
I DETAILS					CONTRACT	NO. 68E	44
	STA.	TO STA.	FED. RC	AD DIST. NO. 4 ILLINOIS			

			CONCF	RETE FOUNDAT	ION TABL	E				POS	ST TO	STUB	POST (CONNEC	TION L	DATA			FUS	SE PLA	ATE DA	4TA
POST		Foundation		Re	einforceme	nt		Stub Post														
1031	Diameter	* Minimum Depth	Concrete () cu. yds.)	Vertical Bars Length	Bar S Diameter	pirals Length	lbs. (2)	Length	Bolt Size	A	В	С	D	Ε	<i>†</i> 1	†2	R	W	J	K	L	<i>†</i> 3
W6x9	2'-0"	6'-0"	0.70	5′-9″	1'-8'2"	79′-0″	78	2'-3"	⁵ 8" x 3 ¹ 4"	6"	24"	14"	3'2"	14"	3 ₄ "	12"	"32 "	1 ₄ "	4"	24"	7 ₈ "	1_" 4
W6x15	2'-0"	6'-0"	0.70	5′-9″	1'-8'2"	79′-0″	78	2'-6"	⁵ 8" x 3 ¹ 4"	6"	24"	14"	3'2"	14"	3 ₄ "	2"	"32 "	4"	6"	3'2"	14"	3 ₈ "
W8x18	2'-0"	6'-0"	0.70	5′-9"	1'-8'2"	79′-0″	78	2'-6"	³ ₄ " x 3 ³ ₄ "	6"	2'2"	138"	34"	138"	1"	2"	1332 "	⁵ 16 "	54"	234"	14"	3 ₈ "
W10x22	2'-6"	6'-6"	1.18	6′-3″	2'-2'2"	105′-0″	92	3'-0"	³ ₄ " x 3 ³ ₄ "	6"	21/2"	138"	34"	138"	1"	2"	1332 "	⁵ 16 "	5 ³ 4"	234"	1'2"	2"
W10x26	2'-6"	7′-0″	1.27	6′-9″	2'-2'2"	112'-0"	98	3'-0"	⁷ 8" x 4"	7"	234"	1'2"	4"	l_{2}^{\prime} "	1"	34"	¹⁵ 32 "	3 ₈ "	5 ³ 4"	234"	1_{2}^{\prime} "	⁵ 8"
W12x26	2'-6"	7′-9″	1.41	7′-6″	2'-2'2"	119′-0″	107	3′-0″	⁷ 8" x 4"	7"	234"	1'2"	4"	12"	1"	34"	¹⁵ 32 "	3 ₈ "	6'2"	3'2"	12"	5 ₈ "
W14x30	3'-0"	7′-3″	1.90	7'-0"	2'-8'2"	145′-0″	113	3'-0"	⁷ 8" x 4"	7"	234"	1'2"	4"	1'2"	1"	3 ₄ "	¹⁵ 32 "	3 ₈ "	6 ³ 4"	3'2"	1 ⁵ 8″	2"
W14x38	3'-0"	8'-0"	2.09	7′-9″	2'-8'2"	153'-0"	122	3′-6″	1" x 4 ¹ ₂ "	7'2"	3"	134"	4"	134"	14"	34"	1732 "	3 ₈ "	6 ³ 4"	3'2"	1 ⁵ 8″	2"
W16x45	3'-0"	8'-6"	2.23	8'-3"	2'-8'2"	162'-0"	130	3′-6″	1" x 4 ¹ 2"	71/2"	3"	134"	4"	134"	14"	34"	17 "	3 ₈ "	7"	3'2"	134"	2"

*Dimensional changes required for varying site conditions shall be approved by the Engineer.

										FUS	SE PLATE	BOLT SIZ	Έ								
DOCT											Sign	Height									
FUST	4'-0"	5′-0"	6′-0″	7'-0"	8'-0"	9'-0"	10'-0"	11'-0"	12′-0″	13'-0"	14′-0″	15′-0″	16′-0″	17'-0''	18'-0''	19'-0''	20'-0''	21'-0''	22'-0''	23'-0''	24'-0''
W6x9	12" x 112"	l ₂ " x 1l ₂ "	'2" x 1'2"	¹ 2" x 1 ¹ 2"																	
W6x15	12" x 1 ³ 4"	¹ 2" x 1 ³ 4"	¹ 2" x 1 ³ 4"	⁵ 8" x 2"	⁵ 8" x 2"	³ 4" x 2"	3 ₄ " x 2"	3 ₄ " x 2"	³ 4" x 2"												
W8x18	12" x 1 ³ 4"	¹ 2" x 1 ³ 4"	¹ 2" x 1 ³ 4"	12" x 1 ³ 4"	⁵ 8" x 2"	⁵ 8" x 2"	3 ₄ " x 2"	³ 4" x 2"	³ 4" x 2"	3 ₄ " x 2"											
W10x22	1 ₂ " x 2"	¹ 2" x 2"	¹ 2" x 2"	¹ 2" x 2"	1 ₂ " x 2"	⁵ 8" x 2"	⁵ 8" x 2"	³ 4" x 2'4"	' ³ 4" x 2'4"	³ 4" x 2 ¹ 4"	³ 4" x 2'4"	³ 4" x 2 ¹ 4"	³ 4" x 2 ¹ 4"								
W10x26	1 ₂ " x 2"	¹ 2" x 2"	1 ₂ " x 2"	1 ₂ " x 2"	¹ 2" x 2"	⁵ 8" x 2 ¹ 4"	⁵ 8" x 2 ¹ 4"	³ 4" x 2 ¹ 2"	" ³ 4" x 2 ¹ 2"	³ ₄ " x 2 ¹ ₂ "	3 ₄ " x 2 ¹ 2"	³ 4" x 2 ¹ 2"	³ 4" x 2 ¹ 2"	³ 4" x 2 ¹ 2"							
W12x26	1 ₂ " x 2"	′2″ x 2″	1 ₂ " x 2"	1 ₂ " x 2"	¹ 2" x 2"	⁵ 8" x 2 ¹ 4"	⁵ 8" x 2 ¹ 4"	3 ₄ " x 2 ¹ 2"	" ³ 4" x 2 ¹ 2"	³ 4" x 2 ¹ 2"	³ 4" x 2 ¹ 2"	3 ₄ " x 2 ¹ 2"	³ 4" x 2 ¹ 2"	³ 4" x 2 ¹ 2"	³ 4" x 2 ¹ 2"						
W14x30	1 ₂ " x 2"	′2" x 2"	1 ₂ " x 2"	1 ₂ " x 2"	¹ 2" x 2"	⁵ 8" x 2"	⁵ 8" x 2"	³ 4" x 2 ¹ 4'	" ³ 4" x 2 ¹ 4"	³ 4" x 2 ¹ 4"	³ 4" x 2'4"	³ 4" x 2 ¹ 4"	³ 4" x 2 ¹ 4"	³ 4" x 2 ¹ 4"	³ 4" x 2 ¹ 4"	³ 4" x 2'4"	³ 4" x 2 ¹ 4"				
W14x38	¹ 2" x 2"	^l 2" x 2"	1 ₂ " x 2"	1 ₂ " x 2"	¹ 2" x 2"	58" x 2'4"	⁵ 8" x 2 ¹ 4"	³ 4" x 2 ¹ 2'	" ³ 4" x 2 ¹ 2"	³ ₄ " x 2 ¹ ₂ "	3 ₄ " x 2 ¹ 2"	⁷ 8" x 2 ¹ 2"	⁷ 8" x 2 ¹ 2"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"
W16x45		^l 2" x 2"	1 ₂ " x 2"	1 ₂ " x 2"	¹ 2" x 2"	¹ 2" x 2"	¹ 2" x 2"	⁵ 8" x 2 ¹ 4'	" ⁵ 8" x 2 ¹ 4"	⁵ 8" x 2 ¹ 4"	3 ₄ " x 2 ¹ 2"	³ 4" x 2 ¹ 2"	⁷ 8" x 2 ¹ 2"	⁷ 8" x 2 ¹ 2"	⁷ 8" x 2 ¹ 2"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"	1" x 2 ³ 4"



** For all "Point 1" and "Point 2" locations, "Clearance Line" must be at or above top of stub post.

BAW-A-2	6-1-12				(Sheet 2 of 2)		
	USER NAME = Lin21	DESIGNED -	REVISED -		BREAK-AWAY WIDE FLANGE	F.A.P SECTION	COUNTY TOTAL SHEET SHEETS NO.
	DRAWN - REVISED -		REVISED -	STATE OF ILLINOIS	CTEEL CICN DOCT TADLES	407 55[3(PV,HB(2-6);B,B-1,B-2)]	MCDONOUGH 874 351
	PLOT SCALE = 1:2	CHECKED -	REVISED -	DEPARTMENT OF TRANSPORTATION	SIEEL SIGN FUSI IADLES		CONTRACT NO. 68844
	PLOT DATE = 1/22/2015 DATE - 1/2015 REVISED -				SCALE: NONE SHEET NO. 2 OF 2 SHEETS STA. TO STA.	FED. ROAD DIST. NO. 4 ILLINOIS	•

1 Quantity includes all concrete necessary for one foundation.

 Includes reinforcement bars and spiral hooping for one foundation.

GENERAL NOTES

- I. ALL PROPOSED LIGHTING UNITS SHALL BE LABELED ACCORDING TO THE STANDARD SPECIFICATIONS. WITH POLE NUMBERS ATTACHED WITH STAINLESS STEEL BANDING. LICHTING UNIT NUMBERING SHALL BE AS DIRECTED BY THE ENGINEER.
- 2. CONTRACTOR SHALL BE RESPONSIBLE TO COORDINATE ELECTRICAL WORK WITH OTHER TRADES.
- 3. LIGHT POLE FOUNDATIONS SHALL BE INSTALLED PLUMB AND FLUSH WITH THE PROPOSED GRADE AND SHALL MEET THE HEIGHT REQUIREMENTS OF ARTICLE 836.03 OF THE STANDARD SPECIFICATIONS. AFTER UNIT DUCT IS INSTALLED, FOUNDATIONS SHALL BE FILLED WITH FINE AGGREGATE ACCORDING TO THE ARTICLE 836.03. WASHERS USED TO INSTALL THE POLE SHALL BE LARGE ENOUGH TO FULLY COVER THE SLOTTED HOLES IN THE POLE BASE PLATE.
- 4. CONTRACTOR SHALL INSTALL LIGHT POLES AT THE LOCATIONS INDICATED ON THE PLANS, MAINTAINING ADEQUATE CLEARANCE FROM UTILITY LINES. CONTRACTOR SHALL BE RESPONSIBLE TO VERIFY CLEARANCES PER THE NATIONAL ELECTRICAL SAFETY CODE AND/OR THE REQUIREMENTS OF THE UTILITY COMPANIES. THE CONTRACTOR SHALL NOTIFY THE ENGINEER OF ALL CONFLICTS BETWEEN PROPOSED LIGHTING POLE LOCATIONS AND UTILITY LINES. THE LOCATION OF BURIED AND ABOVE GROUND UTILITIES SHOWN ARE APPROXIMATE AND ARE SHOWN FOR INFORMATION ONLY. REPOUTING, DISCONNECTION, RELOCATION, PROTECTION ETC., OF ANY UTILITIES MUST BE COORDINATED BETWEEN THE CONTRACTOR, UTILITY COMPANY, AND OWNER, THE CONTRACTOR SHALL VERIFY THE EXACT LOCATION OF ALL UNDERGROUND UTILITIES PRIOR TO CONSTRUCTION.
- 5. THE CONTRACTOR IS RESPONSIBLE FOR UNCOVERING OR HAND DIGGING AROUND UTILITIES AS NECESSARY. THE COST OF THIS WORK IS TO BE INCLUDED WITH THE APPLICABLE UNIT DUCT OR UNDERGROUND CONDUIT PAY ITEM.
- UNDERGROUND COILABLE NONMETALLIC CONDUIT SHALL BE SCHEDULE 80 AS NOTED 6. IN THE PLANS.
- 7. THE CONTRACTOR SHALL FURNISH AND INSTALL & CONCRETE WORK PAD IN FRONT OF THE LIGHTING CONTROLLER PER SECTION 825 OF THE STANDARD SPECIFICATIONS.
- 8. NO POLE TO BE INSTALLED IN THE FLOWLINE OF DITCH. POLE SETBACK TO BE INCREASED IF NECESSARY AS DIRECTED BY THE ENGINEER.
- 9. THE CONTRACTOR SHALL INSTALL MULTI-MOUNT LUMINAIRES WITH OPTICS SET PERPENDICULAR TO THE CENTERLINE OF THE ROADWAY.
- 10. BREAKAWAY COUPLINGS SHALL NOT BE INSTALLED ON THE LIGHT POLES MOUNTED ON THE BRIDGE PARAPET WALL OR LOCATED BEHIND GUARDRAIL.
- 11. EXISTING BREAKAWAY COUPLINGS SHALL NOT BE RE-USED.
- 12. LEVELING PLATES FOR BRIDGE MOUNTED LIGHT POLES SHALL BE ACCORDING TO THE PLANS AND SHALL BE GALVANIZED STEEL.
- 13. UNIT DUCT SHALL BE SCHEDULE 40.

TEMPORARY LIGHTING NOTES

- POLE HEIGHT SHALL BE INCREASED AS NECESSARY TO MAINTAIN REQUIRED 1. CLEARANCE OF AERIAL CABLE OVER THE ROADWAY.
- 2. GUYS AND ANCHORS ARE SHOWN AS AN EXAMPLE AND SHALL BE INSTALLED AS NECESSARY TO THE SATISFACTION OF THE ENGINEER.
- TEMPORARY WOOD POLES SHALL BE SET BACK A MINIMUM OF 30 FEET FROM EXISTING 3. EDGE OF PAVEMENT AND OUTSIDE THE CLEAR ZONE OR 5 FEET BEHIND GUARDRAIL.
- ALL TEMPORARY LUMINAIRES AT THE CROSSOVERS SHALL BE TILTED TEN DEGREES 4. UP FROM THE STANDARD TILT OF 45 DEGREES.
- THE TEMPORARY LIGHTING SYSTEM SHALL REMAIN IN PLACE UPON COMPLETION 5. OF THE PROJECT.

~ ~	PROPOSED ELI
	PROPOSED LIC
	PROPOSED UN 3" DIA., SCH
	PROPOSED UN 3/4" DIA, PO
— L —	PROPOSED ELI 600V (XLP-TY
••	PROPOSED LIC 250W HPS MU
••	PROPOSED LIC WITH 2-250W
$\sim \sim$	PROPOSED LIC

LEGEND

— -🖵-

 \boxtimes

 \bigcirc

 $\mathcal{A}_{\mathbf{F}}$

۵-----

CHT POLE, GALVANIZED STEEL, 40 FT. M.H., TENON MOUNT WITH 250W HPS MULTI-MOUNT LUMINAIRE, MOUNTED TO BRIDGE PARAPET WALL ON EXISTING FOUNDATION

RELOCATED LIGHTING UNIT

 $\mathbf{Z}_{\mathbf{p}}$

the second

						CIONTRIO OCIL					
LOCATION	ELECTRIC SERVICE INSTALLATION	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 3" DIA.	UNIT DUCT. 600V. 2-IC NO. 8 1/C NO. 8 GROUND, (XLP TYPE USE), 3/4" DIA. POLYETHYLENE	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 3-1/C NO.8	LUMINAIRE, SODIUM VAPOR, MULTI-MOUNT, 250 WATT	LIGHTING CONTROLLER, POLE MOUNTED, 480 VOLT, GOAMP	LIGHT POLE. GALVANIZED STEEL. 40 FT. M.H. TENON MOUNT	LIGHT POLE, CALVANIZED STEEL, 45 FT. M.H., TENON MOUNT	LIGHT POLE, GALVANIZED STEEL, 45 FT. M.H., TENON MOUNT-TWIN	LIGHT POLE FOUNDATION, 30" DIAMETER	BREAK TR/ BAS BO
	80400100	81028770	81603000	81702420	82103900	82500320	83060820	83060830	83060835	83600300	8
	EACH	FOOT	FOOT	FOOT	EACH	EACH	EACH	EACH	EACH	FOOT	
IL 336 & US 136	· 1	798	8747	540	31	1	3	28		195	
IL 336 & US 67	1	234	5738		27	1		23	2	163	
TOTAL	.2	1032	14485	540	58	2	3	SI	2	358	

LIGHTING SCHEDULE

LOCATION	REMOVAL OF POLE FOUNDATION	RELOCATE EXISTING LIGHTING UNIT	REMOVAL OF LIGHTING CONTROLLER	REMOVAL OF ELECTRIC SERVICE INSTALLATION	CONDIUT ATTACHED TO STRUCTURE. 2" DIA., STAINLESS STEEL	TEMPORARY LIGHTING SYSTEM
	84200804	84400105	84500110	84500120	X8110458	X8410102
	EACH	EACH	EACH	EACH	FOÓT	L SUM
IL 336 & US 136	2	2	1	1	40	
IL 336 & US 67	· · ·		1	1		
TOTAL	2	2	2	2	40	1

						REY.
 USER NAME + LIN21	DESIGNED - SEL	REVISED		FAP 407 (11 33641 110)	F.A.P SECTION	COUNTY TOTAL SHEET NO.
	DRAWN - SEL	REVISED -	STATE OF ILLINOIS	HOUTING CENEDAL MOTES & COUCHINE	407 55[3(PV.HB(2-6);B,B-1,B-2)]	MCDONOLICH 874 352
PLOT SCALE = 1/20	CHECKED - RC	REVISED .	DEPARTMENT OF TRANSPORTATION	LIUNTING ULIVENAL NUILS & SUNEDULE		CONTRACT NO. 68844
 PLOT DATE . + 1/22/2015	DATE - 1/2015	REVISED -		SCALE: NONE SHEET NO. 1 OF 9 SHEETS STA. TO STA.	FED. ROAD DIST. NO. 4 ILLINOIS	

LIGHTING SCHEDURE

ECTRIC SERVICE INSTALLATION, 240/480 VOLT, 1 PHASE, 4 WIRE

CHTING CONTROLLER, POLE MOUNTED, 480 VOLT, 60 AMP

DERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT (CNC), EDULE 80.

IT DUCT, 600V, 2-1C NO. 8, 1/C NO. 8 GROUND, (XLP-TYPE USE), LYETHYLENE

ECTRIC CABLE IN EXISTING CONDUIT EMBEDDED IN STRUCTURE, YPE USE: 3-1/C NO. 8

SHT POLE, GAUVANIZED STEEL, 45 FT. M.H., TENON MOUNT WITH LTI-MOUNT LUMINAIRE

GHT POLE, GALVANIZED STEEL, 45 FT. M.H., TWIN TENON MOUNT HPS MULTI-MOUNT LUMINAIRES

EXISTING ELECTRIC SERVICE INSTALLATION TO BE REMOVED

EXISTING LIGHTING CONTROLLER TO BE REMOVED

EXISTING JUNCTION BOX ATTACHED TO STRUCTURE

EXISTING LIGHTING UNIT TO REMAIN

EXISTING LIGHTING UNIT TO BE RELOCATED

TEMPORARY LIGHTING UNIT, 50 FT. WOOD POLE, CLASS 3, 250 WATT HPS MULTI-MOUNT LUMINAIRE

AERIAL CABLE, 2-1/C NO. 2 ALUMINUM WITH MESSENGER WIRE

ELECTRIC CABLE IN TRENCH, TRIPLEX 2-IC NO. %, 1/C NO. 2 GROUND, ALUMINUM

WAY DEVICE, NSFORMER 1, 15 INCH T CIRCLE
800205
EACH
28
25
53





					KEA.	•
110)		F.A.P. RIE	SECTION	COUNTY	JOTAL SHEETS	SHEET NO.
PLANS		407	55[3(PV,HB(2-6);B,8-1,6-2)]	MCDONOUGH	874	354
T CALLS				CONTRACT	NO. 688	344
TA, 519+00	TO STA. 534+00	FEO. RO	DAD DIST. NO. 4 ILLINOIS		******************	











- 1/2015

NOTES:

ALL NECESSARY REVISIONS TO THE WIRING SHOWN ON THIS SHEET SHALL BE MADE AT NO ADDITIONAL COST TO THE DEPARTMENT AND TO THE SATISFACTION OF THE ENGINEER.

\bigcirc	PROPOSED 250W ROADWAY LUMINAIRE
\bigcirc	EXISTING 250W ROADWAY LUMINAIRE
\bigcirc_{R}	RELOCATED 250W ROADWAY LUMINAIRE
	EXISTING JUNCTION BOX

6/IL 110)		F.A.P RTE.	SECTION		COUNTY	TOTAL SHEETS	SHEET NO.	
		407	55[3(PV,HB(2-6);B,B-1,B-2)]		MCDONOUGH	874	359	
					CONTRACT	NO. 68E	344	
	STA.	TO STA.	FED. RC	AD DIST. NO. 4	ILLINOIS			



GENERAL NOTES

Liquid tight flexible non-metallic conduit, including all fittings, bushings, and couplings, shall be included in the cost of the "CONDUIT ATTACHED TO STUCTURE, 2" DIA. STAINLESS STEEL" pay item.

The Contractor shall remove any existing galvanized steel conduit or elbows attached to or installed below the existing stainless steel junction boxes. Removed materials shall become the property of the Contractor and shall be disposed of off-site. The cost of this work shall be incuded in the "CONDUIT ATTACHED TO STRUCTURE, 2" DIA. STAINLESS STEEL" pay item.

All dim unless	ensions are in millimeters (inches) otherwise shown.
A	CONDUIT EXITING PARAPET ON PPROACH PAVEMENT
	LGT002B.DGN
0)	F.A.P SECTION COUNTY IOTAL SHEETS SHEET 407 55(3(PV,HB(2-6);B,B-1,B-2)) MCDONOUCH 874 360
TO STA.	CONTRACT NO. 68844



LOADING HL-93

Allow 50#/59. ft. for future weering surface.

DESIGN SPECIFICATIONS

2012 AASHTO LRFD Bridge Design Specifications 6th Edition with 2013 Interims

DESIGN STRESSES FIELD UNITS

1'c = 3,500 psi

fy = 60,000 psi (Reinforcement)

fy = 50,000 psi (Structural Steel M270 Grade 50W) t'c = 4,000 psi (Drilled Shaft)

SEISMIC DATA

Seismic Performance Zone (SPZ) = Design Spectral Acceleration at 1.0 Sec. (Spi) = 0.08g Design Spectral Acceleration at 0.2 Sec. (Sps) = 0.13g Soil Site Closs = C







Engineer of Bridges & Structures



GENERAL PLAN AND ELEVATION FAP ROUTE 407 OVER EAST FORK LAMOINE RIVER SECTION 55[3(PV:HB(2-6):B,B-1,B-2)] MCDONOUGH COUNTY STA 583+30.75 STRUCTURE NO. 055-0046

		· · · · · · · · · · · · · · · · · · ·			
ELEVATION	F.A.P. RTE.	SECTION	COUNTY	TOTAL SHEETS	SHEET NO.
EE 00/6	407	55[3(PV/HB(2-6)/8,8-1,8-2)]	NCDONOUCH	874	361
04040		SN 055-0046	CONTRACT	NO. 68	JB44
SHEETS	STA.	583+30,75 ILLINOIS FED. 41	D PROJECT		



STATE OF ILLINOIS CHECKED - ACB ASSOCIATES LLC STRUCTURE NO. LOT SCALE = 2.0000 '/ in. DRAWN RLK REVISED **DEPARTMENT OF TRANSPORTATION** 184-001397 PLOT DATE = 4/21/2015 SHEET NO. 2 OF CHECKED REVISED - JMB

	Unit	Super	Sub	Total
	Cu, Yd,		218	218
	Sq. Yd.		15709	15709
	Sq. Yd.		15709	15709
	Cu. Yd.		192	192
	Cu. Yd.		661.3	661.3
	Cu. Yd.	1029.3		1029,3
	Sq. Yd.	2989		2989
	Cu, Yd,		9.2	9.2
	Sq. Yd.	3724		3724
Steel	L. Sum	0.60		0.60
	Each	7128		7128
	Pound		109,230	109,230
	Pound	264,350	110,030	374,380
	Each		194	194
	Each		216	216
	Foot		1440	1440
	Foot		1440	1440
	Each		2	2
	Each		26	26
	Each	1		1
	Foot		171	171
	Cu. Yd.		179.5	179.5
	Cu. Yd.		237.6	237.6
	Foot	80		80
III	Each		12	12
	Each		24	24
	Each		36	36
	Sq. Ft.		1143	1143
	Sq. Yd.		161	161
	Each	2		2
	Foot		324	324

ATA	F.A.P. RTE.	SECTION		COUNTY	TOTAL SHEETS	SHEET NO.
055 0046	407	55[3(PV;HB(2-6);B,B-1,B-2)]		MCDONOUGH	874	362
055-0040	SN 055-0046			CONTRACT	NO. 68	B44
3 SHEETS	STA.	583+30.75	ILLINOIS FED. AI	D PROJECT		



ILE



ILLE

& ASSOCIATES LLC

<u>TING ENG</u> 184-001397

TOP OF SLAB ELEVAT STATE OF ILLINOIS LOT TIME = 3:25:26 PM CHECKED - ACB REVISED STRUCTURE NO. 0 LOT SCALE = 30.0000 '/ in. DRAWN - RLK REVISED **DEPARTMENT OF TRANSPORTATION** SHEET NO. 4 OF 5 LOT DATE = 1/15/2015 CHECKED REVISED - JMB

TON LAYOUT	F.A.P. SECTION		COUNTY	TOTAL SHEETS	SHEET NO.	
155_0046	407	55[3(PV;HB(2-6);B,B-1,B-2)]		MCDONOUGH	874	364
JJJ=0010		SN 055-0	046	CONTRACT	NO. 68	B44
53 SHEETS	STA.	583+30.75	ILLINOIS FED. AI	D PROJECT		

<u>GIRDER 7</u>

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
BKSABUT	580+03.80	- 4.33	647.45	647.45
CLBRGS	580+07.30	- 4.33	647.35	647.35
А	580+17.31	- 4.33	647.07	647.09
B	580+27.33	- 4, 33	646.78	646.83
C C	580+37 34	-4 33	646.49	646.57
0	580+47.36	- 4 33	646.20	646.29
E E	580+57 37	- 1 33	645.01	646.01
E	580+67 30	- 1 33	645.62	645.71
́с	580+77.40	- 1 33	645 32	645.71
Ц	590+97 41	4.55	645.03	645.41
	500+07.41	-4.55	645.05	645.10
J	500+97.45	-4.55	044.75	044.70
, A	581+07.44	-4.33	644.45	644.47
L	581+17.46	-4.33	644.13	644.15
M	581+27.47	- 4.33	643.83	643.83
CLPI	581+40.76	- 4.33	643.43	643.43
N	581+50.77	- 4.33	643.13	643.14
P	581+60.79	- 4.33	642.83	642.84
Q	581+70.80	- 4.33	642.53	642.56
R	581+80.82	- 4.33	642.23	642.28
S	581+90.83	- 4.33	641.92	642.00
Т	582+00.85	- 4.33	641.62	641.72
U	582+10.86	- 4.33	641.32	641.43
V	582+20.87	- 4.33	641.02	641.13
W	582+30.89	- 4.33	640.72	640.83
X	582+40.90	- 4.33	640.42	640.53
γ	582+50.92	- 4.33	640.12	640.22
Z	582+60.93	- 4.33	639.82	639.90
AA	582+70.95	- 4.33	639.52	639.58
AB	582+80.96	- 4.33	639.22	639.26
AC	582+90.97	- 4.33	638.92	638.94
AD	583+00.99	- 4.33	638.62	638.63
AE	583+11.00	- 4.33	638.32	638.32
CLP2	583+20.75	- 4.33	638.03	638.03
AF	583+30.76	- 43.3	6.37.7.3	6.37.74
AG	583+40.78	- 4.33	637.43	637.46
AH	583+50.79	- 4.33	637.13	637.19
A./	583+60.81	- 43.3	6.36.8.3	6.36.92
AK	583+70.82	- 4, 33	636.53	636.65
A/	583+80.84	- 4, 33	636.22	636.38
AM	583+90.85	- 4, 33	635.92	636.10
ΔN	584+00.86	-4 33	635.62	635.82
AP	584+10.88	-4 33	635.32	635.52
A0	584+20.89	- 4 33	635.02	635.24
AG	584+30.91	- 4 33	634.72	634.93
44	584+40 92	- 4 33	634 42	634.62
лт лт	584+50 01	-1 33	631 10	634 30
A//	584+60 05	-1 33	633.80	633.00
AU	584+70.06	-1 33	633.60	633.65
AV	581+00.00	- 1 33	633.00	677.70
AW	581+00.00	- 1 33	632.00	632.00
	585+0101	- 1 33	630.60	639.66
	585+11.02	- 4.55	630 30	630 34
AZ	JUJ'11.UZ	- 4.00	002.02	UJ2.J4

GIRDER 7 (Continued)

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
CLP3	585+20.74	- 4.33	632.03	632.03
BA	585+30.75	- 4.33	631.73	631.72
BB	585+40.77	- 4.33	631.43	631.43
BC	585+50,78	- 4.33	631.13	631.13
BD	585+60.80	- 4.33	630.83	630.85
BE	585+70.81	- 4.33	630.53	630.56
BF	585+80.83	- 4.33	630.22	630.27
BG	585+90.84	- 4.33	629.92	629.98
BH	586+00.85	- 4.33	629.62	629.69
BJ	586+10.87	- 4.33	629.32	629.38
ВК	586+20.88	- 4.33	629.02	629.08
BL	586+30.90	- 4.33	628.72	628.77
BM	586+40.91	- 4.33	628.42	628.45
CLBRGN	586+54.20	- 4.33	628.02	628.02
BKNABUT	586+57.70	- 4.33	627.92	627.92

<u>PGL</u>

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
BKSABUT	580+03.80	0.00	647.54	647.54
CLBRGS	580+07.30	0.00	647.44	647.44
А	580+17.32	0.00	647.16	647.18
В	580+27.33	0.00	646.87	646.92
С	580+37.35	0.00	646.58	646.66
D	580+47.37	0.00	646.29	646.38
E	580+57.39	0.00	646.00	646.10
F	580+67.40	0.00	645.71	645.80
G	580+77.42	0.00	645.41	645.50
Н	580+87.44	0.00	645.12	645.19
J	580+97.46	0.00	644.82	644.87
K	581+07.47	0.00	644.52	644.56
L	581+17.49	0.00	644.22	644.24
М	581+27.51	0.00	643.91	643.92
CLP1	581+40.76	0.00	643.52	643.52

FILE NAME = I:\IDOT\5606_ HE

	USER NAME = abenz	DESIGNED - JMB	REVISED -		TOD OF SLAR FLEVATIONS	F.A.P.	SECTION	COUNTY	TOTAL	SHEET
& ASSOCIATES LLC	PLOT TIME = 3:25:27 PM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS DEPARTMENT OF TRANSPORTATION		407	55[3(PV;HB(2-6);B,B-1,B-2)]	MCDONOUGH	874	365
CONSULTING ENGINEERS	PLOT SCALE = 30.0000 '/ in.	DRAWN - RLK	REVISED -		STRUCTURE NU. 000-0046		SN 055-0046	CONTRACT	NO. 68	344
184 - 001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 5 OF 53 SHEETS	STA. 5	583+30.75 ILLINOIS FED. AI	PROJECT		

<u>PGL (Continued)</u>

LOCATION

N Ρ Q R S Τ 11 V W X Y Ζ AA AB AC AD AE CLP2 AF AG АH ΑJ ΑK AL АM AN AP AQ AR AS

АT ΑU AV AW АX ΑY ΑZ CLP3 BA BB BC BD ΒE BF BG BH BJ ВK BL ВM CLBRGN BKNABUT

STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
581+50.78	0.00	643.22	643.23
581+60.79	0.00	642.92	642.94
581+70.81	0.00	642.62	642.65
581+80.83	0.00	642 32	642 37
581+00.85	0.00	642.01	642.00
501, 30.00	0.00	042.01	641.00
502+00.00	0.00	641.71	641.00
582+10.88	0.00	641.41	641.52
582+20,90	0.00	641.11	641.22
582+30.92	0.00	640.81	640.92
582+40,93	0.00	640.51	640.62
582+50.95	0.00	640.21	640.30
582+60.97	0.00	639.91	639.99
582+70.99	0.00	639.61	639.67
582+81.00	0.00	639.31	639.35
582+91.02	0.00	639.01	639.03
583+01.04	0.00	638.71	638.72
583+11.05	0.00	638.41	638.41
583+20.75	0.00	638.12	6 <i>38.12</i>
583+30.77	0.00	637.82	637.83
583+40.78	0.00	637.52	637.55
583+50.80	0.00	637.22	637.28
583+60.82	0.00	636.92	637.01
583+70.84	0.00	636.61	636.73
583+80.85	0.00	636.31	636.46
583+90.87	0.00	636.01	636.19
584+00.89	0.00	6.35.71	6.35.91
584+10.91	0.00	635.41	635.62
584+20.92	0.00	635.11	635.33
584+30.94	0.00	634.81	635.02
584+40.96	0.00	634 51	634.71
584+50.98	0.00	634.21	634 39
584+60.99	0.00	633.91	634.07
584+71.01	0.00	633.61	633.74
504-71.01	0.00	633 31	633.14
584+01.00	0.00	633.01	633.00
585+0106	0.00	632.71	632.75
585+11.00	0.00	632 11	630 13
505 ' 11.00 585±00 74	0.00	630 10	62010
505+20,14	0.00	63100	0J2.12 671.01
585+30.76	0.00	631.82	631.81
585+40.77	0.00	631.52	631.52
585+50,79	0.00	631.22	631.22
585+60.81	0.00	630.92	630.94
585+70.83	0.00	630.62	630.65
585+80.84	0.00	630.31	630.36
585+90.86	0.00	630.01	630.07
586+00.88	0.00	629.71	629.78
586+10,90	0.00	629.41	629.47
586+20.91	0.00	629.11	629.17
586+30.93	0.00	628.81	628.86
586+40.95	0.00	628.51	628.54
586+54.20	0.00	628.11	628.11
586+57.70	0.00	628.01	628.01

<u>GIRDER 8</u>

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
BKSABUT	580+03.80	3.00	647,59	647,59
CLBRGS	580+07.30	3.00	647.49	647.49
А	580+17.32	3.00	647.20	647.23
В	580+27.34	3.00	646.92	646.97
С	580+37.36	3.00	646.63	646,70
D	580+47.38	3.00	646.34	646.43
Ē	580+57.40	3.00	646.05	646.14
F	580+67.42	3.00	645.75	645.85
G	580+77.44	3.00	645.46	645.55
H	580+87.46	3.00	645.16	645.24
	580+97.47	3.00	644.86	644.92
ĸ	581+07 49	3.00	644 56	644.60
1	581+17 51	3.00	644.26	644.28
 M	581+27 53	3.00	643.96	643.97
CI PI	581+40.76	3.00	643.56	643.56
N	581+50.78	3.00	643.26	643.27
P	581+60.80	3.00	642.96	642.98
0	581+70.82	3.00	642.66	642.70
R	581+80.84	3.00	642.00	612.10
S	581+90.86	3.00	642.06	642 14
л Т	582+00.88	3.00	641.76	6/185
	582+10.00	3.00	641.70	641.65
U	502 10.30	3.00	641.40	641.07
V W/	502+20.92	3.00	641.16	641.27
Ŵ	502+30.93	3.00	640.00	640.97
X	502+40.95	3.00	640.36	640.66
7	502+50.97	3.00	640.26	640.33
2	502+60.99	3.00	639.96	640.05
	502 + 71.01	3.00	639.00	639.77
AD	502+01.05	3.00	639.36	639.39
AC	582+91.05	3.00	639.06	639.08
AD A E	565+01.07	3.00	630.75	630.76
AE CL DO	585+11.09	3.00	638.45	638,46
ULPZ	585+20.75	3.00	638.16	638.16
AF	585+30.77	3.00	637.86	637.88
AG	585+40.79	3.00	637.56	637.60
АП	585+50.81	3.00	637.26	637.32
AJ	503+60.03	3.00	636.96	637.05
AA A (505+70.05	3.00	636.66	636.70 CZC E1
AL	505+00.07	3.00	636,36	636.37
AM	565+90.69	3.00	636.06 CZE ZC	636.23
AN	564+00.91	3.00	633.76 CZE 40	635.96
AF	504+10.92	3.00	633.46 CZE 10	633.67 CZE ZZ
AU	584+20.94	3.00	633.16	635.37
	504+30.90	3.00	634.00	634.70
AS	504+40.98	3.00	034.36	634.76
A/	584+51.00	3.00	634.26	634.44
AU	584+61.02	3.00	633.96	634.12
AV	584+71,04	3.00	633.66	633.79
AW	584+81.06	3.00	633.36	633.46
AX	584+91.08	3.00	633.05	633.13
AY . –	585+01.10	3.00	632.75	632.79
AZ	585+11.12	3.00	632.45	632.47

GIRDER 8 (Continued)

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
CLP3	585+20.74	3.00	632.16	632.16
BA	585+30,76	3.00	<i>631.86</i>	631.86
BB	585+40.78	3.00	631.56	6 <i>31</i> .56
BC	585+50.80	3.00	631.26	631.27
BD	585+60.82	3.00	630.96	630.98
BE	585+70.84	3.00	630.66	630.69
BF	585+80.86	3.00	630.36	630.41
BG	585+90.88	3.00	630.06	630.12
BH	586+00.90	3.00	629.76	629.82
BJ	586+10.91	3.00	629.46	629.52
BK	586+20.93	3.00	629 . 16	629.21
BL	586+30.95	3.00	628.86	628.90
BM	586+40.97	3.00	628.56	628.59
CLBRGN	586+54.20	3.00	628.16	628.16
BKNABUT	586+57.70	3.00	628.06	628.06

<u>GIRDER 9</u>

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
BKSABUT	580+03.80	10.33	647.70	647.70
CLBRGS	580+07.30	10.33	647.60	647.60
А	580+17.32	10.33	647.32	647.35
В	580+27.35	10.33	647.03	647.08
С	580+37.37	10.33	646.74	646.82
D	580+47.40	10.33	646.45	646.54
E	580+57.42	10.33	646.16	646.26
F	580+67.45	10.33	645.87	645.96
G	580+77.47	10.33	645.57	645.66
Н	580+87.50	10.33	645.28	645.35
J	580+97.52	10.33	644.98	645.03
K	581+07.55	10.33	644.68	644.72
L	581+17.57	10.33	644.37	644.40
М	581+27.59	10.33	644.07	644.08
CLP1	581+40.76	10.33	643.68	643.68

FILE NAME = I:\IDOT\5606_ HEI_

						-					
	CHASTAIN	USER NAME = abenz	DESIGNED - JMB	REVISED -		TOP OF SLAB FLEVATIONS	F.A.P.	SECTION	COUNTY	SHEETS	SHEET NO.
	& ASSOCIATES LLC	LC PLOT TIME = 3x25x27 PM CHECKED - ACB REVISED - STATE OF ILLINOIS		407	55[3(PV:HB(2-6):B-B-1-B-2)]	MCDONOUGH	874	366			
		PLOT SCALE = 30.0000 '/ in.	DRAWN - RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	SIRUCIURE NU. 055-0046		SN 055-0046	CONTRACT	[NO. 6E	B44
	184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 6 OF 53 SHEETS	STA. 5	583+30.75 ILLINOIS FED. AID	D PROJECT		

BKNABUT

LOCATION

N P Q R S T II

GIRDER 9 (Continued)

	05505T	THEORETICAL	THEORETICAL GRADE ELEVATIONS
STATION	UFFSET	ELEVATION	ADJUSTED FOR DEAD LOAD DEFLECTION
 581+50.78	10.33	643.38	643.39
581+60.81	10.33	643.08	64310
581+70.83	10.33	642.78	642.81
581+80.86	10.33	642.48	642 53
581+00.88	10.33	612.70	642.25
582+00.01	10.33	641.87	6/107
582+10.03	10.33	64157	64168
582+20.06	10.33	641.27	641.38
582+30.98	10.33	640.97	641.08
582+41.01	10.33	640.67	640.77
582+51.03	10.33	640.37	640.46
582+61.05	10.33	640.07	640.15
582+7108	10.33	639.77	639.83
582+81 10	10.33	639.47	639.51
582+9113	10.33	639.17	639.19
583+01 15	10.33	638.87	638.87
583+11.18	10.33	638.57	638.57
583+20.75	10.33	638.28	638.28
583+30.77	10.33	637.98	637.99
583+40.80	10.33	637.68	637.71
583+50.82	10.33	637.38	637.44
583+60.85	10.33	637.08	637.17
583+70.87	10.33	636.78	636.90
583+80.90	103.3	636.47	636.62
583+90.92	10.33	636.17	636.35
584+00.95	10.33	635.87	636.07
584+10.97	10.33	635.57	635.78
584+21.00	10.33	635.27	635.49
584+31.02	10.33	634.97	<i>635.18</i>
584+41.04	10.33	634.67	634.87
584+51.07	10.33	634.37	634.55
584+61.09	10.33	634.07	634.23
584+71.12	10.33	633.77	633.90
584+81.14	10.33	633.47	633.57
584+91.17	10.33	633.17	633,24
585+01.19	10.33	632.87	632.91
585+11 . 22	10.33	632.56	632.59
585+20.74	10.33	632.28	632.28
585+30.76	10.33	<i>631.98</i>	631.98
585+40.79	10.33	631.68	631.68
585+50.81	10.33	631.38	631.38
585+60.84	10.33	631.08	631.10
585+70.86	10.33	630.78	630.81
585+80.89	10.33	630.47	630.52
585+90.91	10.33	630.17	630.23
586+00.94	10.33	629.87	629.94
586+10,96	10.33	629.57	629.63
506+20.99	10.33	629,27	629.33
506+31.01	10.33	628.91	629.02
500+41.US	10.33	020.01	020.1U
586+57 70	10.33	628.17	6020.20
JUD751.10	10.00	020.1/	020.11

<u>GIRDER 10</u>

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
BKSABUT	580+03.80	17.67	647.64	647.64
CLBRGS	580+07.30	17.67	647.54	647.54
А	580+17.33	17.67	647.25	647.28
В	580+27.36	17.67	646.97	647.02
С	580+37.39	17.67	646.68	646.75
D	580+47.42	17.67	646.39	646,48
Е	580+57,45	17.67	646.10	646.19
F	580+67,48	17.67	645.80	645.90
G	580+77.51	17.67	645,51	645.60
Н	580+87,54	17.67	645.21	645.29
J	580+97.57	17.67	644.91	644.97
К	581+07.60	17.67	644.61	644.65
<u>í</u>	581+17.63	17.67	644.31	644.33
 	581+27.66	17.67	644.01	644.02
CI P1	581+40.76	17.67	643.62	643.62
N	581+50,79	17.67	643.32	643.32
P	581+60.82	17.67	643.01	643.03
Q	581+70.85	17.67	642.71	642.75
R	581+80.88	17.67	642.41	642.47
S	581+90,91	17.67	642.11	642.19
Т	582+00.94	17.67	641.81	641.90
U	582+10.97	17.67	641.51	641.61
V	582+21.00	17.67	641.21	641.32
W	582+31.03	17.67	640.91	641.02
Х	582+41.06	17.67	640.61	640.71
Ŷ	582+51.09	17.67	640.31	640.40
Ζ	582+61.12	17.67	640.01	640.08
AA	582 + 71.15	17.67	639.70	639.76
AB	582+81.17	17.67	639.40	639.44
AC	582+91.20	17.67	639.10	639.13
AD	583+01.23	17.67	638.80	638.81
AE	583+11.26	17.67	638.50	638.50
CLP2	583+20.75	17.67	638.22	638.22
AF	583+30.78	17.67	637.92	637.93
AG	583+40.81	17.67	637.61	637.65
AH	583+50.84	17.67	637.31	637.38
AJ	583+60.87	17.67	637.01	637.10
AK	583+70.90	17.67	636.71	636.83
AL	583+80.93	17.67	636,41	636,56
AM	583+90.96	17.67	636.11	636.28
AN	584+00.99	17.67	635.81	636.01
AP	584+11.02	17.67	635.51	635.71
AQ	584+21.05	17.67	635.21	635 . 42
AR	584+31.08	17.67	634.91	635.12
AS	584+41.11	17.67	634.61	634.81
AT	584+51.14	17.67	634.30	634.49
AU	584+61.16	17.67	634.00	634.16
AV	584+71.19	17.67	633.70	633.83
AW	584+81.22	17.67	633.40	633.50
AX	584+91.25	17.67	633.10	633.17
AY	585+01.28	17.67	632.80	632.84
AZ	585+11.31	17.67	632.50	632.52

GIRDER	10	(Continued)

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
CLP3	585+20.74	17.67	632.22	632.22
BA	585+30.77	17.67	631.92	631.91
BB	585+40.80	17.67	631.61	631.61
BC	585+50.83	17.67	631.31	631.32
BD	585+60.86	17.67	631.01	631.03
BE	585+70.89	17.67	630.71	630.75
BF	585+80 . 92	17.67	630.41	630.46
BG	585+90.95	17.67	630.11	630.17
BH	586+00.98	17.67	629.81	629.87
BJ	586+11.01	17.67	629.51	629.57
ВК	586+21.04	17.67	629.21	629.26
BL	586+31.07	17.67	628.91	628.95
BM	586+41.10	17.67	628.61	628.63
CLBRGN	586+54.20	17.67	628.21	628.21
BKNABUT	586+57.70	17.67	628.11	628.11

<u>GIRDER 11</u>

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
BKSABUT	580+03.80	25.00	647.52	647.52
CLBRGS	580+07.30	25.00	647.42	647.42
A	580+17.33	25.00	647.13	647.16
В	580+27.37	25.00	646.85	646.90
С	580+37.40	25.00	646.56	646.63
D	580+47.44	25.00	646.27	646.36
E	580+57.47	25.00	645.98	646.07
F	580+67.51	25.00	645.68	645.78
G	580+77.54	25.00	645.39	645.48
Н	580+87.58	25.00	645.09	645.17
J	580+97.61	25.00	644.79	644.85
K	581+07.65	25.00	644.49	644.53
L	581+17.68	25.00	644.19	644.21
М	581+27.72	25.00	643.89	643.90
CLP1	581+40.76	25.00	643.50	643.50

584+91.25 17.6	67 633.10	633.17	L	581+17.68 25.00	644.19	644.21	BM	586+41.16	25.00	628.48	628.51	
585+01.28 17.6	67 632.80	632.84	M	581+27.72 25.00	643.89	643.90	CLBRGN	586+54.20	25.00	628.09	628.09	
585+11.31 17.6	67 632.50	632.52	CLPI	581+40.76 25.00	643.50	643.50	BKNABUT	586+57.70	25.00	627.99	627.99	
USER NAME = abenz PLOT TIME = 3:25:28 PM PLOT SCALE = 30.0000 ' / in. PLOT DATE = 1/15/2015	DESIGNED - JMB CHECKED - ACB DRAWN - RLK CHECKED - JMB	REVISED-REVISED-REVISED-REVISED-	DEPA	STATE OF ILLINOIS RTMENT OF TRANSPO	S DRTATION		TOP OF SLAB I STRUCTURE NO SHEET NO. 7 O	ELEVATIONS 0. 055-0046 F 53 Sheets		F.A.P. RTE. SECTION 407 555(3(PV;HB(2-6);B) SN 055-0046 STA. 583+30.75	COUNTY B-1,B-2)] MCDONOUGH CONTRACT NOIS FED. AID PROJECT	TOTAL SHEETS SHEET NO. 874 367 NO. 68B44

FILE NAME = INTOTINER

CHASTAIN & ASSOCIATES LLC CONSULTING ENGINEERS 184-001397

GIRDER 11 (Continued)

LOCATION

N Ρ Q R S Τ 11 VW χ Y Ζ AA AB АC AD AE CLP2 AF AG АH ΑJ ΑK AL АM AN AP AQ AR AS

АT ΑU AV AW АX ΑY ΑZ CLP3 BA BB BC BD ΒE BF BG BH BJ ВK BL

STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
581+50.79	25.00	643.20	643.20
581+60.83	25.00	642.89	642.91
581+70,86	25.00	642.59	642.63
581+80.90	25.00	642.29	642.35
581+90.93	25.00	641.99	642.07
582+00.97	25.00	641.69	641.78
582+11.00	25.00	641.39	641.49
582+21.04	25.00	641.09	641.20
582+31 . 07	25.00	640.79	640.90
582+41.11	25.00	640.49	640.59
582+51.14	25.00	640.18	640.28
582+61.18	25.00	639.88	639.96
582+71.21	25.00	639.58	639.64
582+81.25	25.00	639.28	639.32
582+91.28	25.00	638.98	639.00
583+01.32	25.00	638.68	638.69
583+11.35	25.00	638.38	638.38
583+20.75	25.00	638.10	638.10
583+30 . 78	25.00	637.80	637.81
583+40.82	25.00	637.49	637.53
583+50.85	25.00	637.19	637.26
583+60.89	25.00	636.89	636.98
583+70.92	25.00	636.59	636.71
583+80.96	25.00	636.29	636.44
583+90.99	25.00	635.99	<i>636.1</i> 6
584+01.03	25.00	635.69	635.88
584+11.06	25.00	635.39	635.59
584+21.10	25.00	635.09	635.30
584+31.13	25.00	634.79	634.99
584+41.17	25.00	634.48	634.69
584+51.20	25.00	634.18	634,36
584+61.24	25.00	633.88	634.04
584+71.27	25.00	633,58	633.71
584+81.31	25.00	633.28	633,38
584+91.34	25.00	632.98	633.05
585+01 . 38	25.00	632.68	632.72
585+11.41	25.00	632.38	632.40
585+20.74	25.00	632.10	632.10
585+30.77	25.00	631.80	6 <i>31</i> .79
585+40.81	25.00	631.49	631.49
585+50.84	25.00	631.19	631.20
585+60.88	25.00	630.89	630.91
585+70.91	25.00	630.59	630.62
585+80.95	25.00	630.29	630.34
585+90.98	25.00	629.99	630.05
586+01.02	25.00	629.69	629.75
586+11.05	25.00	629.39	629.45
586+21.09	25.00	629.09	629.14
586+31.12	25.00	628.79	628.83
586+41.16	25.00	628.48	628.51
586+54.20	25.00	628.09	628.09
586+57.70	25.00	627.99	627.99

<u>GIRDER 12</u>

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
BKSABUT	580+03.80	32,33	647.37	647.37
CLBRGS	580+07.30	32.33	647.27	647.27
А	580+17.34	32.33	646.98	647.01
B	580+27 38	32 33	646.70	646.75
	500+27,50	30.33	646.10	646.19
C D	500+57.42	32,33	646.41	646.40
D	580+47.46	52.55	646.12	646.21
E	580+57.50	32.33	645.82	645.92
F	580+67.54	32.33	645.53	645.62
G	580+77.58	32.33	645.23	645.32
Н	580+87.62	32.33	644.94	645.01
J	580+97.66	32.33	644.64	644.69
K	581+07.70	32.33	644.34	644.38
L	581+17.74	32.33	644.03	644.06
М	581+27.78	32.33	643.73	643.74
CLP1	581+40.76	32.33	643.34	643.34
N	581+50.80	32.33	643.04	643.05
Р	581+60.84	32.33	642.74	642.76
a	581+70.88	32.33	642.44	642.48
R	581+80.92	32.33	642.14	642.19
S	581+90.96	32.33	641.84	641.91
T	582+0100	32 33	64154	64163
	582+11.04	32 33	641.24	641.34
V	582+21.08	32.33	640.93	641.04
W/	582+31.12	32.33	640.63	640.74
N Y	582+1116	32.33	640.33	640.44
×	582+5120	30.33	640.03	640.12
7	502+51.20	32.33	630.73	630.91
	502+01.24	32.33	639.73	639.01
AA	502+71.20	32.33	639.43	6,39,49
AB	582+81.52	32.33	639.13	639.17
AC	582+91.56	32.33	638.83	638.85
AD	583+01.40	32.33	638.52	638.53
AE	583+11.44	32.33	638.22	638.23
CLP2	583+20.75	32.33	637.94	637.94
AF	583+30.79	32.33	637.64	637.66
AG	583+40.83	32.33	637.34	637.37
AH	583+50.87	32.33	637.04	637.10
AJ	583+60.91	32.33	636.74	636.83
AK	583+70.95	32.33	636.44	636.56
AL	583+80.99	32.33	636.14	636.29
AM	583+91.03	32.33	635.84	636.01
AN	584+01.07	32.33	635.53	635.73
AP	584+11.11	32.33	635.23	635.44
AQ	584+21.15	32.33	634.93	635.15
AR	584+31.19	32.33	634.63	634.84
AS	584+41.23	32.33	634.33	634.53
AT	584+51.27	32.33	634.03	634.21
AU	584+61.31	32.33	633.73	633.89
AV	584+71.35	32.33	633.43	633.56
AW	584+81.39	32.33	633.12	633.23
AX	584+91.43	32.33	632.82	632.89
AY	585+01.47	32.33	632.52	632.56
AZ	585+11.51	32.33	632.22	632.24

GIRDER 12 (Continued)

LOCATION	STATION	OFFSET	THEORETICAL GRADE ELEVATION	THEORETICAL GRADE ELEVATIONS ADJUSTED FOR DEAD LOAD DEFLECTION
CLP3	585+20,74	32.33	631.94	631.94
BA	585+30,78	32.33	631.64	631.64
BB	585+40.82	32.33	631.34	631.34
BC	585+50.86	32.33	631.04	631.05
BD	585+60.90	32.33	630.74	630.76
BE	585+70.94	32.33	630.44	630.47
BF	585+80.98	32.33	630.14	630.18
BG	585+91.02	32.33	629.84	629.89
BH	586+01.06	32.33	629.53	629.60
BJ	586 + 11.10	32.33	629.23	629.29
ВК	586+21.14	32.33	628.93	628.99
BL	586+31.18	32.33	628.63	628.67
BM	586+41.22	32.33	628.33	628.36
CLBRGN	586+54.20	32.33	627.94	627.94
BKNABUT	586+57.70	32.33	627.84	627.84

FILE NAME = |N1DOTY5686. HEL.IL336/CADD.Structurol/East Fork Lomonne River/NORTHBOUND'NB004664eckelidgn

CHASTAIN & ASSOCIATES LLC CONSULTING ENGINEERS	USER NAME = obenz PLOT TIME = 3:25:28 PM PLOT SCALE = 30.0000 '/ in.	DESIGNED - JMB CHECKED - ACB DRAWN - RLK	REVISED - REVISED - REVISED -	STATE OF ILLINOIS DEPARTMENT OF TRANSPORTATION	TOP OF SLAB ELEVATIONS STRUCTURE NO. 055–0046	F.A.P. RTE. SEC 407 55[3(PV;HB(2 SN 055-0	CTION 6);B,B-1,B-2)] M D046 C	COUNTY	TOTAL SHEETS 874 NO. 68	SHEET NO. 368 B44
184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 8 OF 53 SHEETS	STA. 583+30.75	ILLINOIS FED. AID	PROJECT		5

WEST EDGE OF SHOULDER

Location	Station	Offset	Theoretical Grade Elevations
S. End of S. Appr.	579+74.26	-6.00	648.24
А	579+84.27	-6.00	647.96
В	579+94.29	-6.00	647.68
N. End of S. Appr.	580+04.30	-6.00	647.40

PGL/WEST EDGE OF PAVEMENT

Location	Station	Offset	Theoretical Grade Elevations
S. End of S. Appr.	579+74.25	0.00	648.36
А	579+84.26	0.00	648.09
В	579+94.28	0.00	647.81
N. End of S. Appr.	580+04.30	0.00	647.53

Location	Station	Offset	Theoretical Grade Elevations
S. End of S. Appr.	579+74.22	12.00	648.55
A	579+84.25	12.00	648,27
В	579+94.27	12.00	647.99
N. End of S. Appr.	580+04.30	12.00	647.71







FILE NAME = I:\IDOT\5606_

	USER NAME = abenz	DESIGNED - JMB	REVISED -		TOP OF SOUTH APPROACH SLAB FLEVATIONS	F.A.P. SECTION		OTAL SHEET
& ASSOCIATES LLC	PLOT TIME = 3:25:29 PM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS DEPARTMENT OF TRANSPORTATION	STRUCTURE NO. 055-0046	407 55[3(PV:HB(2-6):B.B-1.B-2	MCDONOUGH	874 369
CONSULTING ENGINEERS	PLOT SCALE = 8.0000 ' / in.	DRAWN - RLK	REVISED -			SN 055-0046	CONTRACT N	0. 68B44
184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 9 OF 53 SHEETS	STA. 583+30.75 ILLINOIS FED.	AID PROJECT	

<u>CROWN</u>

EAST EDGE OF PAVEMENT

ocation	Station	Offset	Theoretical Grade Elevations
of S. Appr.	579+74.19	24.00	648.37
A	579+84.23	24.00	648.09
В	579+94.26	24.00	647.81
of S. Appr.	580+04.29	24.00	647.53

EAST EDGE OF SHOULDER

cation	Station	Offset	Theoretical Grade Elevations
of S. Appr.	579+74.17	34.00	648.16
А	579+84.21	34.00	647.88
В	579+94.25	34.00	647.60
of S. Appr.	580+04.29	34.00	647.32

WEST EDGE OF SHOULDER

Location	Station	Offset	Theoretical Grade Elevations
S. End of N. Appr.	586+57.20	-6.00	627.90
А	586+67,21	-6.00	627.60
В	586+77.23	-6.00	627.30
N. End of N. Appr.	586+87.24	-6.00	627.00

PGL/WEST EDGE OF PAVEMENT

Location	Station	Offset	Theoretical Grade Elevations
S. End of N. Appr.	586+57,20	0.00	628.02
А	586+67,22	0.00	627.72
В	586+77.24	0.00	627.42
N. End of N. Appr.	586+87.25	0.00	627.12

Location	Station	Offset	Theoretical Grade Elevations			
S. End of N. Appr.	586+57,20	12.00	628.21			
A	586+67.23	12.00	627.91			
В	586+77.26	12.00	627.61			
N. End of N. Appr.	586+87.28	12.00	627.31			



FILE

CHASTAIN & ASSOCIATES LLC CONSULTING ENGINEERS USER NAME = obenz PLOT TIME = 3:25:30 PM PLOT SCALE = 8.0000 '/ In.	USER NAME = abenz	DESIGNED - JMB	REVISED -		TOP OF NORTH APPROACH SLAB ELEVATIONS		SECTION	COUNTY	TOTAL SHEETS	SHEET NO.
	CHECKED - ACB	REVISED -	STATE OF ILLINOIS DEPARTMENT OF TRANSPORTATION		407	55[3(PV;HB(2-6);B,B-1,B-2)]	MCDONOUGH	874	370	
	DRAWN - RLK	REVISED -		STRUCTURE NU. 000-0040 (ND)		SN 055-0046	CONTRACT	NO. 61	B44	
184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 10 OF 53 SHEETS	STA.	583+30.75 ILLINOIS FED. AI	D PROJECT		

<u>CROWN</u>

EAST EDGE OF PAVEMENT

ocation	Station Offset		Theoretical Grade Elevations
of N. Appr.	586+57.21	24.00	628.02
А	586+67.24	24.00	627.72
В	586+77.27	24.00	627.42
of N. Appr.	586+87.31	24.00	627.12

EAST EDGE OF SHOULDER

cation	Station	Offset	Theoretical Grade Elevations		
of N. Appr.	586+57.21	34.00	627.82		
A	586+67.25	34.00	627.51		
В	586+77.29	34.00	627.21		
of N. Appr.	586+87.33	34.00	626.91		



ILLE



DECK PLAN - SPANS 3 & 4

CHASTAIN & ASSOCIATES LLC	USER NAME = abenz	DESIGNED -	JMB	REVISED -		SUPERSTRUCTURE – SPANS 3 & 4		SECTION	COUNTY	TOTAL SI SHEETS	HEET NO.
	CHECKED - ACB REV	REVISED -	STATE OF ILLINOIS		407	55[3(PV;HB(2-6);B,B-1,B-2)]	MCDONOUGH	874 🤇	372		
CONSULTING ENGINEERS	PLOT SCALE = 1.0000 '/ in.	DRAWN -	RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	5110CTOIL NO. 055-0040	-	SN 055-0046	CONTRAC ⁷	NO. 68B	44
184-001397	PLOT DATE = 1/15/2015	CHECKED -	JMB	REVISED -		SHEET NO. 12 OF 53 SHEETS	STA.	583+30.75 ILLINOIS FED. AI	ID PROJECT		

MIN BAR LAP

(Deck) #5 bar = 3'-3" #6 bar = 3'-10"

Notes: See Sheet 14 of 53 for Section A-A, superstructure details and Bill of Material. Bars indicated thus 20 x 3-#5 etc. indicates 20 lines of bars with 3 lengths per line. See Sheet 13 of 53 for parapet reinforcement. All transverse dimensions are measured radially.


nic -5606. HEI.IL336\CADD_Structural\East Fork Lamoine River\NORTHBOUND\NB0046s

FILE NAME



NAME FILE

DESIGNED - JMB REVISED JSER NAME = abenz CHASTAIN & ASSOCIATES LLC SUPERSTRUCTUR STATE OF ILLINOIS LOT TIME = 3:25:32 PM CHECKED - ACB REVISED STRUCTURE NO. LOT SCALE = 20.0000 '/ in. DRAWN - RLK REVISED **DEPARTMENT OF TRANSPORTATION** TING ENG 184-001397 PLOT DATE = 1/15/2015 SHEET NO. 14 OF CHECKED REVISED - JMB

Length	Shape
42'-6"	
41'-6"	
6'-6"	
1'-6"	
1 0	
321-9"	
31'-8"	
40'-0"	
35'-0"	
30'- 3"	
50 5	
5'-7"	Λ
7'- 8"	<u> </u>
, 0	
16'-1"	
19'- 8"	
17'- 2"	
17'- 5"	
32'-6"	
19'- 8"	
32'-1"	
36'-1"	
30'-1"	
29'-6"	
33'-6"	
55 0	
Pound	233,150
Cu. Yds.	903.3
Sa. Yd	2735
Sa Yd	3420
54. 10.	5120



E DETAILS		A.P. SECTION		COUNTY	TOTAL SHEETS	SHEET NO.	
055–0046	407	7 55[3(PV;HB(2-6);B,B-1,B-2)]			MCDONOUGH	874	374
		SN 055-00	046		CONTRACT	NO. 68	3B44
53 SHEETS	STA.	583+30.75	ILLINOIS	FED. AI	D PROJECT		



AAME ELE.

PLOT DATE = 4/21/2015

CHECKED - JMB

REVISED

SHEET NO. 15 OF 5

See sheet 16 of 53 for Sections C-C & D-D and View E-E. $a_4(E)$ thru $a_7(E)$ bar spacings measured perpendicular

**** Cost included with Concrete Superstructure.





VIEW F-F

Angle Preformed Joint Seal at 45° at curbs when req'd for drainage.

2)						
SLAB DETAILS	F.A.P. RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
055–0046	407	55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	375
		SN 055-0	046	CONTRACT	NO. 68	3B44
3 SHEETS	STA.	583+30.75	ILLINOIS FED. A	D PROJECT		



184-001397

PLOT DATE = 4/21/2015

CHECKED - JMB

REVISED

STRUCTURE NO.

(Sheet 2 of 2)					
GE APPROACH SLAB DETAILS	F.A.P. RTE.	SECTION	COUNTY	TOTAL SHEETS	SHEET NO.
		55[3(PV;HB(2-6);B,B-1,B-2)]	MCDONOUGH	874	376
GE APPROACH SLAB DETAILS STRUCTURE NO. 055–0046		SN 055-0046	CONTRACT	NO. 68	B44
SHEET NO. 16 OF 53 SHEETS	STA.	583+30.75 ILLINOIS FED. AI	D PROJECT		



ILE I



SECTION D-D

NOTES:

Elevations shown in Section B-B are taken at Q bearing at bottom of $1^3{}_8$ " finger R. See Sheet 22 of 53 for top of web elevations. See Sheet 23 of 53 for top flange thickness. Heights of stools for finger P varies.

		-		-	-	-	
NT – SOUTH ABUTMENT		SECTION		COUNTY	TOTAL SHEETS	SHEET NO.	
055-0046	407	7 55[3(PV;HB(2-6);B,B-1,B-2)]			MCDONOUGH	874	377
055–0046		SN 055-0	046		CONTRACT	NO. 68	B44
3 SHEETS	STA.	583+30.75	ILLINOIS F	ED. AIL	D PROJECT		



ILE I

LOT DATE = 1/15/2015

CHECKED

- JMB

REVISED

SHEET NO. 18 OF 5



SECTION D-D

NOTES:

Elevations shown in Section B-B are taken at Q bearing at bottom of $1^3{}_8$ " finger R. See Sheet 22 of 53 for top of web elevations. See Sheet 23 of 53 for top flange thickness. Heights of stools for finger P varies.

IT – NORTH ABUTMENT	F.A.P. RTE.	SECTION		COUNTY	TOTAL SHEETS	SHEET NO.	
055_0046		55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	378	
055–0046		SN 055-0	046	CONTRACT	NO. 68	B44	
3 SHEETS	STA.	583+30.75	ILLINOIS FED. A	ID PROJECT			



CHASTAIN	USER NAME = abenz	DESIGNED - JMB	REVISED -		FINGER PLATE EXPANSION JOINT DETAILS	F.A.P. SE	CTION	COUNTY	TOTAL S	IEET
& ASSOCIATES LLC	PLOT TIME = 3:25:43 PM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS		407 55[3(PV;HB(2-6);B,B-1,B-2)] M	DONOUGH	874	79
CONSULTING ENGINEERS	PLOT SCALE = 1.0000 '/ in.	DRAWN - RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	31100101E NO. 033-0040	SN 055-	0046 C	UNTRACT N	NO. 68P	14
184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 19 OF 53 SHEETS	STA. 583+30.75	ILLINOIS FED. AID P	ROJECT		

FILE

1		
1		
i i		
i		
i —	's" fab	ric
:/	reinfor	ced
7	elastor	neric
	trough	solice
	nougn	opnee

—³8" dia stainless steel bolts with washer and nuts. Provide brass grommet in trough

³8″∮ stainless

-¼"x 2" galvanized ₽

^l₈" fabric reinforced elastomeric trough



STOOLS DETAILS AT FINGER PLATE JOINT



NAME FILE

	USER NAME = abenz	DESIGNED - JMB	REVISED -			F.A.P.	SECTION	COUNTY	TOTAL	SHEET
& ASSOCIATES LLC	PLOT TIME = 8:53:07 AM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS		407	55[3(PV:HB(2-6):B-B-1-B-2)]	MCDONOUGH	874	380
CONSULTING ENGINEERS	PLOT SCALE = 2.6667 '/ in.	DRAWN - RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	STRUCTURE NU. 055-0046		SN 055-0046	CONTRACT	NO. 61	B44
184-001397	PLOT DATE = 1/27/2015	CHECKED - JMB	REVISED -		SHEET NO. 20 OF 53 SHEETS	STA.	583+30.75 ILLINOIS FED. AI	PROJECT		



JOINT OPENING AND GEOMETRY DETAIL

NOTES:

Load carrying components designated "NTR" shall conform to the Impact Testing Requirement, Zone 2. Finger plate expansion joints shall be assembled in their final relative position with the ends in place for shop inspection and acceptance.

Finger plates and sliding plates shall conform to the requirements of AASHTO M270, Grade 50W.

The cost of all materials for finger plates, trough support brackets and elastomeric troughs shall be included in the cost of Finger Plate Expansion Joint, 4".

All steel components of the expansion joint including hardware associated with the trough system and sliding plates shall be galvanized after fabrication according to Section 520.03 of the Standard Specifications.

BILL OF MATERIAL

Item	Unit	Quantity
Finger Plate Expansion Joint, 4"	Foot	80



CHASTAIN	USER NAME = abenz	DESIGNED - JMB	REVISED -		DRAINAGE SCUPPER. DS-11	F.A.P. SE	CTION CO	DUNTY S	OTAL SHEET
& ASSOCIATES LLC	PLOT TIME = 3:25:44 PM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS		407 55[3(PV;HB()	2-6);B,B-1,B-2)] MCD	ONOUGH	874 381
CONSULTING ENGINEERS	PLOT SCALE = 1.0000 '/ in.	DRAWN - RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	3TRUCTURE NU. 035-0040	SN 055-	-0046 CON	NTRACT	10. 68B44
184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 21 OF 53 SHEETS	STA. 583+30.75	ILLINOIS FED. AID PRO	JECT	

POUT

Item	Unit	Quantity
Drainage Scupper, DS-11	Each	2



CURVED GIRDER LAYOUT

						GIR	RDER LA	AYOUT D	IMENSIO	NS									
Cirdor	S Abut	Splice 1	Pier 1	Splice 2	2	Splice	3	Pie	r 2	Splie	ce 4	Splic	e 5	Pie	r 3	Splie	ce 6	N A	\but
Girder	X Y	X Y	Х Ү	X	Y	X	Y	Х	Y	Х	Y	X	Y	X	Y	X	Y	X	Y
7	322'-11 ¹ 2" 24'-3 ³ 8"	228'-5 ⁷ 8" 22'-5 ³ 4"	189′-8′2″ 21′-1	" 148′-11′ ₈ " 2	21'-5'4"	64'-4 ⁵ 8"	20′-9³4″	9′-11 ⁷ 8″	20′-8″	40′-0 ⁵ 8″	20′-8 ⁵ 8″	149′-5′2″	21′-5′4″	189′-8′2″	21'-11"	238′-11 ⁵ 8″	22'-7 ³ 4"	322′-11′2″	24'-3 ³ 8"
8	322'-9 ¹ 2" 31'-7 ³ 8"	228'-4 ³ 8" 29'-9 ³ 4"	189'-7 ³ 8" 29'-1	"" 148′-10′ ₈ " 2	8'-9'4"	64′-4′ ₈ ″	28′-1 ³ 4″	9′-11³4″	28'-0"	40′-0 ³ 8″	28′-0 ⁵ 8″	149′-4 ⁵ 8″	28′-9′ ₄ ″	189′-7 ³ 8″	29'-3"	238′-10′ ₈ ″	29′-11³4″	322′-9 ¹ 2″	31'-7 ³ 8"
9	322'-7'2" 38'-11 ³ 8"	228'-3" 37'-1 ³ 4"	189'-6'4" 36'-1	" 148′-9′ ₄ " 3	36 <i>'-1'</i> 4"	64'-3 ³ 4"	35′-5³4″	9′-11³4″	35′-4″	40'-0 ¹ 8"	35′-4 ⁵ 8″	149′-3 ⁵ 8″	36′-1′4″	189′-6′ <u>4</u> ″	36′-7″	238′-8 ⁵ 8″	37′-3 ³ 4″	322′-7 ¹ 2″	38′-11 ³ 8″
10	322'-5 ¹ 2" 46'-3 ³ 8"	228'-1 ⁵ 8" 44'-5 ³ 4"	189'-5' ₈ " 43'-1	!" 148′-8 ³ 8" 4	3′-5′4″	64′-3 ³ 8″ ·	42′-9³₄″	9′-11 ⁵ 8″	42′-8″	39′-11 ⁷ 8″	42′-8 ⁵ 8″	149′-2³4″	43′-5′ ₄ ″	189′-5′ ₈ ″	43′-11″	238′-7′ ₄ ″	44′-7 ³ 4″	322′-5′ ₂ ″	46′-3 ³ 8″
11	322′-3 ⁵ 8″ 53′-7 ³ 8″	228'-0 ¹ 4" 51'-9 ⁵ 8"	189'-3 ⁷ 8" 51'-3	" 148′-7 ³ 8" 5	0'-9 ¹ 4"	64′-3″	50′-1 ³ 4″	9′-11′2″	50′-0″	39′-11 ⁵ 8″	50′-0 ⁵ 8″	149′-1 ⁷ 8″	50′-9′ <u>4</u> ″	189′-3 ⁷ 8″	51′-3″	238′-5 ³ 4″	51′-11³4″	322′-3 ⁵ 8″	53′-7 ³ 8″
12	322′-1 ⁵ 8″ 60′-11′4″	227'-10 ⁷ 8" 59'-1 ⁵ 8"	189'-2 ³ 4" 58'-1	" 148′-6½" 5	58'-1 ¹ 4"	64'-2 ⁵ 8"	57′-5 ³ 4″	9′-11′2″	57'-4"	39′-11 ³ 8″	57′-4 ⁵ 8″	149'-1"	58′-1′4″	189′-2³4″	58′-7"	238'-4 ¹ 4"	59′-3 ³ 4″	322′-1 ⁵ 8″	60′-11′4″

X dimensions are along local tangent at Sta 583+30.75 Y dimensions are at right angles to the local tangent at Sta 583+30.75





CAMBER DIAGRAM

								T	ABLE OF	CAMBER	DIMENSIO	NS								
Girder	A	В	С	D	E	F	G	Н	J	K	L	М	N	P	Q	R	S	T	U	V
7	23′-7′2″	94′-5 ⁷ 8″	19′-4 ⁵ 8″	38′-9 ³ 8″	20'-4 ³ 4"	40'-9 ¹ 2"	21′-1 ⁵ 8″	84′-6′ ₂ ″	27'-2 ³ 8"	54′-4 ³ 4″	25′-0′4″	50′-0′ ₂ ″	27'-4'4"	109′-4 ⁷ 8″	20'-1'2"	40'-3"	24'-7 ¹ 2"	49′-3′ ₈ ″	21'-0"	84′-0′ ₈ ″
8	23′-7 ³ 8″	94′-5′ ₄ ″	19′-4′ ₂ ″	38′-9′ ₈ ″	20′-4 ⁵ 8″	40'-9' ₄ "	21'-1'2"	84′-6″	27'-2'4"	54′-4 ³ 8″	25'-0"	50′-0′ ₈ ″	27'-4"	109′-4′ ₄ ″	20′-1 ³ 8″	40′-2 ⁷ 8″	24'-7 ¹ 2"	49′-2 ⁷ 8″	20′-11 ⁷ 8″	83′-11′2″
9	23′-7′ ₈ ″	94′-4 ³ 4″	19′-4 ³ 8″	38′-8 ⁷ 8″	20'-4 ¹ 2"	40'-9"	21'-1 ³ 8"	84′-5′2″	27'-2"	54′-4′ ₈ ″	24′-11 ⁷ 8″	49′-11 ⁷ 8″	27'-3 ⁷ 8"	109′-3′ ₂ ″	20'-1'4"	40′-2 ⁵ 8″	24'-7' ₄ "	49'-2' ₂ "	20′-11³4″	83′-11″
10	23'-7"	94′-4′ ₈ ″	19′-4′ ₄ ″	38′-8 ⁵ 8″	20′-4 ³ 8″	40′-8 ³ 4″	21'-1'4"	84′-5″	27'-1 ⁷ 8"	54′-3 ³ 4″	24′-11 ³ 4″	49′-11′ ₂ ″	27'-3 ³ 4"	109′-2 ⁷ 8″	20'-1'8"	40′-2 ³ 8″	24'-7' ₈ "	49'-2'4"	20′-11 ⁵ 8″	83′-10′2″
11	23′-6 ⁷ 8″	94′-3′2″	19′-4′ ₈ ″	38′-8 ³ 8″	20'-4'4"	40'-8'2"	21'-1'8"	84′-4 ¹ 2″	27'-1 ³ 4"	54′-3 ³ 8″	24′-11 ⁵ 8″	49′-11′ ₄ ″	27'-3 ¹ 2"	109′-2′ ₄ ″	20'-1"	40'-2' ₈ "	24'-7"	49′-1 ⁷ 8″	20′-11′2″	83′-10″
12	23'-6 ³ 4"	94′-3″	19′-4″	38′-8′ ₈ ″	20'-4 ¹ 8"	40'-8' ₄ "	21'-1"	84′-3 ⁷ 8″	27'-1 ¹ 2"	54′-3′ ₈ ″	24′-11′2″	49′-11″	27′-3 ³ 8″	109′-1′ ₂ ″	20'-0 ⁷ 8"	40′-1 ⁷ 8″	24′-6 ³ 4″	49′-1 ⁵ 8″	20′-11 ³ 8″	83′-9′ ₂ ″

TOP OF WEB ELEVATIONS

	(For Fabrication Only)						
Location	Girder 7	Girder 8	Girder 9	Girder10	Girder 11	Girder 12	
CL Brg at S. Abut	646.53	646.67	646.79	646.72	646.60	646.45	
CL Splice 1	643.72	643.86	643.97	643.91	643.79	643.64	
CL Brg at Pier 1	642.56	642.70	642.81	642.75	642.63	642.48	
CL Splice 2	641.34	641.48	641.59	641.53	641.41	641.26	
CL Splice 3	638.78	638.92	639.04	638.97	638.85	638.70	
CL Brg at Pier 2	637,12	637.25	637.37	637.31	637.19	637.03	
CL Splice 4	635.73	635.86	635.98	635.91	635.79	635.64	
CL Splice 5	632.38	632.52	632.63	632.57	632.45	632.30	
CL Brg at Pier 3	631.13	631.27	6 <i>31.38</i>	631.32	631.20	631.05	
CL Splice 6	629.59	629.73	629.85	629.78	629.66	629.51	
CL Brg at N. Abut	627.21	627.35	627.46	627.40	627,28	627.13	

CHASTAIN	USER NAME = abenz	DESIGNED - JMB	REVISED -			F.A.P. SECTION	COUNTY TOTAL SHEET
& ASSOCIATES LLC	PLOT TIME = 3:25:46 PM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS		407 55[3(PV;HB(2-6);B,B-1,B-2)]	MCDONOUGH 874 382
CONSULTING ENGINEERS	PLOT SCALE = 30.0027 '/ in.	DRAWN - RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	SIRUCIURE NU. 055-0046	SN 055-0046	CONTRACT NO. 68B44
184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 22 OF 53 SHEETS	STA. 583+30.75 ILLINOIS FED.	AID PROJECT



	h	j	k	1	т	n
	13′-5′ ₄ ″	8′-11′4″	23'-1"	4′-6′ ₄ ″	2′-11 ⁵ 8″	3′-7 ⁷ 8″
I	13′-5′ ₄ ″	8′-11′4″	23'-0 ³ 4"	4′-5 ³ 8″	2'-11'8"	3'-7' ₄ "
I	13′-5′8″	8′-11′ ₈ ″	23′-0 ⁵ 8″	4′-4 ⁵ 8″	2′-10 ⁵ 8″	3′-6³4″
I	13′-5″	8′-11′ ₈ ″	23'-0 ¹ 2"	4'-3 ³ 4"	2′-10′ ₈ ″	3′-6′8″
I	13′-5″	8'-11"	23′-0 ³ 8″	4'-2 ⁷ 8"	2′-9 ⁵ 8″	3′-5′2″
	13′-4 ⁷ 8″	8'-11"	23'-0 ¹ 4"	4'-2 ¹ 8"	2'-9 ¹ 8"	3′-5″

PANS 1 & 2	F.A.P. RTE.	SECT	TION	COUNTY	TOTAL SHEETS	SHEET NO.
055_0046	407	55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	383
00040		SN 055-00	046	CONTRACT	NO. 68	B44
3 SHEETS	STA.	583+30.75	ILLINOIS FED. A	ID PROJECT		



FILE N

Structural steel shall be AASHTO M270 Grade 50W for the girders, cross frames and connection plates and all splice plate material.

All dimensions are measured along the centerline of girder.

Load carrying components designated "NTR" shall conform to the Impact Testing Requirement, Zone 2.

W	X	У	Ζ	aa	ab
22′-1 ⁵ 8″	4′-6′ ₈ ″	17′-7 ³ 8″	4′-5″	4'-2' ₂ "	3′-6′ <u>8</u> ″
22′-1 ³ 8″	4′-6′ ₈ ″	17'-7' ₄ "	4′-4 ³ 8″	4'-2"	3′-5 ³ 8″
22'-1'4"	4′-6′ ₈ ″	17′-7′ <mark>8</mark> ″	4'-3 ³ 4"	4'-1 ¹ 4"	3′-4′2″
22′-1′ ₈ ″	4′-6′ ₈ ″	17'- 7"	4'-3"	4'-0 ³ 4"	3′-3 ⁷ 8″
22'-1"	4'-6"	17'-7"	4′-2 ³ 8″	4′-0′ ₈ ″	3'-3"
22′-0 ⁷ 8″	4'-6"	17′-6 ⁷ 8″	4'-1 ⁷ 8"	3′-11′2″	3'-24"
22′-0 ⁷ 8″	4'-6"	17′-6 ⁷ 8″	4′-1 ⁷ 8″	3′-11′2″	3'-2

PANS 3 & 4		SECT	SECTION			TOTAL SHEETS	SHEET NO.
055_00/6	407	55[3(PV;HB(2-	6);B,B-1	"B-2)]	MCDONOUGH	874	384
055-0040		SN 055-00	046		CONTRACT	NO. 68	3B44
3 SHEETS	STA.	583+30.75	ILL INOIS	FED. AI	D PROJECT		



NAME

E E

<u>*</u> F	ILL	ľ	<u>'s</u>
- 11	N/ -	C:11	D/

Splice No.	Fill Æ's
1	5 ₈ "
2	5 ₈ "
3	1'8 "
4	3 ₄ "
5	5 ₈ "
6	1"

TAILS	F.A.P. RTE.	F.A.P. SECTION		COUNTY	TOTAL SHEETS	SHEET NO.
055_0046		55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	385
055-0046		SN 055-0	046	CONTRACT	NO. 68	B44
53 SHEETS	STA.	583+30.75	ILLINOIS FED. AI	D PROJECT		

	II	ITERIOR GIR	DER MOMENT	TABLE (SI	V 055-0046	5) I I		
		0.4 Sp. 1	Pier 1	0.5 Sp. 2	Pier 2	0.5 Sp. 3	Pier 3	0.6 Sp. 4
Is	(in ⁴)	63967	100485	63967	128987	84572	121790	63967
Ic(n)	(in ⁴)	130950	-	130950	-	159002	-	130950
Ic(3n)	(in ⁴)	97687	-	97687	-	120418	-	97687
Ic(cr)	(in ⁴)	-	112808	-	141736	-	133700	-
Ss	(in ³)	1734.5	2679.6	1734.5	3394.4	2270.4	3215.2	1734.5
Sc(n)	(in ³)	2255.4	-	2255.4	-	2803.3	-	2255.4
Sc(3n)	(in ³)	2054.0	-	2054.0	-	2581.9	-	2054.0
Sc(cr)	(in ³)	-	2801.2	-	3510.0	-	3332.4	-
DC1	(k/′)	1.06	1.16	1.06	1.22	1.11	1.21	1.06
Мдсі	('k)	1170	2751	1090	4025	1871	3532	901
DC2	(k/')	0.15	0.15	0.15	0.15	0.15	0.15	0.15
MDC2	('k)	169	376	156	522	252	467	133
DW	(k/′)	0.33	0.33	0.33	0.33	0.33	0.33	0.33
Mow	('k)	375	836	346	1161	561	1038	295
MŁ + IM	('k)	2077	2598	2125	3087	2420	2873	2066
Mu (Strength I)	('k)	5871	9709	5795	12828	7730	11584	5351
Øf Mn	('k)	11548	-	11595	-	14341	-	11700
fs DC1	(ksi)	8.1	12.3	7.5	14.2	9.9	13.2	6.2
fs DC2	(ksi)	1.0	1.6	0.9	1.8	1.2	1.7	0.8
fs DW	(ksi)	2.2	3.6	2.0	4.0	2.6	3.7	1.7
fs (4+IM)	(ksi)	11.1	11.1	11.3	10.6	10.4	10.3	11.0
fs (Service II)	(ksi)	25.6	32.0	25.2	33.7	27.1	32.1	23.0
0.95RhFyf	(ksi)	47.5	47.5	47.5	47.5	47.5	47.5	47.5
f _s (Total)(Strength I)	(ksi)	-	42.3	-	44.4	-	42.3	-
$\phi_f F_n$	(ksi)	-	50.0	-	50.0	-	50.0	-
Vf	(k)	21.7	31.4	23.4	33.0	22.6	34.9	21.8

		Is,
	I _c (n)	, s
Ic(3n),	Sc
Icl	cr),	Sci
		N. N

INTERIOR GIRDER REACTION TABLE HL93 Loading											
S. Abut. Pier 1 Pier 2 Pier 3 N. Abut.											
RDCI	(k)	51.1	187.4	229.9	215.8	46.0					
R _{DC2}	(k)	7.2	25.5	29.5	28.2	6.5					
Row	(k)	15.9	56.6	65.6	62.6	14.4					
R4 + IM	(k)	98.0	203.6	216.0	211.0	97.6					
R Total	(k)	172.2	473.1	541.0	517.6	164.5					

DESIGNED - JMB REVISED JSER NAME = abenz **CHASTAIN** INTERIOR GIRDER MO STATE OF ILLINOIS LOT TIME = 3:25:49 PM CHECKED - ACB REVISED & ASSOCIATES LLC STRUCTURE NO. LOT SCALE = 1.0000 '/ in. ORAWN - RLK REVISED **DEPARTMENT OF TRANSPORTATION** <u>.TING ENG</u> 184-001397 PLOT DATE = 1/15/2015 CHECKED - JMB SHEET NO. 26 OF REVISED

- $S_s:$ Non-composite moment of inertia and section modulus of the steel section used for computing f_s (Total-Strength I, and Service II) due to non-composite dead loads (in.⁴ and in.³).
- $S_c(n)$: Composite moment of inertia and section modulus of the steel and deck based upon the modular ratio, "n", used for computing fs(Total-Strength I, and Service II) in uncracked sections due to short-term composite live loads (in.⁴ and in.³).
- c(3n): Composite moment of inertia and section modulus of the steel and deck based upon 3 times the modular ratio, "3n", used for computing f_s (Total-Strength I, and Service II) in uncracked sections, due to long-term composite (superimposed) dead loads (in.4 and in.3).
- (cr): Composite moment of inertia and section modulus of the steel and longitudinal deck reinforcement, used for computing fs (Total-Strength I and Service II) in cracked sections, due to both short-term composite live loads and long-term composite (superimposed) dead loads (in.4 and in.3).
- DC1: Un-factored non-composite dead load (kips/ft.).
- M_{DC1}: Un-factored moment due to non-composite dead load (kip-ft.). DC2: Un-factored long-term composite (superimposed excluding future
- wearing surface) dead load (kips/ft.). M_{DC2}: Un-factored moment due to long-term composite (superimposed excluding future wearing surface) dead load (kip-ft.).
- DW: Un-factored long-term composite (superimposed future wearing surface only) dead load (kips/ft.).
- M_{DW}: Un-factored moment due to long-term composite (superimposed future wearing surface only) dead load (kip-ft.).
- M4 + IM: Un-factored live load moment plus dynamic load allowance (impact) (kip-ft.),
- Mu (Strength I): Factored design moment (kip-ft.). 1.25 (MDC1 + MDC2) + 1.5 MDW + 1.75 M4 + IM
 - $\phi_f M_n$: Compact composite positive moment capacity computed according to Article 6.10.7.1 or non-slender negative moment capacity according to Article A6.1.1 or A6.1.2 (kip-ft).
 - fs DC1: Un-factored stress at edge of flange for controlling steel flange due to vertical non-composite dead loads as calculated below (ksi). MDC1 / Snc
 - fs DC2: Un-factored stress at edge of flange for controlling steel flange due to vertical composite dead loads as calculated below (ksi).
 - M_{DC2} / $S_c(3n)$ or M_{DC2} / $S_c(cr)$ as applicable. fs DW: Un-factored stress at edge of flange for controlling steel flange due to vertical composite future wearing surface loads as calculated below (ksi).
 - M_{DW} / $S_c(3n)$ or M_{DW} / $S_c(cr)$ as applicable. fs (4+IM): Un-factored stress at edge of flange for controlling steel flange due to vertical composite live load plus impact loads as calculated below (ksi).
- $M \not _{+ IM} / S_c(n)$ or $M \not _{+ IM} / S$ (cr) as applicable. fs (Service II): Sum of stresses as computed below (ksi).
 - fsDC1 + fsDC2 + fsDW + 1.3 fs(4 + IM)
 - 0.95RhFyf: Composite stress capacity for Service II loading according to Article 6.10.4.2 (ksi).
- fs (Total)(Strength I): Sum of stresses as computed below on non-compact section (ksi).
 - 1.25 (f_{SDC1} + f_{SDC2}) + 1.5 f_{SDW} + 1.75 f_{S}(4 + IM)
 - $\phi_f F_n$: Non-Compact composite positive or negative stress capacity for Strength I loading according to Article 6.10.7 or 6.10.8 (ksi). Vf: Maximum factored shear range in span computed according
 - to Article 6.10.10.

Note:

My and Ry include the effects of centrifugal force and superelevation.

MENT TABLES		SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
055–0046	407	55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	386
		SN 055-0	046	CONTRACT	NO. 68	B44
3 SHEETS	STA.	583+30.75	ILLINOIS FED. AI	D PROJECT		



DEPARTMENT OF TRANSPORTATION

& ASSOCIATES LLC

184-001397

LOT SCALE = 40.0000 '/ in.

PLOT DATE = 1/27/2015

DRAWN

CHECKED - JMB

RLK

REVISED

REVISED

STRUCTURE NO. SHEET NO. 27 OF

Ш

Item	Unit	Total
Elastomeric Bearing Assembly Type III	Each	12
Anchor Bolts, 34"	Each	24
Anchor Bolts, 1 ¹ 2"	Each	36

TAILS	F.A.P. RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
055–0046	407	55[3(PV:HB(2-	6);B.B-1.B-2)]	MCDONOUGH	874	387
	SN 055-0046			CONTRACT	NO. 68	3B44
53 SHEETS	STA.	583+30.75	ILLINOIS FED. AI	D PROJECT		



184-001397

PLOT DATE = 4/21/2015

CHECKED

- JMB

REVISED

DEPARTMENT OF TRANSPORTATION

SHEET NO. 28 OF 53 SHEETS STA. 583+30.75 ILLINOIS FED. AID PROJECT

SN 055-0046

CONTRACT NO. 68B44



NAME ELE.

	A	BUTI	MENT_	
	BILL	OF N	ATERI	<u>AL</u>
Bar	No.	Size	Length	Shape
h(E)	5	#6	39′-8″	
hi(E)	14	#5	39′-8″	
h2(E)	36	#5	7'-9"	
h3(E)	30	#4	17'-2"	
h4(E)	22	#4	17'-2"	
n(E)	30	#6	15'-2"	
nı(E)	12	#6	7'-7"	
p(E)	14	#7	42'-10"	
p1(E)	4	#7	7'-0"	
p2(E)	12	#7	17'-2"	
s(E)	46	#5	18′-1″	
s1(E)	38	#4	9′-5″	
s2(E)	8	#5	7'-3"	
u(E)	8	#6	13'-0"	
v(E)	41	#5	3′-9″	
v1(E)	41	#4	2'-10"	
v2(E)	41	#5	9'-0"	
v3(E)	41	#5	7′-9″	
V4(E)	36	#6	9′-9″	
v5(E)	6	#6	10'-5"	
v6(E)	30	#6	10'-0"	/
Structi	ure Exco	ivation	Cu. Yd.	86
Concre	te Struc	tures	Cu. Yd.	75.6
Reinfo	rcement	Bars,	Pound	7640
Ероху	Coated		1 ound	7040
Furnis	hing Ste	el	Foot	864
Piles I	HP12x53		1 001	004
Driving	Piles		Foot	864
Test F Steel F	Pile HP12x53		Each	1
Concre	te Enca	sement	Cu. Yd.	4.6
Concre	te Seale	r	Sq. Ft.	575
Rar Si	olicers		Each	41

Pile Shoes

 Ouantity of concrete in end post included with

 Concrete Superstructure on sheet 16 of 53.

 I.F. = Inside Face
 O.F. = Outside Face

Each 13

TMENT	F.A.P. RTE.	SECT	TION	COUNTY	TOTAL SHEETS	SHEET NO.
055 0046		55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	389
. 055–0046		SN 055-00	NO. 68	B44		
3 SHEETS	STA.	583+30.75	ILLINOIS FED. AI	D PROJECT		



ILE



STA. 583+30.75 ILLINOIS FED. AID PROJECT



NAME

	A	BUT	MENT .	
	BILL	OF N	IATERI	AL
Bar	No.	Size	Length	Shape
h(E)	5	#6	39′-8″	
h1(E)	14	#5	39'-8"	
h2(E)	36	#5	7′-9″	
h3(E)	30	#4	17'-2"	
h4(E)	22	#4	17'-2"	
n(E)	30	#6	15'-2"	
nı(E)	12	#6	7′-7″	
-				
р(Е)	14	#7	42'-10"	
p1(E)	4	#7	7'-0"	
p2(E)	12	#7	17'-2"	
s(E)	46	#5	18'-1"	Г 1
s1(E)	38	#4	9′-5″	
s2(E)	8	#5	7'-3"	
u(E)	8	#6	13'-0"	
v(E)	41	#5	3′-9"	
v1(E)	41	#4	2′-10″	
v2(E)	41	#5	9′-0″	
v3(E)	41	#5	7′-9"	
v7(E)	36	#6	9′-3″	
v8(E)	6	#6	9′-3″	
v9(E)	30	#6	9′-5″	\sim
Structu	ure Exco	ivation	Cu. Yd.	86
Concre	te Struc	tures	Cu. Yd.	74.0
Reinfo	rcement	Bars,	Pound	7570
Ероху	Coated		1 ound	1510
Furnis Piles H	hing Ste HP12x53	el	Foot	576
Driving	Piles		Foot	576
Test F Steel H	rile HP12x53		Each	1
Concre	te Enca	sement	Cu. Yd.	4.6
Concre	te Seale	r	Sq. Ft.	568
Bar St	olicers		Each	41
Pile St	noes		Each	13

 Ouantity of concrete in end post included with

 Concrete Superstructure on sheet 16 of 53.

 I.F. = Inside Face
 O.F. = Outside Face

						-
MENT	F.A.P. RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
055 0046		55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	391
055-0046		SN 055-0	CONTRACT	NO. 68	B44	
3 SHEETS	STA.	583+30.75	ILLINOIS FED. AI	D PROJECT		



ILLE

	RTÉ.	SECT	FION	COUNTY	SHEETS	NO.
055-0046	407	55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	392
055-0040		SN 055-00	046	CONTRACT	NO. 68	3B44
53 SHEETS	STA.	583+30.75	ILLINOIS FED. A	ID PROJECT		





Π



NAME ILE

REVISED

SHEET NO. 35 OF 5



Welded wire fabric 6 x 6-W4.0 x W4.0 weighing 58#/100 sq. ft. Bend as required to fit into wall.

4- pile

Note: Forms for encasement may be omitted when soil conditions permit.

<u>SECTION A-A</u>

PILE ENCASEMENT





Designation	F	F _t	F _w	W	W _t	Ww
HP 14x117	12′2″	1''	⁷ 8′′	7 ³ 4''	5 ₈ ''	2″
x102	12′2′′	7 ₈ ''	3 ₄ ''	7 ³ 4″	5 ₈ ''	2''
x89	12′2′′	3 ₄ ''	"16 ''	7 ³ 4''	5 ₈ ''	2''
x73	12′2′′	5 ₈ ''	⁹ 16 ′′	7 ³ 4″	5 ₈ ''	2''
HP 12x84	10''	⁷ 8′′	"16 ''	6′2″	5 ₈ ''	2''
x74	10''	⁷ 8''	"16 ''	6′2″	5 ₈ ''	2''
x63	10''	5 ₈ ''	2''	6′2″	2''	3 ₈ ''
x53	10''	5 ₈ ''	2''	6′2″	2''	3 ₈ ''
HP 10x57	8''	3 ₄ ′ ′	9 ₁₆ ′′	54″	12''	3 ₈ ''
x42	8′′	5 ₈ ''	⁹ 16 ′′	54″	12''	3 ₈ ''
HP 8x36	7''	5 ₈ ′′	7 ₁₆	4'4''	2''	3 ₈ ''

TAILS	F.A.P. RTE.	SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
055_0046	407	55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	395
055-0040		SN 055-0	046	CONTRACT	NO. 68	3B44
53 SHEETS	STA.	583+30.75	ILLINOIS FED. A	D PROJECT		



STANDARD BAR SPLICER ASSEMBLY

		Minim	num Lap Len	gths		
Bar size to be spliced	Table 1	Table 2	Table 3	Table 4	Table 5	Table 6
3, 4	1'-5''	1'-11''	2'-1''	2'-4''	2'-7''	2'-11''
5	1'-9''	2'-5''	2'-7''	2'-11''	3'-3''	3'-8''
6	2'-1''	2'-11''	3′-1′′	3′-6″	3′-10′′	4'-5''
7	2'-9''	3′-10′′	4'-2''	4'-8''	5'-2''	5′-10′′
8	3′-8′′	5′-1′′	5′-5″	6'-2''	6′-9′′	7'-8''
9	4'-7''	6′-5″	6′-10′′	7'-9''	8'-7''	9'-8''

Table 1: Black bar, 0.8 Class C

Table 2:Black bar, Top bar lap, 0.8 Class CTable 3:Epoxy bar, 0.8 Class C

 Table 4:
 Epoxy bar, Top bar lap, 0.8 Class C

Table 5: Epoxy bar, Class C

Table 6: Epoxy bar, Top bar top, Class C

Threaded splicer bar length = min. lap length + $1_{2}^{\prime\prime}$ + thread length

* Epoxy not required on Bar Splicer Assembly components used in conjunction with black bars.

Location	Bar	No. assemblies	Table for minimum
Ebeanon	size	required	lap length
Pier 2 web wall	#5	64	4
Pier 3 web wall	#5	48	4



INSTALLATION AND SETTING METHODS

"A" : Set bar splicer assembly by means of a template bolt. "B" : Set bar splicer assembly by nailing to wood forms or cementing to steel forms.

(E) : Indicates epoxy coating.



BSD-1

8-31-12

CHASTAIN	USER NAME = abenz	DESIGNED -	- JMB	REVISED -		BAR SPLICER ASSEMBLY AND MECHANICAL SPLICER DETAILS	F.A.P. RTE.	SECTION	COUNTY	TOTAL	SHEET NO.
& ASSOCIATES LLC	PLOT TIME = 3:25:56 PM	CHECKED -	- ACB	REVISED -	STATE OF ILLINOIS		407 5	55[3(PV;HB(2-6);B,B-1,B-2)]	MCDONOUGH	1 874	396
CONSULTING ENGINEERS	PLOT SCALE = 1.0000 ' / in.	DRAWN -	RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	31N0C10NL NO. 033-0040	_	SN 055-0046	CONTRACT	T NO. 68	B44
184-001397	PLOT DATE = 1/15/2015	CHECKED -	- JMB	REVISED -		SHEET NO. 36 OF 53 SHEETS	STA. 5	83+30.75 ILLINOIS FED. AI	D PROJECT		



STANDARD MECHANICAL SPLICER

Location	Bar size	No. assemblies required
Pier 1	#14/#11	72
Pier 2	#14/#11	72
Pier 3	#14/#11	72

<u>NOTES</u>

Splicer bars shall be deformed with threaded ends and have a minimum 60 ksi yield strength.

All reinforcement shall be lapped and tied to the splicer bars. Bar splicer assemblies shall be epoxy coated according to the requirements for reinforcement bars. See Section 508 of the Standard Specifications. See approved list of bar splicer assemblies and mechanical splicers for alternatives.



PLOT SCALE = 2.0000 '/ in.

PLOT DATE = 1/22/2015

<u>.TING ENG</u> 184-001397

DRAWN

CHECKED - JMB

- RLK

REVISED

REVISED







GFRP REBAR STIFFENING DETAIL (Place as shown in parapet section

at each parapet joint location.)

STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION

CONCRETE PARAPET SLIP STRUCTURE NO SHEET NO. 36a OF 53

GENERAL NOTES

All dimensions shall remain the same as shown on superstructure details, except dimensions A and B which are to be revised as shown to provide additional clearance. Additional concrete needed to revise dimension A and B = 0.0165 cu. yds./ft. for 34" parapet or = 0.0223 cu, yds./ft. for 42" parapet. Place aluminum sheet in curb portion at and near piers. Full thickness saw cut at all joint locations in lieu of cork joint filler.

Steel superstructure shown. Other superstructure types similar.



#3 (E) BAR



ALTERNATE BAR d(E) (For 34" parapet when conduit is present)



ALTERNATE BAR d(E) (For 42" parapet when conduit is present)

						-
FORMING OPTION	F.A.P. RTE.	SECT	TION	COUNTY	TOTAL SHEETS	SHEET NO.
055_00/6	407	55[3(PV;HB(2-	6);B.B-1.B-2)]	MCDONOUGH	874	396A
033-0040		SN 055-00	046	CONTRACT	NO. 68	B44
3 SHEETS	STA.	583+30.75	ILLINOIS FED. AI	D PROJECT		



Illinois Dep of Transpor	artme	nt 1		sc	DIL BORING LOO	G	Page	9 <u>1</u>	of <u>1</u>	(Te
Division of Highways SCI Engineering, Inc.			IL	. 336 N	lacomb Bypass - East Fork LaMoine		Date	11	3/10	C
ROUTE FAP 407	DESCR	IPTIO	N		River Bridge (Chalmers Twp)	LOG	GED BY	<u>SCI</u>	(BCR)	ROUTE
SECTION55-3 COUNTYMcDonough DR				Propo Latitu C	sed S Abut - S Bound; NE 1/4, SEC. de , Longitude ME 750 w/HSA HAMMER	4, TWP. 5	N, RNG	6. 3W, 4	1 th PM,	SECTIO
STRUCT. NO. 055-0046 & Station 583+84.75	DEP	B L O	U C S	M O I	Surface Water Elev Stream Bed Elev	ft E	B L O	U C S	M O	STRUC Station
BORING NO. B-111 X Station 581+00 Offset 50.0 ft LT Cround Surface Flow 581.1	— H — H	W S	Qu (tsf)	S T	Groundwater Elev.: First Encounter 572.1 Upon Completion	_ ft ⊻	- W I S	Qu (tef)	S T	BORING Station Offset Group
SILTY LOAM: Brown A-4 SAND: Brown A-3 SILTY LOAM: Brown and gray			((3))	15	Recovery - 23/24 inches	_ π (() (/0)		(76)	TOPSO Brown C
SANDY LOAM: Brown, trace		-		9	Recovery - 2/24 inches	_	_			
	576.1 -5			12	Booward 21/24 inches	_	25			Brown S
(14), LL-38, PL-20, PI-18	575.1	-		35	Recovery - 21/24 Inches					Brown
SANDT LOAM: Brown A-4 (0)	574.0	-		22	Recovery - 22/24 inches	_	_			Gray SA
SANDY LOAM: Brown A-2-4 (0)	<u>572.1</u> ▼			15	Recovery - 24/24 inches	_				
SAND: Brown A-3 (0)	<u>571.1</u> -10			23		_	30			Gray Gl
				14 14	Recovery - 24/24 inches	_	_			Gray SA
SAND: Brown A-1-b (0) Auger Refusal at 12.7 ft. Boring terminated at 12.7 ft	568.4 -	-		11	Recovery - 6/24 inches	_				
g termineted of their fir	-15					-	35			Dark gra Black C Light bro
	-	-				_				Gray SH Light br
	_	-				_				Auger re Boring t
							_			hours

NAME FILE

CHASTAIN	USER NAME = abenz	DESIGNED - JMB	REVISED -		SOIL BORING LOGS	F.A.P. SECTION	COUNTY	r TOTAI SHEET	TS NO.
& ASSOCIATES LLC	PLOT TIME = 3:25:57 PM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS	STRUCTURE NO DEE DOAG	407 55[3(PV;HB(2-6);B,B-1,	3-2)] MCDONOU	GH 874	4 397
CONSULTING ENGINEERS	PLOT SCALE = 0.0833 '/ in.	DRAWN - RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	31NUCTURE NU. 000-0040	SN 055-0046	CONTRA	CT NO.	68B44
184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 37 OF 53 SHEETS	STA. 583+30.75 ILLINOIS	ED. AID PROJECT		

ision of Highw Engineering,	ays Inc.						Date 9/29/05
FAP 407	7	DES	CR	PTION	IL	336 N	Macomb Bypass - East Fork LaMoine River Bridge (Chalmers Twp) LOGGED BY SCI (BCR)
5	5-3		_ L	OCAT	ION _	Prop.	South Pier, NE 1/4, SEC. 4, TWP. 5 N, RNG. 3 W, 4 th PM, de. 40° 27' 6.812786'' N Longitude, 90° 44' 22.640686'' W
Donough	DRIL	LING	ME	THOD		CI	ME 850 w/HSA HAMMER TYPE Automatic
055-00 055-0 583+8	046 & 0047 34.75	-	D E P	B L O	U C S	M 0 I 6	Surface Water Elev ft Stream Bed Elev ft
583+ 25.0 f	12 -16 t LT		H	S	Qu	T	Groundwater Elev.: First Encounter565.0 ft Upon Completion ft
Elev	^{572.0}	ft 571.9	(π)	(/6*)	(tst)	(%)	After <u>24</u> Hrs. <u>565.8</u> ft ⊻
			-	2 3	1.3 P	22	
		-		2			
3	5 5	67.7 67.3	-5	2 3 3	0.5 B	22	
M, A-6	5	6 <u>66.5</u>	0				
AM, A-2	5	65.5	¥	2 3 3			
				0			
-1 w/sand	5	62 <u>.5</u>	-10	2 2 19			
M, A-2	5	6 <u>1.5</u> . -	-				
		-	-	3 5 4			
<u></u>	5	58.5	_	22		14	
EROUS	SHALE 5	<u>58.0</u> 57.5 -	-15	29 40	4.5 P	8	
EY SHAI	5 5 _E5	<u>56.5</u> 56.0 55.7	-	50/2.5			
6.3 ft at 16.3	ft.	-	_	50/0.5		10	
at 8.0 ft. a	after 24	-	-				
		-					

The Unconfined Compressive Strength (UCS) Failure Mode is indicated by (B-Bulge, S-Shear, P-Penetrometer) AASHTO Classifications are based on visual classifications unless otherwise noted BBS, form 137 (Rev. 8-99)

	of Trans	of Highways ineering, Inc.	n	SC		G LOG	Page <u>1</u> of _
ROUTE FAP 40	7 (IL 336)	DESCRIPT	IL	. 336 M F	lacomb Bypass - East F River Bridge (Chalmers	ork LaMoine Twp) L(Date <u>11/02/10</u>
SECTION	55-3	LOC	ATION _	Propos	ed S Pier - S Bound; N	E 1/4, SEC. 4, TWP	5N, RNG. 3W, 4 th PM
COUNTYMcDon	ough DRI	LLING METH	DD	CN	IE 750 w/HSA	HAMMER TYPE	Automatic
STRUCT. NO Station5 BORING NO Station	55-0046 & 055-0047 583+84.75 B-112 X 583+25	- E I - P C - T V	3 U - C 0 S V 6 Qu	M O I S T	Surface Water Elev Stream Bed Elev Groundwater Elev.: First Encounter	ft ft	
Offset	25.0 ft LT		(tsf)	(%)	Upon Completion	ft	
Auger refusal at 20 fe	et.	-20					

of Transportation ROCK COR Division of Highways SCIE Engineerings. Inc. ROUTE FAP 407 (IL 336) DESCRIPTION IL 336 Macomb Bypass - East River Bridge (Chalmer	Fork La	O G Moine	; u	Pa Da DGGED E	ge <u>1</u> te <u>11/</u> 3Y <u>SCI</u>	of <u>1</u> /02/10 (BCR)	Illinois Depart Otransportat Division of Highways Sol Englished ROUTE FAP 407		IL N	SC 336 M	DIL BORING LOG	Pa Da DGGED
ECTION55-3 LOCATION Proposed S Pier - S Bound;	NE 1/4,	SEC.	1, TWP	5N, RN	G. 3W, 4	4 th PM	SECTION 55-3	LOCA	TION _	Prop. N	North Pier, NE 1/4, SEC. 4, TWP. 5 N, RNG.	3 W, 4
OUNTY McDonough CORING METHOD Rotary, surface set diamond bit		_ R	R	CORE	S T	M	COUNTY McDonough DRILLIN	G METHOD		CN	ME 850 w/HSA HAMMER TYPE	+ 23.708 A
OS5-0046 & Vev Conv dol Station CORING BARREL TYPE & SIZE Nev Conv dol bit bit bit Station ORING NO. B-112 X Core Diameter 1.9 in Top of Rock Elev. 563+25.0 ft.LT ft Begin Core Elev. 557.9 ft	D (E (P F T E H (ft) (#	C C C C C C C C C C C C C C C C C C C	Q D	T I M E	R E N G T H (tsf)	I S T U R E (%)	055-0046 & STRUCT. NO. 055-0047 Station 583+84.75 BORING NO. B-113 Station 585+61 Offset 50.0 ft LT. Ground Surface Elev. 584-56	D B E L P O T W H S (ft) (/6")	U C S Qu (tsf)	M O I S T (%)	Surface Water Elev. ft Stream Bed Elev. ft Groundwater Elev.: ft First Encounter 576.5 ft ¥ Upon Completion 582.5 ft ¥ After 48 Hrs. 583.5 ft ¥	
ANDY SHALE: Brown	-	1 87	37				TOPSOIL - 3 inches	3.				
eomechanics Classification of Rock Mass Rating (GC RMR)=48, Fair Rock LAYEY SHALE: Gray and dark gray, with rock fragments acomes dark gray					15.0	5	DOWN OLL IT CEAT LOAW, AND		1.1 B	26		
		2 93	18				579.1	2 2	0.2	15		
C RMR=51, Fair Rock							Brown SAND, A-3	-5 4 				
					4.0	10.4	Grav SILTY LOAM, A-4	ē				
ILTSTONE: Greenish gray 548.2		3 10	0 39					3 3 -10 5	0.1 B	21		
					425.0	3.6	Gray GRAVEL, A-1	2. —				
C RMR=62, Good Rock								5 12 17				
MESTONE: Gray	_						Dark gray SHALE w/silt and lignite	15				
oring terminated at 34.7 ft. 543.2	<u>35</u>	_	+			-		-15 40		14		
	_							19 40 44		10		
	-							15		6		

CHASTAIN & ASSOCIATES LLC CONSULTING ENGINEERS	USER NAME = abenz	DESIGNED - JMB	REVISED -		SOIL BORING LOGS	F.A.P. SECTION	COUNTY	TOTAL SHEETS	SHEET NO.
	PLOT TIME = 3:26:30 PM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS	STRUCTURE NO 055-0046	407 55[3(PV;HB(2-6);B,B-1,B	-2)] MCDONOUGH	874	398
	PLOT SCALE = 0.0833 '/ in.	DRAWN - RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	STILCTOIL NO. 033-0040	SN 055-0046	CONTRAC	T NO. 68	344
184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 38 OF 53 SHEETS	STA. 583+30.75 ILLINOIS FE	D. AID PROJECT		

Division of High	msportatio	n		30		GLUG	Date9/4/0
ROUTE FAP 315 (II	_ 336) DESC	RIPTION	IL	. 336 M IL	Aacomb Bypass (Northv 336 over E. Fork LaMo	vest Corridor) - ne River	LCGGED BY JAR-IE
COUNTYMcDonoug	DRILLING M	LOCAT	TON _	NE 1/4 Latitu	4, SEC. 4, TWP. 5N, RN ide , Longitude HSA	G. 3W, 4 th PM, HAMMER TYPE	I
STRUCT. NO. 055-00 Station	66(prop)	BL	U C	M	Surface Water Elev. Stream Bed Elev.	ft	
BORING NO. B-113X (N Station 585 Offset 38.0	Pier, SBL's) T +57 H	O W S	S Qu	I S T	Groundwater Elev.: First Encounter Upon Completion	ft ft	
Ground Surface Elev.	584.50 ft (ft FOR) (/6")	(tsf)	(%)	After Hrs.	ft	
SOILS 0-19.5'							
		1					
		5					
	-].					
	-						
			÷				
	-10						
			8				
	16						
	-						
Borehole continued with roo	565.00 -20						

	DOT								5
Illinois Department		20			Page _	2_ of	2		
		56			Date	9/4/07			ROUTE
ROUTEFAP 315 (IL 336) DESCRIPTION IL 336 Macomb Bypass	(Northwest Corri LaMoine River	idor) -	L	OGGE	DBY J	AR- IDO	DT		SECTIO
SECTION 55-3 LOCATION NE 1/4, SEC. 4, TWP. 1/4, SEC. 4, TWP.	5N, RNG. 3W, 4	th PM,							COUNT
COUNTY McDonough CORING METHOD Dual Barrel			R	R	CORE	S T	M		STRUC
STRUCT. NO055-0066(prop) CORING BARREL TYPE & SIZE1	WD4 D	c	C O	à	T	R E	I S		Statio
Core Diameter 2.1 In BORING NO. B-113X (N Pier, SBL's) Top of Rock Elev. 565:00 ft Station 565:57 Begin Core Elev. 565:00 ft Offset 38.0 ft Lt 568:50 ft	E P T H (ft	0 R E t) (#)	V E R Y (%)	D (%)	M E (min/ft)	N G T H (tsf)	T U R E (%)		BORING Station Offset Groun
Dk. Gray Sandy SHALE Geomechanics Classification of Rock Mass Rating (GC RMR)=18. Poor Rock	565.00 -20 564.20	0 1	90	18					Gray SI
Lt. Gray w/ Dk. Gray seams Sandy SHALE GC RMR=18, Poor Rock									Gray Cl
Lt. Gray to Gray Sandy SHALE GC RMR=36, Poor Rock	562.20					101.7			
Dk. Gray & Lt. Gray Sandy SHALE w/sdstone seams GC RMR=18, Poor Rock	561.10					101.7	4		
Lt. Gray SANDSTONE GC RMR=18, Poor Rock	560.00 -25	5 2	90	18					
Grn-Gray SHALE/SHALEY CLAY w/ limest/sdstone frags GC RMR=18, Poor Rock	558.70								Brown
									Brown
		1				10 -		~	
	555.00					18.0 7.8	9		Brown
Grn-Gray SHALEY CLAY/SHALE (soft) GC RMR=28, Poor Rock	-30	3	100	52					
						3.8	11		
						63.2	9		
						7.5 14.8	8		Gray SA
	550.00					5.0	9		
and of Boring	-35	5							
									Gray SA
									Gray Sli
	_								cine light
									Boring t

FILE

	USER NAME = abenz	DESIGNED - JMB	REVISED -		SOIL BOBING
& ASSOCIATES LLC	PLOT TIME = 3:27:03 PM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS	
CONSULTING ENGINEERS	PLOT SCALE = 0.0833 '/ in.	DRAWN - RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	STRUCTURE NU.
184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 39 OF 53

J of Iranspo	ortati	on			50	JIL BURING LUG
SCI Engineering, Inc.	DE	000	DTIC	. 11	. 336 M	Aacomb Bypass - East Fork LaMoine
FAF 40/	DE:	SCRI	PHON			Kiver Bridge (Unalmers Twp) LOGGED BY SCI (TC
N 55-3		_ L	OCA1	ION _	Prop.	North Abutment, NE 1/4, SEC. 4, TWP. 5 N, RNG. 3 W, 4 th PM,
Y McDonough D	RILLING	MET	гнор		C	ME 850 w/HSA HAMMER TYPE Automatic
055-0046 &		D	в	U	м	
n 583+84.75		Ē	ĩ	c	0	Surrace Water Elev ft
		P	0	S	1	K
G NOB-114		1.1	W		S	Groundwater Elev.:
n 587+20		-	3	Qu	1	First Encounter 577.9 ft V
d Surface Elev. 590.9	ft	(ft)	(/6")	(tsf)	(%)	After 48 Hre 594.0 $ft \nabla$
IL - 6 inches	N	. /				
LTY CLAY, A-6	<u>990.4</u>	-				
	500.0		3			
AY. A-7	589.2	_	6	2.3	24	
		1	10	в		
	,	_				
		+	2			
			3	1.5	0.4	
		-5	5	в	24	
		~	5			
		-				
	584.4		3			
CLAY LOAM, A-6			4	1.4	16	
	583.5		6	В		
JANU, M-J						
	582.2	+	1			
SANDY LOAM, A-2			1			
		-10	1			
		1.0				
			1			
			1			
		_	2			
	577.9					
NND, A-3		+	5			
			G			
		-15	19			
			15			
ND A-1 w/gravel	<u>575.2</u>	-				
, n-i wydvei			7			
	573.9		4			
TSTONE w/sandstone			13			
te seams						
		+				
		_	26		12	
			00/05			

Inconfined Compressive Strength (UCS) Failure Mode is indicated by (B-Bulge, S-Shear, P-Penetrometar) ITO Classifications are based on visual classifications unless otherwise noted BBS, form 137 (Rev. 8-99)

G LOGS		SECT	TION	COUNTY	TOTAL SHEETS	SHEET NO.
0 055-0046	407	55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	399
0.055-0040		SN 055-00	046	CONTRACT	NO. 68	B44
53 SHEETS	STA.	583+30.75	ILLINOIS FED. AI	D PROJECT		

Illinois Depar of Transporta	tme	nt		SC	DIL BORING LOG
ROUTE FAP 407 I	DESCR	IPTION	۱L ۱	336 1	Macomb Bypass - East Fork LaMoine River Bridge (Chalmers Twp) LOGGED BY SCI (E
SECTION 55-3 COUNTY McDonough DRILLI	ING ME	LOCAT	10N _	Prop. Latitu C	South Abutment, NE 1/4, SEC. 4, TWP. 5 N, RNG. 3 W, 4 th PM ide 40° 27' 4.886954" N, Longitude 90' 44' 21.242912" W ME 850 w/HSA HAMMER TYPE Automatic
055-0046 & Station 055-0047 Station 583+84.75 BORING NO. B-115 Station 581+00 Offset 30.0 ft RT	D E P T H	B L O W S	U C S Qu	M O I S T	Surface Water Elev. ft Stream Bed Elev. ft Groundwater Elev.: ft First Encounter <u>572.8</u> ft ¥ Upon Completion <u>575.3</u> ft ¥
Ground Surface Elev. 580.3 TOPSOIL - 2 inches 580 Brown CLAY, A-7 575 Dark brown SILTY CLAY, A-6 575	ft (ft)	(/6")	(tsf)	(%)	After <u>24</u> Hrs. <u>575.8</u> ft <u>₹</u>
Brown CLAY LOAM, A-6	<u></u>	2 3	0.5 P	17	
Brown and gray CLAY, A-7	7 <u>.3</u>				
	<u>₹</u> <u>₹</u> -5	0 0 0	0.4 B	27	
		0 1 1	0.5 B	31	
		0 1 2	0.6 B	29	
	9.6. —				
Brown and gray SANDY LOAM, A-2 w/gravel	_	7 8 10		16	
	<u>8.9</u>				
Auger refusal at 14 ft. 566 Auger refusal at 14 ft. 566	-15	50/1.5' 50/3.5' 50/0.5'			
**Hole collapsed at 8.0 ft. after 24 hours	_				
	_				

of Transpo	rtatio	n		SC	DIL BORING LOG	
Division of Highways SCI Engineering, Inc. ROUTE FAP 407	DESC	RIPTIO	IL N	. 336 N	Aacomb Bypass - East Fork LaMoine River Bridge (Chalmers Twp) LOGGED BY SCI (BCR)	
SECTION 55-3		LOCA		Prop.	South Abutment, NE 1/4, SEC. 4, TWP. 5N, RNG. 3 W, 4 th PM,	
COUNTY McDonough DF	RILLING N	IETHOD		C	ME 850 w/HSA HAMMER TYPE Automatic	
055-0046 & 055-0047 Station 683+84.75 BORING NO. B-115 ST Station 581+00 Offset 30.0 ft RT		B L O W S	U C S Qu	M O I S T	Surface Water Elev ft Stream Bed Elev ft Groundwater Elev.: First Encounter ft Upon Completion ft	
Ground Surface Elev. 580.3	ft (1	ť) (/6")	(tsf)	(%)	After Hrs ft	
	_	_				
	_					
	577.3	_		30		
Gray SILTY CLAY LOAM, A-6						
	575.3	-5				
Gray CLAY, A-7		-	0.3	29		
	573 3		UU			
Gray SILTY CLAY, A-6		-	0.5	27		
			UU			
Boring terminated at 9.0 ft.	571.3					
		0				
	_					
	_	-				
	_					
	_	-				
		5				
	_					
		-				
		7				
	_					

The Unconfined Compressive Strength (UCS) Failure Mode is indicated by (B-Bulge, S-Shear, P-Penetrometer) AASHTO Classifications are based on visual classifications unless otherwise noted BBS, form 137 (Rev. 8-99)

R

CHASTAIN & ASSOCIATES LLC CONSULTING ENGINEERS	USER NAME = abenz	DESIGNED - JMB	REVISED -		SOIL BORING		
	PLOT TIME = 3:27:36 PM	CHECKED - ACB	REVISED -	STATE OF ILLINOIS			
	CONSULTING ENGINEERS	PLOT SCALE = 0.0833 '/ in.	DRAWN - RLK	REVISED -	DEPARTMENT OF TRANSPORTATION	SIRUCIURE N	
	184-001397	PLOT DATE = 1/15/2015	CHECKED - JMB	REVISED -		SHEET NO. 40 OF 53	

(Illinois Depa of Transport	rtme ation	nt		sc	DIL BORING LOO	3	Page	1	of <u>1</u>
Division of Highways SCI Engineering, Inc.				000.			Date	11/	/3/10
ROUTE FAP 407	DESCR	IPTION	N	. 336 1	River Bridge (Chalmers Twp)	LOGG	ED BY	SCI	(BCR)
SECTION 55-3	1	OCAT		Propo Latitu	sed S Abut - N Bound; NE 1/4, SEC.	4, TWP. 5N	, RNG	. 3W, 4	4 th PM ,
COUNTY McDonough DRIL	LING ME	THOD		С	ME 750 w/HSA HAMMER T	YPE	Auto	omatic	
STRUCT. NO. 055-0047 Station 583+84.75 BORING NO. B-115 X Station 581+00	D E P T	B L O W S	U C S Qu	M O I S T	Surface Water Elev Stream Bed Elev Groundwater Elev.: First Encounter 573.4	ft D ft P T ft♥ H	B L O W S	U C S Qu	M O I S T
Offset 50.0 ft RT Ground Surface Elev. 581.9	ft (ft)	(/6")	(tsf)	(%)	Upon Completion After Hrs.	ft ft (ft)	(/6")	(tsf)	(%)
FILL: Brown, silty clay loam A-6 5 FILL: Grayish brown, silty loam A-7-6 (19), LL-48 PL-25 PL-23	<u>1.4</u>				Recovery - 18/24 inches				
Becomes brown and gray with for the second s	79.7 79.5 :			22	Recovery - 23/24 inches	_			
SILTY LOAM: Brown A-6 (8), LL-35, PL-21, PI-14 FILL: Brown and gray, sandy loam A-6 (3).	-5			19	110000019 - 20124 III01165	-25			
LL-30, PL-17, PI-13 LL-28, PL-14, PI-14 SILTY CLAY LOAM: Brown and 5 STOY A C (23)	75.9 75.6			24	Recovery - 14/24 inches	_			
SAND: Brown, fine to medium, trace fine gravel (A-3)				15 29	Recovery - 22/24 inches	_			
LOAM: Brown and gray, trace cobble A-6 (3), LL-30, PL-18, PI-12 A-6 (6), LL-35, PL-17, PI-18 Becomes gravish brown and	₹		0.1 B		pushed in disturbed materials to collect sample. Rimac test result shown in Qu (tsf).				
brown SILTY CLAY LOAM: Gray (A-6, 9), LL-33, PL-19, PI-14 SILTY LOAM: Gray A-4 (2),5	<u>70.6</u>			35 24	Recovery - 23/24 inches	_			
LL-25, PL-19, PI-6 CLAY: Gravish brown A-7 SAND: Brown A-2-4 (0)	<u>69.4</u>			32 27	Recovery - 17/17 inches				
Auger Refusal at 13.3 ft.	-15					-35			
	_								
	_					_			
	-20					-40			

The Unconfined Compressive Strength (UCS) Failure Mode is indicated by (B-Bulge, S-Shear, P-Penetrometer) AASHTO Classifications are based on visual classifications unless otherwise noted BBS, form 137 (Rev. 8-99)

			-	-		
G LOGS		SEC	TION	COUNTY	TOTAL SHEETS	SHEET NO.
0 055-0046	407	55[3(PV;HB(2-	6);B,B-1,B-2)]	MCDONOUGH	874	400
0:055-0040		SN 055-0	046	CONTRACT	NO. 68	B44
53 SHEETS	STA.	583+30.75	ILLINOIS FED. A	D PROJECT		